TNPSC @gepei 1V
Geography

Time: 2 Hrs Marks: 100

Instructions

1. Immediately after the commencement of the examination, you should check that this test
booklet does not have any unprinted or torn or missing pages or items, etc. If so, get it
replaced by a complete test booklet.

2. Do not write anything else on the test booklet.

3. This Test Booklet contains 100 items questions. Each item is printed in English. Each item
comprises four responses (answers). You will select the response which you want to mark on
the Answer Sheet. In case you feel there is more than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

4. You have to mark all your responses ONLY on the separate. Answer Sheet provided. See
directions in the Answer Sheet.

5. All items carry equal marks.

6. ATTEND ALL THE QUESTIONS



1. Which of the following latitudes is southernmost latitude of Tamil Nadu?

(A) 60 45> S (B) 804’ N
(C)804°S (D) 60 45’ N

(E) Answer not known

9ereupid oL FGrevssaied e1g SLOLHBM 1961 Q5@ 9L #Grens?
(A)6045 S (B)804’ N
(C)804°S (D) 6045’ N

(E) uSa QsAwaladana

2. The difference between the longitudes of Greenwich and Indian standard meridian is

3.

(A) 68° 7’ (B) 97° 25

(C) 82° 30 (D) 23°30°

(E) Answer not known

& feralder $is%Cramasens@Ld @BG W Blenew et Gloflg weysELd 2 erer Goupiim®
(A) 68° 7’ (B) 97°25°

(C) 82°30° (D) 23° 30°

(E) uBad QsAwaiaama

Through which of the following states of India, Tropic of cancer passes through?
1. Gujarat

2. Rajasthan

3. Madhya Pradesh

(A) 1and 2 only (B)1,2,and 3

(C) 2 only (D) 3 only

(E) Answer not known

@B wreler 19eraumd 61Bs wrHlwsSer anfuns, L gmls o Gaasr Qe Dna) ?
1. s

2. JreseivS e

3. wsHuw 1978ssLd

(A)land 2 @b B)1,2,3

(C) 2 @b (D) 3 wi @b

(E) ua Gsfwaledena



4.

5.

6.

Ten degree channel separates

(A) Cannanore and Amindivi islands of Lakshadweep
(B) Andaman and Nicobar islands

(C) Kachchh and Kathiawar peninsula

(D) Sri Lanka and India

(E) Answer not known

L5l 195 Caested LVNFEE DG

(A) o ss8alar sewstesiantd LopmiLd 2yLblesTiy ol Saysar
(B) wyBs e BaGsrung Sajser

(C) 8¢ wppib sgQweuri SusHLILD

(D) @riens wmid @EBun

(E) u®a Qsfwaledamev

Which of the following is/are correct?

1. Kerala coast is called as Konkan coast.

2. Palk Strait connects Palk bay and Gulf of Mannar.

(A) Lonly (B) 2 only

(C) both 1 and 2 (D) neither 1 nor 2

(E) Answer not known

LaraupeuaTaIbBled 615 Fwimeal #iflwimeng)?

1. Gager s1_pser QETEISET S1_DFT 61D e LpESLILIB DS

2. LnE QFEH LM NAGL TeoaILLD LOGTETTT QIeHOTE LMoL @)eeTsF D).
(A) 1 @ (B) 2 o @b

(C) 1 wpmh 2 @uesw®Lb (D) 1 syedevg 2 @evenev
(E) u@ed Qsiwaledamew

Consider the following and which is/are correct?

1. Jog falls is located in Sharavati River.

2. Nagarjuna sagar dam is located in Godavari River.

(A) Lonly (B) 2 only

(C) both 1 and 2 (D) neither 1 nor 2

(E) Answer not known



HeraaisTaipens s;EHe CFTest(®), 618 FAwTeTs?

1. Gegrg Biafipd® opgrenD opHled 960 LoES TS

2. pranjsgrar 155 yement GHnsmalf) QPPeD 2e0LoESIGTATS.

(A) 1 @G (B) 2 @b

(C) 1 wpmib 2 (D) 1 syedavg 2 @eama
(E) uBa QsAwaleema

7. Arrange the following from North to South.

8.

1. Javadi Hills

2. Nallamala Hills

3. Nilgris

A)1,2,3 B)2,1,3
©) 23,1 (D)3,2,1

(E) Answer not known
LesTeumeuaToupedn Ul &H 60 (BBES ClSDEHTS @(LpBISE LDSE@LD.
1. wraug wemevsaer

2. BOLDEHG LDEHGVHGT

3. Ev @
(A 1,23 (B)2, 1,3
()2 3,1 (D) 3,2, 1

(E) u®a Qsfualaemev

Which one of the following states of India has border with Nepal?

(A) West Bengal (B) Maghalaya

(C) Himachal Pradesh (D) Assam

(E) Answer not known

@B wreler 19eaumd wrhovmsele o5 GBLTMTES L 6T sTadamawewid )& TewT(R orans)?
(A) GupG aumismard (B) wsreowr

(C) @uonssev 9rGssLd (D) <y&mb

(E) u®a Qsfwaledamev



9. Consider the following and which is/are correct?

1. Bangladesh has the longest land border with India than any other countries.

2. India-Pakistan border is called as Mac Mohan Line.

3. India has common border with Thailand.

(A) 1only
(C) 2 only
(E) Answer not known

(B) 2 and 3 only
(D) 1and 2 only

o meiaTaipans $HeSH@® CFTest(h), 618 FHuimeTg)?

1. umseaGsay wPp prGS®er L @QBFwre I s BewiL Blov 6TeDencven s

0% e (H) TGN

2. @QBRwr-urHevgrer ciebenew GLogd GLoTS6T 606V 616N e pdsLILIBHHDS).

3. @BHWT FTLIVTHSIL 6T C)LINGIUTET TS ()& T6uT(HGTTS).

(A) 1w @uw
(C) 2 wL @b
(E) u®a Qsfualaeamev

10. Which of the following is/are correct pair?

River -
1. Palar -
2. Cavery -
3. Godavari -
(A) 1 only
(C)1and 2 only
(E) Answer not known

Origin

Andhra Pradesh
Karnataka
Madhya Pradesh

YareumeusstaupPled 618 Ffluimer Geomg?

35 -
1. unevng -
2. saailf) -
3. Gsrsmeuf -
(A) 1w @G
(C) 1 wopmiid 2 wor” Bd
(E) uBa QsHwaledama

GasmompLd
2 BB L 7G5 FLD
SHABTL_&HT

wEPw Ll 19gGsFLd

(B) 2 wpmid 3 oL ®1b
(D) 1 wpmith 2 " @b

(B) 2 only
(D) 2 and 3 only

(B) 2 @b
(D) 2 wpmiid 3 " @b



11. Which of the following is/are tributaries of Cauvery River?
1. Amaravati

2. Pamba River

3. Noyyal
(A) 1only (B) 1 and 3 only
(©)1,2,and 3 (D) 3 only

(E) Answer not known

GLpssenTL_auppled 615 Hraflf] o4 16T GiewewT B%)%6iT?

1. oywrmeud

2. L 58

3. Opmuiwed

(A) 1w @b (B) 1 wmmiis 3 i (b
(C) 1, 2 wsmiis 3 (D) 3 By

(E) u®a Qsfuaiaenev

12. Which of the following pair/s is/are correct?

Tributary - River
1. Indravati - Godavari
2. Yamuna - Brahmaputra
3. Chambal - Indus
(A) 1and 3 only (B) 2 and 3 only
(C) Lonly (D)1,2,and 3

(E) Answer not known

asreumd Ceomg safled 618 Filwimergy)?

SIe»ewT BF) - 2b0)
1. @Qr@rmaug - Csngmau
2. wpast - gibio @
3. FbLIe) - DB
(A) 1 wopmid 3 L @b (B) 2 wpmith 3 i @b
(C) 1 i @b (D) 1, 2 wpmib 3

(E) u®a Qsfuwalaenev



13. Which one of the following region receives rainfall through south west monsoon?
(A) Coromandel coast (B) West of Aaravalli
(C) konkan coast (D) Jammu and Kashmir

(E) Answer not known
OsarCP@GL LBUSSTOD epevld eaTeu@pLd LGHFeled 6IpsL LGS LoeopenwL

QumISDE?
(A) Gamgwest_a sL_pEenT (B) @preucdads @ Goms
(C) Qarmiser sL_pseo (D) so1bp opmith sraiuLsi

(E) uged Qsfwaledenev

14. The local wind ‘L0o0’ blows in the region
(A) Gujarat (B) Jammu and Kashmir
(C) West Bengal (D) North Indian plain
(E) Answer not known
@LivePuie) 2 diran sTHY ‘1 WFEBDS)
(A) B8 (B) 1btp Lopmud smeipiby
(C) Guop aumimmans (D) e @BBu s15Gauaf
(E) u§a QsAwaladame

15. Which one among the following regions receive scanty rain fall?
(A) Central peninsular India. (B) Uttar Pradesh
(C) North-Eastern states (D) Circars Coast
(E) Answer not known
Bpssam LuGSsfad aps LGS LsSGmDES e ClLuiuLb?
(A) wgSw SuspL @BHum (B) 2857111975510
(C) au_Pups @ wrevmiser (D) sismiad e

(E) u®a Qsfwalaenev

16. Which one among the following regions in Tamil Nadu receives largest amount of

rainfall?
(A) Chennai (B) Vellore
(C) Tuticorin (D) Coimbatore

(E) Answer not known



SLAPBIL 1960 LIeTeu@BLd LGB salled 61bsLl LGS U6 2H% weorp CLTPNEDS?
(A) Qsarewer (B) Gougyri

(C) grsa1551. (D) Gamuibygsni

(E) uge Qsfualedensy

17. Which one of the following Rivers in Tamil Nadu is longest?

18.

(A) Thamirabarani (B) Palar
(C) Vaigai (D) Kaveri
(E) Answer not known

SIOHBIL 1960 o airen esraimLd BHHeNed 618 0% Beriomeng?
(A) smdgLigest (B) umevmg
(C) wasans (D) s7Gaus
(E) u®a> QsAwaledama

Which one of the following is called as wave less coast?

(A) Rameswaram Coast (B) Chennai Coast

(C) Malabar Coast (D) Konkan Coast

(E) Answer not known

LAGir6u (5 e @TOUDPIED 6181 D G®DBS SL DS TN H®PSSLILBHSDSI?
(A) gr@uabeugid &L_HEeT (B) Qearenar s1L_paeor

(C) weuni sL_pseor (D) Qanmiser sL_pser

(E) uged Qsfweedenev

19. Which one of the following waterfalls is located in the river ‘Chittar’?

(A) Athirappalli (B) Hogenakkal

(C) Kutralam (D) Monkey falls

(E) Answer not known

HaruwpLd a1 prafipds) ' PS50 Hppled e iopsieTers?

(A) @ oiierad (B) 9Gsanssa

(C) eppravLd (D) grmi@ allwp&ns
(E) u®a Qsfwaledamev



20. Which one of the following types of irrigation has largest net sown area under cultivation

in Tamil Nadu?

(A) Well (B) Tank

(C) Canal (D) Drip irrigation

(E) Answer not known

Heteumd unsestEISaied 1% SOPBTL G0 HHs BT QllewslilLl LTLILITE IS

Qe ararg)?
(A) Blenry (B) @sm iy
(C) sravaumui (D) Q&n" @ Bg umsesLd

(E) u®a Qsfualaenev

21. Arrange the following in North to South Direction.

22.

1. Kalvarayan malai

2. Aanaimalai

3. Kambam valley

4. Agasthiyamalai

A)1,23,4 B)1,24,3
©)21,3,4 (D)2,3,1,4
(E) Answer not known

e Gaaapmp aIL&E ps® 05p& Hasuile aflasiuG$5e)Lb.
1. seugmuiesT 1oepev

2. YO GTLDGH GV

3. BLDLILD LIGTOTS S5

4. ysev@Huinenev

(A)1,2,3,4 (B)1,2,4,3
©)21,3,4 (D)2,3,1,4
(E) u®a Qsfwaledamev

How many numbers of municipalities are found in Tamil Nadu?
(A) 528 (B) 124
(C) 12524 (D) 385

(E) Answer not known



23.

24,

SO BIL 196D GTSFaT BHITL DS 6T o 6irare?

(A) 528 (B) 124
(C) 12524 (D) 385
(E) uBed QsAwaledena

Consider the following map and match the places with numbers

Wm0 s

o |

- ‘9
A. Palk Bay
B. Gulf of Mannar
C. Palk Strait
(A) 1- B, 2-A, 3-C (B)1-A, 2-B,3-C
©)1-C,2-A,3-B (D) 1-B, 2-C, 3- A

(E) Answer not known

LeTeupLd eueHILIL SeWBS HBSHe0 0% Test(h) Q)L 1% T 6168575 @ L6 O)LIT(HSSH e LD
A. umevg Gui

B. LOGSTGTTT 6D Q@ LT

c. LUTeO& QT b

(A) 1- B, 2-A, 3-C (B)1-A /2-B,3-C
(©)1-C,2-A,3-B (D) 1-B, 2-C, 3- A

(E) uged Qsfweledenev

Which of the following type of forests has more geographical area in India?
(A) Evergreen (B) Deciduous
(C) Tropical thorn (D) Mountain forests

(E) Answer not known
Hereumd  e1ps  auend  srhser  @QpHuradled HFs yalullwed uUgLiLeTedeISs

Q& ressT (D aTaTEsT?
(A) e10ui®) Fosr (B) @eeoysd
(C) QauLiest_cv wpor (D) wevevs sr@®ser

(E) u®a Qsfualaenev

10



25. Lion-tailed macaque is endemic to the region.

1. Kerala

2. Andhra Pradesh

3. Tamil Nadu

(A) 1only (B)2and 3
(C)land2 (D)1and 3

(E) Answer not known
FrIBUTD L0&5HTH Q) LiILIGH e o HGLo 2 aTarg).
1. Gsgern

2. 9@l L9GsaL)

3. sLOLHBIG
(A) 1w @uw (B) 2 wopmid 3
(©) 1 wpmis 2 (D) 1 wopmid 3

(E) u®a Qsfuaiaenev

26. Which one among the following soil groups is largest in Tamil Nadu?
(A) Red and Yellow soil (B) Black soil
(C) Lateritic soil (D) Saline soil
(E) Answer not known
19GTQUFLD LoGSHT GUpSHMNGD 6151 SLOPBIL 1960 HBHLOTS o 6iTenas)?
(A) PauLiLy wpmith Lo@haFer Loes (B) s@LiLy e
(C) Gavi" Mg 1oews (D) o_Li1y et
(E) u®a Qsfwaledamev

27. Eastern Tamil Nadu has the forest type
(A) Littoral and swampy (B) Thorn forest
(C) Deciduous (D) Semi Ever green
(E) Answer not known
BpE& SOIHETH $10) s ClsTa g
(A) sL6b oppiLd e81LIL| Hlovid (B) wpair s
(C) @mweoou By (D) wrens entiGuingins Lidans
(E) u®a Qsfwaledamev

11



28. Which one of the following state has highest ground water potential?
(A) Rajasthan (B) Madhya Pradesh
(C) Andhra Pradesh (D) Uttar Pradesh
(E) Answer not known
eauLh wrgevmseied e1bs Wil D% Bewssiy B Gnar Qs renrL_g)?
(A) gregevsesr (B) wg9uw 195C8s51H
(C) 58011 1978z a1 (D) 288011 199Bs51H
(E) u§a GsAwalaeme

29. Which of the following is/are correct?
1. Venus rotates in anti-clockwise direction.
2. All the planets except Venus rotate in clockwise direction.
(A) 1only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
LeireumpaseTaipsled o8 FflwretglFfwres?
1. afarad 10 519510 HevFuded FLpDR D).
2. afewad sall7 Syewasg) Canersepid 19517 HenFuled ipedF) e 6.
(A) 1w @uw (B) 2 o1 ®d
(©) 1 wpmib 2 (D) @uassrpid 1 oyadevg 2 @adevev
(E) u®a Qsfwaledamaev

30. First theory about the structure of the Earth was given by
(A) Isaac newton (B) W.M.Davis
(C) Albert Einstein (D) Auguste Comte
(E) Answer not known
LOudesr yewinLin) LB wwsed GaEr Ln® epmsliuC L g
(A) @25 By 1 e (B) L_t9airyy, 6115 Gr_aflad
(C) e’ eairavie e (D) ysavGL smbGL

(E) uga Gsfuwaledenev

12



31. Arrange the following in ascending order according to their basin area.
1. Mahi

2. Kaveri

3. Narmada

4. Yamuna

(A) 3,412 (B) 4,3,2,1
(©)4,23,1 (D) 3,4,2,1

(E) Answer not known

oupper G LGH%E apL BLpsse_aupen aniaifleaFuled aifesLiL®Ssa)Lb.
Y

2. 51Geur)

3. pisT

4. wapesn

(A) 34,12 (B) 4,3,2,1

(©)4,231 (D) 34,2,1

(E) uged Qsfwaledensy

32. Harishchandra range is situated in which of the following states?
(A) Tamil Nadu (B) Maharashtra
(C) Manipur (D) West Bengal
(E) Answer not known
an AFEBBIT LoeFCSTL i LiaTaGLd TES LTHWSSD e Lops)arers?
(A) 58 p1® (B) wosmanaiig o
(C) wenfliiyyd (D) Guop@ eumisTend
(E) u®a Qsfwaledamev

33. Which of the following is/are correct?
1. Pluto is the largest dwarf planet.
2. Eris is the second largest dwarf planet.
(A) Lonly (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2

(E) Answer not known

13



eirasmpaseTaipBled 618 FflwireglFfwrers?
1. yeon” G HsLQ LA Gerar Husib.

2. eifled @ ues_moug) QUi Geier Husib.
(A) 1 @G

(C) 1 wpmuib 2 @uew@d

(E) u®a Qsfwaledamev

(B) 2 @b
(D) 1 oyyaag 2 @avemev

34. Amaravathi city (new capital of Andhra Pradesh) is situated on the banks of the river

(A) Krishna
(C) Godavari
(E) Answer not known

(B) Indravathi
(D) Pennuru

<yogmeau® psIw (EHrmelear YW SameEsILd) DMl $eTule) 96w Lo kS GTaTS]

(A) @ apem
(C) Gsagmauf
(E) u®a Qsfualaeamev

(B) @r@smeus
(D) Quesiremis

35. Which of the following place/s has/have thermal power stations?

1. Ennore

2. Nellore

3. Neyveli

4. Kalpakkam
(A)1,2,3and 4
(C)1and 2 only

(E) Answer not known

(B) 1, 2 and 3 only
(D) 1 only

L&TeupLd 6168 QLB 6D YeaTed LOGT BleneW BIG6T 2 GTaTGH?

1. erevramnd

2. Opadauri

3. OpuiGasal

4. sedLmEsL

(A) 1, 2, 3 wpmis 4

(C) 1 opmyih 2 o b
(E) uBed OsAwaladana

14

(B) 1, 2 wopmuid 3 oL ®ubd
(D) 1 " @pud



36. Which of the following is/are correctly matched?
1. Keibul Lamjao national park - Nagaland
2. Loktak Lake - Manipur
3. Cherrabunji - Assam
(A)1,2and 3 (B) 2 and 3 only
(C) 2 only (D) 3 only
(E) Answer not known
araumaaapsled atg FAwnsl QuTmEsSns?
1. Qsuiyed ewmibegnGeur CsPw LYEIST - FISTOTBS
2. Gevnsi_g erf) - wesllLiyd
3. AuLyeh® - oyFmb
(A) 1, 2 wpmb 3 (B) 2 wpmith 3 i @b
(C) 2 wL @b (D) 3 @b
(E) ufa GsAwalaeme

37. Match the following

Reservoir River
A. Balimela 1. Sileru
B. Nagarjunasagar 2. Cauvery
C. Nizamsagar 3. Krishna
D. Bhavanisagar 4. Godavari
A B C D
(A) 1 3 2 4
(B) 2 3 1 4
© 1 3 4 2
(D) 2 1 4 3
(E) Answer not known
daraipaarampean ClLmbssa) L)
505Gg85LD 20!
A. LuadGwer 1. 9Cav
B. prsnisgarrensi 2. sraflf
C. Hegmbansi 3. D apew
D. uaunafsnsi 4. Garsmouf

15



A C
(A) 1 2
(B) 2 1
©) 1 4
(D) 2 4

(E) uBed Ogfwefevenev

w NN B~ MO

B
3
3
3
1

38. Hud hud cyclone was coined by
(A) India (B) Israel
(C) Oman (D) Srilanka
(E) Answer not known
QUL QDL LjWG) 2 (heTeTg]
(A) @rswn (B) @avGrad
(C) groair (D) @avmians
(E) ufa QzAwaledea

39. Which of the following is/are correct?
1. Ritchie archipelago is in Arabian Sea.
2. Barren island of Andaman Nicobar Islands has active volcano.
(A) 1 only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
L9aireumauaTabBled e1g Filwresgl #fwneg)?
1. &9 Baydami L 1b 985 aSed o airarsg).
2. sypswnet §aGsruni Sajseiar sfe ol QFwele erfloeme o airerg.
(A) 1w @uw (B) 2 o1 @b
(C) 1 wpmih 2 @uesw®Lb (D) 1 syedevg 2 @evenev
(E) u®a Qsfwaledamev

40. IRNSS is a group of how many number of satellite
(A) 26 (B) 6
7 (D) 27

(E) Answer not known

16



IRNSS arairLig) eré5mar OsuwpanssGamersanar @ip
(A) 26 (B) 6
(C)7 (D) 27
(E) uBed OsAwaladene

41. Which of the following is/are correct?
1. Bhangar contains new alluvial deposits.
2. Khadar contains old alluvial deposits.
(A) 1only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
LereumpaeTaipBled 618 Ffwretglsfwres?
1. LTESAD LYBW UGHTL o) LIL)a)SaT o GTaTeT.
2. 350 LIGHIpW QUGSTL o) LIl 056 6Td C\%TesT(BeiTeng).
(A) 1w @uw (B) 2 o @b
(C) 1 wpmuib 2 @rew@Ld (D) 1 syedevgs 2 @evenev
(E) u®a QsAwaledamev

42. Which of the following pairs is/are correct?
1. Eight degree line separates Minicoy Island and Maldives.
2. Ten Degree line separates Andaman and Nicobar Islands.
(A) 1 only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
eraumpLd Gegmigsefed 618 Fflwmengl il nerg?
1. a1 ® 98 A Can® afsmui Eemauid wrwsGasamarytd L9ASHDS).
2. uSs 19 DN CE1(®) SyBsLIET WP BsCsTUTT Bajsear LINEDDS.
(A) 1w @G (B) 2 @b
(C) 1 wpmyih 2 @uesw®Lb (D) 1 syedevg 2 @evenev
(E) u®a Qsfwaledamew

17



43. Zoji la and Baralacha la are passes in which of the following ranges?
(A) Zaskar (B) Karakoram
(C) Pirpanjal (D) Ladakh
(E) Answer not known
Z0ji la wpmys Baralacha la @y@weveu aeu@md 618 augsLied o arar SL_6ysari@Ls?
(A) gmev s (B) 310Gz md
(C) YiuEssad (D) ei_rs
(E) u§a GsAwalaeme

44. Which of the following is/are freshwater lakes?
1. Dal
2. Wular
3. Pangong Tso
4. Tso Moriri
(A)1,2,3and 4 (B) 1, 2 and 3 only
(C) 1 and 2 only (D) 1 only
(E) Answer not known
LareuBeuaTapSled 618 BaTasti erflsar?
1. smed
2. aevg
3. ummGanmi 19 Gar
4. 19 G GomHf
(A) 1, 2,3 wpmib 4 (B) 1, 2 wpmiih 3 oL @b
(C) 1 wpmith 2 " @b (D) 1 " @b
(E) u@ed Qsiwaledamew

45, European Economic Community was started in
(A) 1948 (B) 1958
(C) 1947 (D) 1957
(E) Answer not known
@Grmiw Quin@ernsry Fepstd Qsm_msLiL L g
(A) 1948 (B) 1958
(C) 1947 (D) 1957
(E) u®a Qsfwaledemev

18



46. Which of the following is/are NOT Million plus City?
1. Nagpur
2. Thane
3. Varanasi
4. Jaipur
(A)1,2,3and 4 (B) 2 and 4 only
(C) 1and 3 only (D) 2 only
(E) Answer not known
areupausTaupBled 618 Levedwer erad P 1q yedev?
1. sy
2. 1Gas

3. aungewaT®

4. Qe
(A1, 2,3 wppid 4 (B) 2 wopmid 4 o1 ®b
(C) 1 wwmuid 3 o Hud (D) 2 @b

(E) uged Qsfweledenev

47. Match the following

River Origin
A. Brahmaputra 1. Bokhar Chu
B. Narmada 2. Chemayungdung glacier
C. Indus 3. Amarkantak Plataeu
D. Godavari 4. Kalsubai
A B C D
(A) 1 3 2 4
(B) 2 3 1 4
© 1 3 4 2
(D) 2 1 4 3
(E) Answer not known
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ereupeueaipenm GlLITBSSeyLd

BGuiler GarppLd
A. OgbousSar 1. Gursi &
B. piwsm 2. Qemymi s LehLiLITaD
C. 955 3. Sywiset_g 1Ly
D. Gsrsmad 4. sebaLm
A B C D
(A) 1 3 2 4
(B) 2 3 1 4
(C) 1 3 4 2
(D) 2 1 4 3
(E) LB OsAwaleama

48. The microorganisms that live in corals are
(A) Algae (B) Bacteria
(C) Fungi (D) Virus
(E) Answer not known
LaueriLTeypsefed eumipLd fiesasyullfs e
(A) ur® (B) ungie Aumr
(C) yesems (D) evaugai
(E) u®a Qsfwaledamev

49. Polavaram dam project is proposed across which of the following rivers?
(A) Godavari (B) Narmada
(C) Tapti (D) Mahakali
(E) Answer not known
esraimLh 6155 ST GmI%Gs Gurewairt Hyenent S 1 b 1peTQuomBuiii’ L g?
(A) Gargmasd (B) piwsm
(C) 58 (D) wersmaf
(E) u®a Qsfwaledamev
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50. Jute cultivation is predominant in which of the following states?
(A) West Bengal (B) Bihar
(C) Odisha (D) Assam
(E) Answer not known
eTaupL) 6TES TElwSHe Famied FTGLILY BHLONSH 2 6TaTg?
(A) Cup© saumismard (B) immd
©) guyan (D) <y&mb
(E) u§a GsAwalaeme

51. Which of the following is/are correct?
1. Cotton is not grown predominantly in Eastern and Northeastern India.
2. Cotton requires well irrigated soil.
3. Black soil is also called as ‘regur’ soil.
A)1,2,3 (B) 2 and 3 only
(C)1and 2 only (D) 1 only
(E) Answer not known
LDeireumpaueTaipBled 618 Fflwretgl Ffwires?
1. Dups@ wpmih eil_Ripsa @BAwreled LGSS pEPuins LN LiLIEaIDadema.
2. LBEBSG paE BiLiursed QFuiwiul L wes Gsma.
3. 3oILiL) et Qi  LDET TSI A PSSLILIB S DSI.
A)1,2,3 (B) 2 wopmid 3 1or” B Guo
(©) 1 wpmid 2 w GG (D) 1 weuw
(E) u@ad Qsiwaledamev

52. Which of the following is the densest layer in the Earth’s interior?
(A) Nife (B) Sial
(C) Sima (D) Crust
(E) Answer not known
Leraumaiarappled Lbluier 2 L LpsEe L FsHurer H®SE 615/?
(A) Bo%Li (B) ®uwimed
(C) @uomr (D) GuBan®
(E) u®a Qsfwaledamev
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53. Which of the following is/are NOT oilseeds?
1. Sunflower
2. Castor seed
3. Green gram

4, Sesames
(A)1,2,3and 4 (B) 2 and 4 only
(C) 1and 3 only (D) 3 only

(E) Answer not known

LareumeuaTapPled 618 6160wl oG5S5 6T 2je0ev?
1. s Ausnps

2. gyLoewsE allens

3. ugesLiLwm

4. erar
(A1, 2,3 wppid 4 (B) 2 wopmid 4 o1 ®b
(C) 1 wwmuid 3 o Hud (D) 3 i @b

(E) uged Qsfweledenev

54. Which of the following is/are correct?
1. Alluvial soil is rich in Phosphorous.
2. Black soil is poor in lime and Magnesia.
(A) Lonly (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
eireumpaseTaipsed 618 Fflwretgl Ffwres?
1. quewiL_a wessenfled LimavLITad B SLD 2 GTaTS).
2. S@LILY LoGHT FaseTLOL] LPDILD aeTRwTalled GLorFions o erang.
(A) 1w @G (B) 2 @b
(C) 1 wpmud 2 @uesLd (D) 1 yy@es 2 Qe
(E) u®a Qsfwaledamev
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55. Arrange the following hills in Tamil Nadu from North to south.

1. Javadi hills

2. Shevaroy hills

3. Palani hills
(A)2,1,3

©)3,2,1

(E) Answer not known

(B) 1,23
(D)2,3,1

SOPBTL 1960 Ul SR (BBS C1SDH s LITeU(BLD LOEHVH 6T 6uflenFLiLI(b)SS!BI%6T.

1. graulg tenavsar
2. Qapeugmul e asair
3. Lpa) enavsar
(A)2,1,3

(€)3,2,1

(E) LS QzsAuafdema

56. Which is/are correct pair?

1. Teak - Deciduous forests

2. Sandalwood - Evergreen forests

3. Deodar - Tropical thorn forests
(A) 1 only

(C) L and 3 only
(E) Answer not known

6181 Filwner Gegmig?

(B)1,2,3
(D)2,3,1

(B) 1 and 2 only
(D)1,2,and 3

1. Gz - Q@S s16Sai

2. spsenLd - LFeLWTET STRSN

3. Csaugmm - GeULILILDGSTL 6V (Lp&T ST(HHET
(A) 1w @uw

(©) 1 wpmid 3 wi” @b
(E) u®a Qsfuwalaenev

57. Adam’s Bridge is between India and
(A) Sri Lanka
(C) Myanmar

(E) Answer not known
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(B) 1 wopmiid 2 o1 ®id
(D) 1,2 wpmih 3

(B) Maldives
(D) Bangladesh



Sysmier ureww @QESurelBEL @ Gu o arars)
(A) Qerians (B) wrewgGeyseir
(C) unsinos (D) LisizemGs e
(E) LB QsAwaiadena

58. Arrange the following in descending order in terms of its texture.
1. Clay
2. Loam
3. Silt
4. Sand
(A)4,3,2,1 B)4,2,3,1
©)1,23,4 (D)1,3,2,4
(E) Answer not known
BipssaTL_oupen SET  SyeioLiLupenpuieaT g iue uied @wEi@  euflewsuied
A FLiLIBESaLb.
1. sefesr
2. Gevmd

3. QUGHTL_GO LDGST

4. (pewsTed
(A)4,3,21 B)4,2,3,1
©)1,23,4 (D)1,3,2,4

(E) uged Qsfwaiedenev

59. Which of the following is/are correct?
1. Kandla port is in Gujarat.
2. Paradwip port is in Odisha.
(A) Lonly (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
LareueuaTaIbBled e1g Fiwimegl #flwnag)?
1. saeHIL" O FIEODUPFLD GRITSDeD o aTeng).

2. @u3810960 LITSGTLI SIODUPSLD 2 GTaTS).
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(A) 1w @G (B) 2 @b
(©C) 1 wpmis 2 @uessBILd (D) 1 syevevgs 2 @avema
(E) u®a Qsfuaiaemev

60. Which of the following is/are correct?
1. There are many Earthquake prone zones in Deccan Plateau.
2. India has both hot and cold desert regions.
(A) 1only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
LareueuaTaUbBled 615 sAwretsl & flwmensg)?
1. sasme 1 L1Hulled Licv LsLbLl eumuiLiL|eTeT LIGSFel o aiere.
2. @pPwrafled Qeuiuih LHYILD &6NIBS LITewcVeUGTL LI%S 6T 2 GTaTeH.
(A) 1w @uw (B) 2 o1 @b
(C) 1 wpmuib 2 @rew@d (D) 1 syebevgl 2 @evenev
(E) ufa GsAwaladame

61. Which of the following states does not have petroleum reserves?
(A) Assam (B) Karnataka
(C) Maharashtra (D) Gujarat
(E) Answer not known
eraipLd e1ps iBeg@e QUL Grredlw @)pLiLsser @)aama?
(A) yemb (B) sipm_sm
(C) wosmgnajggm (D) oe2oms
(E) u@ed Qsiwaledamev

62. Which of the following states has the largest forest cover proportion?
(A) Madhya Pradesh (B) Telengana
(C) Nagaland (D) Tamil Nadu
(E) Answer not known
9erau@pLh wrBevmiseled eps Bl D% UGTLILIGD WS G Tewnt () arerg?
(A) wg9uw 1978s51b (B) Qsaymisret
(C) prsrevrps: (D) 51955713
(E) u®a Qsfwaledamev
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63. According to the Indian state forest Report, which of the following is/are correct?
1. Forest cover in India is about 21%.
2. In the total forest cover, open forest has the major proportion.
(A) 1only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
@BHW wrdew aueat yPsmsularLy, e EaaTapple) 618 Fflwnegl sfwrerg?
1. @Bwneled sr@sefar LgLiLerea) swri 21%.
2. Qrss aetli LgLIe, BpEsOaas sTR S 9% NDSEmSS O TawT(Harare.
(A) 1w @uw (B) 2 o1 @b
(C) 1 wpms 2 @uesw®Lb (D) 1 syadevg 2 @evenev
(E) ufa QsAwaleema

64. The mineral IImenite is found in which of the following regions in India?
(A) South Indian Coast (B) Rajasthan desert
(C) Assam (D) Himalayan regions
(E) Answer not known
@evwearL eiap seaflioid aaimL apsLl LGHuled @QBDwrelled sreLiLGRns?
(A) OsaralsPw sL_pser (B) prsgav g e LitewevauesLh
(C) wyomi (D) @uowvmar LigBse
(E) u®a Qsfwaledamaev

65. Which of the following is correct about Ocean currents?
1. Agulhas Current and Brazil current are warm currents.
2. Peru Current and Benguela current are cold currents.
(A) Lonly (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
Heraupausanmled a0 oL L misefled 618 FfluiTesg?
1. sygoanred WearGamr L ib wpmih 1961 GerrL L 1h B wenas @ men
BCym L_misaer.
2. Qumw WeaGeml b wppid OQum@Ger WearGearml L b yHweves @Gaid

BCgm L_misaer.
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(A) 1w @G (B) 2 @b
(©C) 1 wpmis 2 @uessBILd (D) 1 syevevgs 2 @avema
(E) u®a Qsfuaiaemev

66. Caucasus range is between Black sea and
(A) Caspian Sea (B) Mediterranean Sea
(C) Aegean Sea (D) lonian sea
(E) Answer not known
FIHFaD 6TV 6V &(HEISL_6D LopmILd @ent_Gur 2 aTarg)
(A) sredwest 16 (B) wg@wsenss H1_6
(C) sdwest s1_ad (D) <Bunehlwier s1_ad
(E) uPa QzAwaleema

67. The shape of the Earth is
(A) Spherical (B) oblade spheroid
(C) elongated circle (D) none of the above

(E) Answer not known

Ly uSGST @ty auLh
(A) Gsmarioresg) (B) @LiGaL: avifamui®
(C) poromes au’ L th (D) GuoGev e1g10yL6 @ema

(E) uged Qsfweledenev

68. Which of the following is/are not correct?
1. Strait is a region which connects two large water bodies.
2. Isthumus is a region which separates two landmasses.
(A) Lonly (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
e auatapse e1g sRwmergl Ffudadana?
1. gesp® erarug @ueaw® COuflw Fifleaosemar @ aesGLd @b LIGS.
2. @abgiwad eraiLig @rav() BlewliuGSsmer EGL % LUGS.
(A) 1w @G (B) 2 @b
(C) 1 wpmud 2 @uesLd (D) 1 yy@es 2 Qe
(E) u®a Qsfwaledamev
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69. Which of the following statements is/are true?
1. The area of inland wetland is more than that of coastal wet land in the world.
2. Tamil Nadu has largest proportion of wetland in India than any other states in India.
(A) 1only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
&TauBLD Fmpmisaied 615 o eaniol o awanin?
1. 2 & 2 arer H1_Covny Fy Pvgens ol 2 atprL (B FIBSS 6T LTLILIGTe] B SLD.
2. @BPwreled o airer wpp wrReEsms ST iged @BBwiels Hs yerale
mrBlevd SLOPBEIG o ereng.
(A) 1w @uw (B) 2 @b
(C) 1 wpmh 2 @uesw@Lb (D) 1 syedovg 2 @evenev
(E) usa GsAwalaeme

70. Which of the following bio-sphere region has been recognised by UNESCO as international
important bio-sphere reserve?

(A) Achankmar (B) Agasthiya malai

(C) Lakshadweep (D) Nalla mala hills

(E) Answer not known

eaums e1ps 2 uli-Gsmert LES wGeedBsmaired FiaIGss (IpSPWSFHILD ITLILS

2 uilg-Carend SILILISLLTS YBIESHSSLILIL BHeTaTg?

(A) =ygsm1505 (B) @sev@uw omevev

(C) w5580y (D) pavev tomev ewevSar.

(E) uged Qsfweedenev

71. Which of the following statements is/are correct?
1. Bio-sphere reserve is in tropical regions only.
2. Gulf of Mannar is the largest bio-sphere reserve in India.
(A) Lonly (B) 2 only
(C) Both 1 and 2 (D) Neither 1 nor 2

(E) Answer not known
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L9eiTeu(pLd Fmpmisened 618 Filwnengl#fwreg?

1. 2 u958Gsmer @@Ly QauLiLei e LGSHsaNe L HGL 2 arerg).

2. wererTi auewar@gLm @QESwraler s uNw o uiisGsrer STLILSLAGLD.
(A) 1 @G (B) 2 @b

(C) 1 wpmib 2 @ues@rid (D) 1 ysvevg 2 @adens

(E) u®a QsAwaladena

72. Which one of the rivers is tributary of Ganga?
(A) Manas (B) Chambal
(C) Shyok (D) Luni
(E) Answer not known
SEI ST Hieo T 55 6157
(A) wermad (B) FLoLied
(C) afiGuns (D) grasf
(E) uBa QsAwaieama

73. Which river has the largest basin in South India?
(A) Kaveri (B) Krishna
(C) Godavari (D) Mahanadi
(E) Answer not known
QsaialpPurade a1ps pHul L LGS o cirerg)?
(A) s1Gaur (B) & apewrm
(C) Gsngmoud (D) wsr58
(E) u®a Qsfwaledamev

74. Which of the following statements are true?
1. West flowing rivers of peninsular India have no deltas.
2. East flowing rivers of peninsular India flows towards Bay of Bengal due to the
gradient of Deccan plateau.
(A) Lonly (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2

(E) Answer not known
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LeraupLd gpmiseaied 618 2 cwrenin?

1. Buspu @QEFuraler CupGL LTy Hyniseied ClLedL TSs56T Qevema.

2. Qrssrar fyflier srwie smgesions SuspL @QBPwraler HipsGL LmuLd
2MIFeT auBlIETar Qi GLTenes GBIEE) LM% e e,

(A) 1 @ (B) 2 o @b

©) 1 wpmib 2 @uew@®Ld (D) 1 oyaavg 2 @aemaev

(E) uged Qsfwaledenev

75. Which of the following is/are Atolls?
(A) Lakshadweep (B) Nicobar
(C) North Andaman (D) All of these
(E) Answer not known
areupausTaupBled GLTedsar 6157
(A) oo 580y (B) $s@smuni
(C) aiLd@ ipsiomar (D) @aas stanenggiLd
(E) usa GsAwaladame

76. Which of the following is a lagoon located in Eastern Coast of India?
(A) Vembanad Lake (B) Kolleru Lake
(C) Pulicat Lake (D) Ashthamudi Lake
(E) Answer not known
esrarparsrapfed @BRumelar Dips s s1L_pamulled SeipsIaTar @GeTtd 61g)?
(A) GautbLipr® erif (B) QsradGavmi erifl
(C) yaSlam” af (D) <rei_upig e1if
(E) u@ed Qsiwaledamew

77. “Jarawas’ tribal people are living in
(A) Lakshadweep (B) Nallamala Hills
(C) Andaman Islands (D) Assam
(E) Answer not known
“o07euTedeit LILpBIGLY LDEEGT UM P T 6T
(A) o s580y (B) pedvevioev oamavsair
(C) @uBswrer Saysor (D) y&mi
(E) u®a Qsfwaledamev
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78. Which of the following tribe/s is/are living in Tamil Nadu?
1. Todas
2. Kotas
3. Banjaras
4. Shompens
(A)1,2,3 and4 (B) 1, 2, and 4 only
(C)1and 2 only (D) 2 and 3 only
(E) Answer not known
Bipssein_ LpEIGysealed eTEsLI LIpEIEGI Uit SLOLHETL 1960 aumpHamer?
1. Gsmma
2. GamLL_mab
3. uEhFTITSSEiT
4. Qapmib O Lisiad
(A) 1, 2,3, wpmid 4 (B) 1, 2 wpmyid 4 wor” ®Guo
(©) 1 wpmid 2 " HGuo (D) 2 wpmitd 3 " HGro
(E) u®a QsAwaledamev

79. Which of the following boards is/are under the Ministry of Commerce and Industry?
1. Cotton board

2. Coir board

3. Spices board

(A) 1and 3 only (B)1,2and 3
(C) 3only (D) 1 only

(E) Answer not known

9areupd eurAwmiseled 6151 aIiEsHL P COFMAD SyeissssS T &1p o cirarg)?
1 u®SH Luwws

2. Qs esIenast BT LIVEHS

3. wFTT LIvens

(A) 1 wopmid 3 L @b (B) 1, 2 wpmiib 3

(C) 3 wL @b (D) 1 @b

(E) u®a Qsfwaledamev
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80. In which of the following regions Laterite soil is found?
(A) Cold dry regions (B) Hot and humid region
(C) Desert (D) Mountains with sedimentary rocks
(E) Answer not known
eaumLd eTEsL LGB uled GevL L eorL’ es HrewtLiLiHEDS?
(A) galld apair_ LGHsar (B) Qauiiionar wppiis moLiugwrer LGS
(C) uneweveuewih (D) euawr_ed Litewmsair Qs masL_ Loe»aVEHGT

(E) u®a Qsfuaiaenev

81. Which one of the following highway in India is located parallel to National water way 4,
(A) NH 17 (B) NH 2
(C)NH5 (D)NH 4
(E) Answer not known
GsPw B ouf) 4 5@ @evewtwirs @ESwreailed 2 airer 19eTel LD OB B EHFT®WsaN6 615,
(A) NH 17 (B) NH 2
(C)NH 5 (D) NH 4
(E) uBa QzAwaleema

82. Which of the following factors is/are responsible for/influence the abundant fish resources
in ocean?

1. Broad continental shelf.

2. Micro nutrients in ocean circulation.

3. Confluence of warm and cold current.

(A) 1and 3 only B)1,2,3

(C) 2 and 3 only (D) 3 only

(E) Answer not known

sLaled  uiiflswrer Bt aag@pg O smmedsels g

QumpiLiLy QFedaursi@?

1. LpBs sneng Qe GapedesLl.

2. BL_60 FpHRUe) o 66T HICHTEYTL L& FE5I 556,

3. @Lmew wpmih GeNd 1e1GenL’ L@ e FmISLOLD.

(A) 1 wppiid 3 " @b B)1,23

(C) 2 wpmih 3 i @b (D) 3 " @b

(E) u®a Qsfwaledamev
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83. Which of the following species is NOT found in India?
(A) Hyena (B) Leopard
(C) Cheetah (D) Chital
(E) Answer not known
Dereupd @ermiseied e1g @BHwreled srenivl_afedamev?
(A) anarr (B) fmigaws
(C) Asas (D) 88z
(E) u§a GsAwalaeme

84. Which is/are correct?
1. Tamil Nadu gets more rain fall through South West monsoon.
2. South west monsoon gives more rain in Coramandel coast.
(A) 1only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
o151 FAwnegl#5)?
1. Q@GP UGy ap S8lPsL 4Bs wapamwLl OuDISDS.
2. Qsa@GwP@ Lmaap Gsmripest o sL_pamiule 9Bs wapamu Q&1 DS
(A) 1w @uw (B) 2 " i
(C) 1 wpmud 2 @uewsrHLd (D) 1 yy@as 2 @aamev
(E) u®a Qsfwaledame

85. Which is/are correct?
1. Intensity of the earth quake is measured in Richter scale.
2. Tsunami is a sudden effect of earth quake.
3. Earth quake occurs only in convergence plate boundary.
(A) 1and 2 only (B)1,2,and 3
(C) 2and 3 only (D) 2 only
(E) Answer not known
o151 FAwneTgl #77?
1. pewp®sss@ar Gallgbd AsL i sjereCsrelled yaralLiL®F DS
2. sanmd) eTeTLIg) LSIDLSHT Bief afleneray.
3. yaf p@FsLd Galuh s eTedanevuied oL GG BB DSI.
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(A) 1 wpmid 2 " HGip B) 1,2, wpmid 3
(C) 2 wwmid 3 " ®Gio (D) 2 10" ®Grp
(E) u®a Qsfuaiaemev

86. Arrange the following components of atmosphere in ascending order in terms of its
percentage in the total volume.

1. Carbon dioxide

2. Argon

3. Methane

A)1,2,3 (B)2,3,1
©21,3 (D)3,1,2

(E) Answer not known
auafesTL_wgHer LIaTalpd Fpidemar 6Gongs araiel FSafesB 6T 91 LiLen uie)
amieuflenFuiled euflenFLiLi(hGsayLb.

1. srjuiet e FmF®

2. oyjsnen
3. 185 Gaair
(A 1,23 (B)2,3,1
(€)2,1,3 (D)3, 1,2

(E) uged Qsfweladenev

87. Which of the following is/are correct?
1. Oxygen exists only in Troposphere.
2. Ozone exists only in Stratosphere.
(A) 1 only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
e mauaTabBed c1g FAwretsl #flwneg)?
1. CGurGumevQwMed L HGLo 2ysedlgar 2 arerg).
2. @CGgnar e grGLmev Qwhled i’ HGLo 2 aTeng).
(A) 1w @G (B) 2 @b
(C) 1 wpmyih 2 @uesw®Lb (D) 1 syedevg 2 @evenev
(E) u®a Qsfwaledamev
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88. Which one of the following types of clouds is called as Cirrus cloud?
(A) Low Clouds (B) High Clouds
(C) Fog (D) Rain giving Clouds
(E) Answer not known
9eTeupLd arens Guamisale ez Huebd Guoad eTam PsSFLILIGDDS?
(A) Gewpps Gosmiser (B) 2. wi Gusesisar
(C) ap@uiash (D) wanp st Giosmiaan
(E) u§a GsAwalaeme

89. Which of the following is/are correct?
1. Ocean Trench is found in all River mouths regions.
2. Mid-Ocean Ridges are found in divergence plate boundaries.
(A) Lonly (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
L9aireueuaTalpBlen e1g #iwregl #fwneg)?
1. syvaiggl BB wpasHIaTIL LGDFNaibd QUBESL 0 s STeTLiL(R D).
2. BRSSLa WE@sar GaupiLL L SL( araamasaied raLiLi®$ e e,
(A) 1 @ (B) 2 o b
(C) 1 wpmud 2 @uewrHLd (D) 1 yy@es 2 @aamev
(E) u®a Qsfwaledaev

90. Which is/are correct?
1. Child female sex ratio is less than 900 in Tamil Nadu.
2. Literacy rate is more than 90 % in Tamil Nadu.
(A) 1 only (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
o151 FAwneTgl #77?
1. 5101p558e0 Gopes Cuest ureder aDs 9008E1H Geapairs o srarg.
2. sevalupey adDs1d s10HBT 1960 0% GGLd HBHL0TS 2 ereng.
(A) 1w @uw (B) 2 o1 @b
(C) 1 wpmh 2 @uesw®Lb (D) 1 syedovg 2 @evenev
(E) u®a Qsfwaledamev
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91. Which is/are correct pair?

State
1. Tamil Nadu
2. Kerala
3. Kolkatta
(A) 1only
(©1,2,and 3
(E) Answer not known
o151 Fflwmas Gagmig?
LomevLd
1 58pm1®
2. Gagerm
3. QsrebagsT
(A) 1w @uw
©) 1,2 wpmibd 3

Highest in India in
Literacy Rate
Infant Mortality Rate (IMR)
Population Density
(B) 2 only
(D) None of these

@EBuwrads) B o wipss:
TIPSV ey IFFLD
Gysms @iy al&sLd (IMR)
ésar Osrens LG58

(B) 2 o b

(D) @eau c1giayLd @edenev

(E) uged Qsfweledenev

92. Largest amount of fresh water after ice caps exists in

(B) Fresh water Lakes
(C) Rivers (D) Ground water

(E) Answer not known

(A) Atmospheric clouds

LG5 195655 GL LD @ 9B F eaTa) LW BH o aTerg)
(B) parafs erilsen

(D) plevgsig B

(A) euafoesri_ev Guosmisaer

(C) smisai
(E) uged Qsfweledenev

93. Which is/are incorrect pair?

1. Land hemisphere -

Southern hemisphere

2. Longest day in Southern hemisphere - June 21st
3. Shortest night in Northern hemisphere- Dec 22nd
(A) Lonly (B) 1 and 3 only

(C) 2and 3 only

(E) Answer not known

(D) none of these
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6181 Soupmer Geomg?
1. Blov ewasGsmarcd - Gap @ v rsCHmard

2. Qsp@ 21ECsTargHew 0% B prar - et 21

3. UL &@ Y isGasrarsPed GnIH W () T6y - abLIg 22
(A) 1 @ (B) 1 wopmid 3 o ®Gro
(C) 2 wwmid 3 o Hud (D) @eweu e1giayLd @edemaev

(E) uged Qsfwaledenev

94. Which of the following regions in India has Corals?
1. Gulf of Kutch
2. Lakshadweep
3. Andaman and Nicobar
4. Gulf of Mannar
(A) 2 and 4 only (B) 1,2, 3,and 4
(C) 2, 3,and 4 only (D) 3 and 4 only
(E) Answer not known
@EDwrelled ael@pLd LIGSHFeNe LiaIeTLILITEODSGT o eTenes?
1. 51" ¢ queven@Lm
2. wi's580)
3. epswret §sGasmLing
4. WoeSIeTTT QUGHOTEL T
(A) 2 wppib 4 1w’ GG (B) 1, 2,3, wompuip 4
(C) 2, 3 wpmih 4 " H G (D) 3 wpmis 4 GG
(E) u@ed Qsiwaledamew

95. Which of the following rivers are used exclusively by India as per Indus Water treaty?
1. Indus
2. Ravi
3. Beas
4. Chenab
5. Sutlej
6. Jhelum
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(A)2,3,and 5 (B) 3,4and 5
(C)2,3,and 4 (D) All of these

(E) Answer not known

Apg B bi LUUBSSB@LY @BFwrared LTEFCwsLISL  LWEETLBSSLILBLD
EDsaRD 6157

1. Dsy

2. gaf

3. wmaed

4. Qe

5. 5" Qavgd

6. favih

(A) 2, 3 wpmib 5 (B) 3, 4 wppiis 5

(€) 2,3 ppis 4 (D) @mas Syemangzid
(E) u®a> QsAwaladama

96. Which of the following regions is/are bird sanctuary in Tamil Nadu?
1. Srivilliputhur
2. Koonthankulam

3. Karaivetti
(A) 1and 2 only (B)1,2,and 3
(C) 2and 3 only (D) 1 and 3 only

(E) Answer not known

esraimid LGS FeNed SLOHBEIL 196D LD QUISET FTERTTWILD 6157

1. wellebalL ggnd

2. S pBEGeLD

3. sevgtau 1y

(A) 1 wpmis 2 i HGw (B) 1, 2 wpmiib 3

(C) 2 wwmith 3 o HGio (D) 1 wopmiid 3 0" ®Guo
(E) u®a Qsfwaledamev
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97. Which is/are correct?
1. Tamil Nadu is the largest producer of rice in India.
2. West Bengal is the largest producer of Cotton in India.
3. Uttar Pradesh is the largest producer of sugarcane in India.
4. Andhra Pradesh is the leading producer of Tobacco in India.
A)1,23,4 (B) 3 and 4 only
(©)2,3,and 4 (D) 1 and 4 only
(E) Answer not known
o151 FAwinegl #7?
1. @39wrelGaCu s ETOSTE 2S5 yeralled NS 2 PLSH CFuiSDS!.
2. @BBuree) LBES 2 PLEHUID GLopE s psal B o arars.
3. @pBwralled s@LoL 2 PLSBUID 2 $50L1 LTG5 (pSXILSE 2 aTang.
4. @rpPuwraled Lewsuldeme o BLSHuID E@ Ll 1978seLd (paaeniiuied o eransg).
(A) 1,234 (B) 3 wpmitd 4 " ®CGuo
(©) 2,3 wpmid 4 (D) 1 wpmitd 4 wor” ®Gro
(E) u®a QsAwaledamev

98. NH 4 connects
(A) Mumbai and Delhi (B) Delhi and Kolkatta
(C) Mumbai and Chennai (D) Chennai and Bangalore
(E) Answer not known
NH 4 @eaws&ms)
(A) wpibewis wppih Q_adad) (B) QL6069 oppith Qasredsgsm
(C) wrbeos wpmid QFasiene (D) Qaaiiener wopmith Qimisesni
(E) u@ed Qsiwaledamew

99. In which of the following census in2011, India recorded decreased value than 2001 census?
1. Total population growth rate
2. Child sex ratio
3. Literacy rate
(A) 2 only (B)1,2,and 3
(C)2and 3 (D)1and 2

(E) Answer not known

39



araImsLh 15 wEsmEsTms sadCs@ia) 2011 @a, @E@wr 2001 wéser Osrms
Ser5Qs@LieL ol GaopEs Lol LSy Csuiss?

1. Qs wEser OsTems aeniss @ sLb

2. GLpios Lnadlar alBsLH

3. srpssPe) aIS5L)

(A) 2 11" HGuo (B) 1, 2 iommyii 3

(C) 2 wpmyii 3 (D) 1 wpmiih 2

(E) uBed OsAwaladene

100. Which of the following is the highest peak in Tamil Nadu?
(A) Aanai mudi (B) Mahabaleswar
(C) Dodapeta (D) Sathuragiri
(E) Answer not known
Bipsse_aippled sIOHBTL 196 1A% 2 wigioTeT PagLd 6151?
(A) gpear wpuy (B) wsruGaabaid
(C) Cemm@u L (D) #5109
(E) usa GsAwaleeme
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Group IV — Geography 1 - Key
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TNPSC @gepei 1V
Geography

Time: 2 Hrs Marks: 100

Instructions

1. Immediately after the commencement of the examination, you should check that this test
booklet does not have any unprinted or torn or missing pages or items, etc. If so, get it
replaced by a complete test booklet.

2. Do not write anything else on the test booklet.

3. This Test Booklet contains 100 items questions. Each item is printed in English. Each item
comprises four responses (answers). You will select the response which you want to mark on
the Answer Sheet. In case you feel there is more than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

4. You have to mark all your responses ONLY on the separate. Answer Sheet provided. See
directions in the Answer Sheet.

5. All items carry equal marks.

6. ATTEND ALL THE QUESTIONS



1. The stars are not visible during the day because
(A) Of their size
(B) Of their self-illumination
(C) Of their distance
(D) Of Sun’s brightness
(E) Answer not known
T erafer LsaSed BL s rmser OFAuBmama
(A) auppar oerey
(B) wyeuisefar sw Qaualda
(C) yaudsefer g
(D) g Awaer gsnsd
(E) u®a Qsfwaledamev

2. Constellations are known as
(A) Universe
(B) Galaxy
(C) Solar family
(D) Planets
(E) Answer not known
I eRTLO TS GIT 6TGST a0 Lp &5 L1 LI () &) GBTD BT
(A) OouEsed
(B) Gzeavgad)
(€) &fw G@LoLLD
(D) @ysmisar
(E) u@ad Qsiwaledemev

3. The surface temperature of the Sun is
(A) 10000 C
(B) 11000 C
(C)1000C
(D) 60000 C

(E) Answer not known



@Awefer Gupuriiy QauiLgame
(A) 10000 &

(B) 11000 &

(C) 1000 &

(D) 60000 &

(E) uBed QsAualsdera

4. The feature that has a coma and a long tail made up of dust particles is known as
(A) Meteorites
(B) Planets
(C) Sun
(D) Comet
(E) Answer not known
Gamon  wpmh FPS  GiseTseTed OpeT  BewiL  ouned GemewL  LbFLd  eTaw
AP S DS
(A) afairspsar
(B) @rsmi56T
(C) s Awesr
(D) euned B #5@gLb
(E) u®ed Qsiwaledemev

5. The planet that rotates on its axis from east to west
(A) Pluto
(B) Mars
(C) Mercury
(D) Venus
(E) Answer not known
F1p55 0 (BBg CLoHETH 9S8 HFFD sHipayid GHmar
(A) yeop Gm
(B) Qeaiaumu
(C) unsgsid
(D) aferais
(E) u®a Qsfwaledamev



6. The largest planet in the solar system is
(A) Jupiter
(B) Uranus
(C) Neptune
(D) Saturn
(E) Answer not known
@A @@HLSHD 2 aer SLIOLAW Gasrer
(A) adwmper
(B) wGrawai
(C) QpLigyer
(D) #asf
(E) u®a Qsfwaledamev

7. The duration of total solar eclipse
(A) 100 minutes
(B) 8 minutes
(C) 3 hours 30 minutes
(D) 20 minutes
(E) Answer not known
YW GIw Grsansgar sneLd
(A) 100 @dr_miser
(B) 8 #1A_misair
(C) 3 wenfl 30 FudL_misar
(D) 20 h)_misair
E) u@ed Qsfwaleaiena

8. The nearest planet of the Sun is
(A) Earth
(B) Jupiter
(C) Mercury
(D) Venus

(E) Answer not known



GAUDIES 105 3mHe o oot DrsLd
(A) yd

(B) efwimpeir

(C) Lnssib

(D) ofsod

(E) uBed QsHweiadema

9. The vertical rays fall at the tropic of Capricorn on
(A) 21st June
(B) 22nd December
(C) 21st March
(D) 23rd September
(E) Answer not known
OFBIBHSH $FT%H6T L0FIFSH6T GleuLiL eI wEHew ail(LpLd
(A) sgoer 21
(B) gabiig 22
(C) wmig 21
(D) @#Li_buig 23
(E) u®a Qsfwaledamev

10. Assertion (A): Richter scale is used to measure the magnitude of an earthquake.
Reason (R): Sphygmomanometer is a measuring device is used to measure the
earthquake Intensity.
(A) (A) is true, but (R) is false.
(B) Both (A) & (R) are true and (R) is the correct explanation of (A).
(C) Both (A) and (R) are false.
(D) (A) is false, but (R) is true.
(E) Answer not known
&pnl (A) | Bop@sssDear yamma yarall AL oyereyGsrad LWETLGSSLILGHDS.
smgesid (R) © ebvewugGumnGermbl L j eaiig ysibusSear Selises oyerall

LWGTLIRL @ aTalB)Ld &Hailw TEGLb.



(A) (A) 2-airano, yarred (R) saiprerg:.

(B) (A) & (R) @ewi@ip 2 esirenwo wimit (R) ersirLigy (A) @eir sfwimen efansais.
(C) (A) oo (R) @uew®d seupreiena.

(D) (A) seuprang, gyanmad (R) o asirenio.

(E) uBad QsAwaladaa

11. The earth completes one rotation on its axis in
(A) 24 hours
(B) 10 hours
(C) 24 hours 30 minutes
(D) 16 hours
(E) Answer not known
Ll 25aT 98 @@ FpPHow flope) OSSP
(A) 24 el GpaLd
(B) 10 woewfl Gpod
(C) 24 wewf 30 FidL_misair
(D) 16 wewnfl Gpyid
(E) u@ad Qsiwaledamev

12. Land occupies percent of the Earth’s surface.
(A) 28
(B) 27
(©) 29
(D) 30
(E) Answer not known

L Aulesr GuopLigLitfed Havih 5568555 &R TGS Grens).
(A) 28

(B) 27

(C) 29

(D) 30

(E) US> QsAuwaiedena




13. The highly elevated portions of land on the Earth’s surface are known as
(A) Land Surface
(B) Mountains
(C) Plains
(D) Plateaus
(E) Answer not known
yililesr  Gupugifed oeter  plwgHer WD o WIS  LIGHHET
S IPEBLILIH B et
(A) Blov GropLigiiny
(B) wevavsar
(C) 0@ euaf
(D) Syidsar
(E) ufa Osfualadama

14. The Earth was formed years ago.
(A) 460 million
(B) 4.6 billion
(C) 46 billion
(D) 4.6 million
(E) Answer not known

i ST DE@BES (LpEHTL) o (5oUTaTS).
(A) 460 1A edeSwisir

(B) 4.6 L9ebeSlwair

(C) 46 9ebeSlwsair

(D) 4.6 AedeSwsir

(E) u®a Qsfualaenev

15. The very large permanent water bodies on the Earth’s surface are called
(A) Lakes
(B) Ponds
(C) Tank
(D) Oceans

(E) Answer not known



Yl Gupugited seer el Quiu  Bogss Bidewser awm s
SDIPESLILIGHR e

(A) afsar

(B) geriser

(C) @smy

(D) QOu@EsLadsar

(E) uged Qsfwaledenev

16. The percentage of fresh water found on the Earth’s surface is
(A)S
(B)2
©3
(D) 6
(E) Answer not known
yAuar GuopLifed sre L@ B w Efar s5alsLd
(A)5
(B) 2
)3
(D) 6
(E) uBad Qsfwaiademe

17. The planets are controlled by the gravitational force of the
(A) Sun
(B) Earth
(C) Moon
(D) Mercury
(E) Answer not known
Dusmiser miLiy aleswre U HLULGSSLILGS DT
(A) & Awesr
(B) yuh
(C) sp8)7air
(D) ungpsid
(E) u®ed Qsfwaedensv



18. The top layer of the upper mantle is called the
(A) Core
(B) Asthenosphere
(C) Crust
(D) Mohosphere
(E) Answer not known
Guoed Goerri_eSlasr GLoed 2 (H6 & TN e Lp&sLILIBHF DS
(A) Gami
(B) <4000 5GarmediJuid
(C) GuBavn®
(D) GurGanravi i
(E) u®a Qsfwaledamev

19. In the middle of the Earth, magma is not in
(A) Gaseous state
(B) Liquid state
(C) Solid state
(D) None of these
(E) Answer not known
L uias 5B, orsiom 2 erGer @eeme
(A) ey Plava
(B) @ras plevev
(C) 9 Pava
(D) @ewa a1giayb @adama
(E) uged Qsfweledenev

20. Which of the following is the correct pH range of blood of a healthy person?
(A)6.9-7.1
(B)7.0-8.0
(C)7.21-8.10
(D) 7.35-7.45

(E) Answer not known



eraipaieiepled 4 Grraédwwres puier @) rsss@ e sflwres PH augiby eg?
(A)6.9-7.1

(B) 7.0 - 8.0

(C)7.21-8.10

(D) 7.35 - 7.45

(E) uBed QsAualsdera

21. Argentine is a chief ore mineral of
(A) Silver
(B) Gold
(C) Mica
(D) Lime stone
(E) Answer not known
20\ GITLY GTT R (LPSBW ST HGLOLOTGLD
(A) Qauaira
(B) smisih
(C) swwsasr
(D) sesramtaibL) S

(E) uged Qsfuaiedenev

22. One of the most spectacular volcanic eruptions in recorded history, is the explosion of
(A) Krakatoa
(B) St. Helen
(C) Barren Islands
(D) None of these
(E) Answer not known
LPeyQeuiwiul L eugerplled Wsayh SypLswreT efwee Qe Liyseled gam,
Qaug LiLy
(A) Sr5GL_meur
(B) Qeudeir” Qamever
(C) unpair Bayseir
(D) @avau argiayid @adenev
(E) u®a Qsfwaledamev
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23. The most explosive type of volcano is the
(A) Cinder Cones
(B) Caldera
(C) Shield Volcanoes
(D) None of these
(E) Answer not known
WBaayLh Qaigs@Ld aiems eTflpama
(A) Qawri_i gnbLser
(B) sme0@_gm
(C) GsL_w erfbenevsar
(D) @ava ergiayid @adane
(E) u®a Qsfwaledamev

24. An underwater mountain range that runs down the length of the Atlantic Ocean.
(A) Mid-Atlantic Ridge
(B) Himalayan Range
(C) Appalachian
(D) Satpura Range
(E) Answer not known
<L ey & Q@B ST Bers@nE E8Lp @@L Bbssiguled o areT DenewsES ML,
(A) wEPuw-oy" ewresing s Mg
(B) @uwiaes Opm_i
(C) yLiLwré@uasr
(D) #3101 wevawsCFm_i
(E) u®a Qsfwaladena

25. The point on the Earth’s surface directly above the earthquake focus is termed as
(A) Epicenter
(B) Core
(C) Centre
(D) Vent

(E) Answer not known

11



Aoop@éss Galuayss Gpi GuGe Luliler Gupuriies o arer Leral oar SjewssUiL@RDS
(A) swouniig®

(B) Gami

(C) ewiowiid

(D) Qaueire”

(E) LB Qsfweadedema

26. Body waves are seismic waves that travel through the
(A) Hydrosphere
(B) Lithosphere
(C) Atmosphere
(D) Mohosphere
(E) Answer not known
2L 60 Y®VEHGT ALPGULD LILIGRTSGHLD Blov B TaY e e ar
(A) eanL” Grrabvifuid
(B) o818 Bzmabifui
(C) auelipewri_svid
(D) GurGanraviiwid
(E) u®a Qsfwaledamev

27. Molten rock rises, pushing two plates apart and adding new material at their edges is called
(A) Transform Fault
(B) Subduction Zone
(C) Spreading Zone
(D) None of these
(E) Answer not known
o (AW utedD 2 wikg, QU@ HLBsmars seral, Syupplear aflefbysefed LFw
QurmL senersd GFiLiLig) eTeLiLi(BLb.
(A) Hevpeow orBDISaD
(B) giawanr Loasir_avi
(C) upaued ewT_cvid
(D) @eau a1gyayid @Gadeva
(E) ufa Qsfwaladena

12



28. When magma flows onto the surface of the earth or floor of the ocean the type of rock
that form is called as

(A) Extrusive

(B) Intrusive

(C) Igneous

(D) Sedimentary

(E) Answer not known

wrswr LAl Gupurlifes sjedwg el gl Bg Lty GUrg o HaIT@L

LITEOD QUeHT 6T S IpSHLILIH DS

(A) erégavL e5@ai

(B) 2ar®@ oy

(C) uppavauLiy

(D) auesiri_ad

(E) u®a Qsfualaeney

29. The thin vertical veins of igneous rock that form in the fractures is
(A) Batholiths
(B) Sill
(C) Dykes
(D) None of the above
(E) Answer not known
eTILDL] (LpPWleyHafled o (heum@Ld eTfloenevLi Limenpuiler Gloevedlw ClFmI&SH BILDLI% 6T
(A) ursGsradgad
(B) @
(C) sw_gaw
(D) GuoBev ergyayd @a@wama
(E) ufa Qsfwaladena

30. Which is the native place of eucalyptus?
(A) Asia
(B) Antarctica
(C) Africa
(D) Australia

(E) Answer not known

13



weLi_eflar Qemgs @)L Lb a1/
(A) S

(B) iasir_mjig s

(C) wyiiIfsam

(D) 2yevBGresluim

(E) LB QsAwaiadena

31. The term metamorphic comes from
(A) A Greek Word
(B) A Latin Word
(C) An English Word
(D) A French Word
(E) Answer not known
2 (BLOTPDLD 61D OFT6) BB
(A) @@ 96188 aurigams
(B) wggair aumisens
(C) o6 s amigans
(D) 9@ 90r6s aumigans
(E) u@ad Qsiwaledemev

32. World Wet land day is observed on
(A) Feb 2nd
(B) March 2nd
(C) April 2nd
(D) May 2nd
(E) Answer not known
2 65 FJ Blev FeTLd e FHESLILIBHS DS
(A) Iigeud 2
(B) womig 2
(C) eiged 2
(D) Guw 2
(E) u®a Qsfwaledamev



33. Match List I correctly with List Il and select your answer using the codes given below:

List I (Handloom) List 11

a. Chanderi 1. Madurai

b. Maheshwari 2. Gujarat

c. Ikat 3. Khargone

d. Sungadi 4. Madhya Pradesh
a b C d

(A) 4 3 2 1

(B) 1 2 4 3

© 3 1 2 4

(D) 2 3 4 1

(E) Answer not known

ucgwe lg ulgued |l o shursti Quims®, &G Osr®ssLiuL Gerer

GO RSl LWL HSS 2 miseT LHmws CHiE0lsHSSa LD

ul gwed | (ews550) w guwed

a. #15Gs ) 1. wgiewg

b. wGsavard 2. Geo0s

C. @& 3. 5iGsner

d. smsy 4. 15w 197Gs L
a b C d

(A) 4 3 2 1

(B) 1 2 4 3

(©) 3 1 2 4

(D) 2 3 4 1

(E) LB QsAwaledama

34. 777 Days of Indian Himalayas Campaign was launched by
(A) Ministry of Tourism
(B) Ministry of Minority Affairs
(C) Ministry of External Affairs
(D) Ministry of Culture

(E) Answer not known
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717 priser @QpPw @owvenev LIgdFngd OGmL_misLiLL L g
(A) apmievr jeoipdssLd

(B) @miunasienio efleusny ojenindssid

(C) Qaualymay yeopdasLd

(D) sevrsdsny oewindFsid

(E) uged Qsfwaedenev

35. Consider the following statements:
I. South Africa is the leading producer of natural diamonds.
Il. In India, diamonds are found in Panna in Madhya Pradesh and in Wajrakarur in
Andhra Pradesh.
[11. Diamonds conduct electricity.
IV. Diamonds are basically colourless.
(A) I & Il correct
(B) Il & 111 correct
(C) 1 & IV correct
(D) I, 1 & IV correct
(E) Answer not known
L9GSTaUBLD 919560 SHaT %66 EISaT,
l. QsarermiINgsr Quipers eairmisalar 2 PLSSUID wpareTenfiuded o eirers).
Il. @EPureled, wsPuwii GsssPe o eiter LcTeTTNaYLd, EDIL 197C5FED 6D
USBTHBAILD AU TEIST Gl L_gg) arera.
1. waurmiser WaiFnisams &g Ramaer.
V. oausmisar g LiLe_uled s,
(A) | & Il &
(B) Il & Il &
(C) I & IV sfwnangy
(D) 1, 1l & IV sPwnars
(E) u®a Qsfwaledamev
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36. Which one of the following statements is incorrect?
(A) It is necessary to cultivate crops in rotation to protect the soil fertility.
(B) Alluvial soil is rich in potassium and deficient in phosphorus content.
(C) Moisture retention capacity of the red soil is poor.
(D) Red soil is non fertile and not suitable for agriculture
(E) Answer not known
&SI (BLD FopmISaNe 6181 SO TCTS?
(A) wes auarsemsLi LTHSTES FLPPT peopuiled LiudFsmaer LR G oG SeuPwLb.
(B) euasrL_cd oewwensiiod Quim L rQwid BSLd o aTeng) LoHMILD LITGVLITOD &GODLITE 2 GTeng).
(C) RauLiy wesenflar FILILSS®SS $EH®aISEGLD HDGT &DAITS 2 GTaTS).
(D) ®auLiy wesr auaroppg opmitd eflatsmug S apps 26
(E) u§a GsAwalaame

37. Red soil is in red color due to the presence of
(A) Iron
(B) Sulphur
(C) lodine
(D) Mercury
(E) Answer not known
FeuLiy et @) HLILISTD FauLil] BIDsSHed 2 ararg)
(A) @aLoy
(B) spssL
(C) = Guimg eir
(D) Quwigs
(E) u®ed Qsfweledenev

38. The soils and rock strata that are capable of holding water are
(A) Aaquicludes
(B) Aquifers
(C) Watertable
(D) None of these

(E) Answer not known

17



saantars G558 mausEL BneT QST e LHDILD LTemn (&GS
(A) sigalsan ab

(B) Bipewavsair

(C) 5 Guoews

(D) @aau aigiayib @ademay

(E) uBa QsAwaledama

39. In Tamil Nadu which one of the following river basins has petroleum reserves?
(A) Periyar Basin
(B) Kaveri basin
(C) Tamarabarani basin
(D) Vaigai basin
(E) Answer not known
SIOHBIL 1960 eI 6Ths BHLT Lmssaier QL Grrelu @) LiL g% o ereres?
(A) QuAwng UGS
(B) 81Gauf LG5
(C) srwgLgesfl GLf e
(D) ewouswsLi LG5

(E) u®a Qsfuaiaenev

40. The soil zone is considered to be great biological factor because:
(A) Great variety of organic compounds are generated in the soil layers.
(B) Necessary nutrients are made available to plants from the soil layers.
(C) Soil layer holds water in storage which is used by plants & animals.
(D) All the above.
(E) Answer not known
Lo6wsT LosTL_avih Quflw o ulfwed sryesswnss $bsLILIGS DS 610)6uresey:
(A) west 9 Hs@GsaNed LiedBaim) alemswTer s GFibEIS6T o (HaITSHLILIE R DE.
(B) wair ®sGsaicd QaBBs sturms@rsE Csmeaiwnet sl fsggidsar
DewL_sR a6,
(C) smeugmiser wpmih efewsigser LWGTLIGHSSILD Seaventens GFLSS aud@Lb LesT 2 ()5S
(D) GoBev 2 sirar SyewaTSSiIL.
(E) u®a Qsfwaledemev
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41. A river enters a lake or the ocean, its velocity suddenly diminishes and most of the
sediment load is deposited to form a

(A) Delta

(B) Bajada

(C) Alluvial cone

(D) Pediment

(E) Answer not known

R0 6P @G T YDXF FLQIEG6T BIDPIHDF, ST Cusd FieCIam G®DIDS

LoBDILh QUeHTL_ 60 FeLouleit QLIBL LIGD e o (KaITs@H )

(A) Qe

(B) ggmm

(C) auar_ad gmibLy

(D) @uig @uoesr”

(E) u®a Qsfwaledamev

42. The source rock of Diamond is
(A) Charnockite
(B) Precambrian gnesis
(C) Mica peridotite
(D) Anorthosite
(E) Answer not known
®QUISFGT eLpeULI LITGHD
(A) sriGemensL”
(B) LifGsbLiflwar Qg @ad
(C) ewwssr QUAGL rewL_L”
(D) =yewisBsmenar
(E) u®a Qsfwaledamev

43. In India Regur soil is found in
(A) Deccan Plateau
(B) Indo- Gangetic plain
(C) Himalayan region
(D) Coastal plains

(E) Answer not known
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@BPwraled Qi et sreLiLGH DS
(A) s et LF_yi

(B) @5Csmsmiams Fwbleuaf

(C) @Quuwaa LGS

(D) sL_pseng Fi06auafsar

(E) uge Qsfwaledensv

44. In hill areas soil erosion can be minimized by which of the following methods?
1. Terracing
2. Contour Ploughing
3. Strip Farming
4. Planting Perennial Species
Choose the correct answer using the codes given below:
(A)1,2and 3
(B) 3 and 4 only
(C) 1,2 and 4 only
(D)1,2,3and 4
(E) Answer not known
eeLiL@G@sale et <yfLieoLs 19eTaI LD 615G (LpeDUIET epeid @epnasemd?
1. Qo eoL myg
2. aflafibLy o 1pay
3. 8B eNeusmuih
4. upprg @) ermiser Lo
&G  Qan@ssLiul @erer  @PU@smer  LUSTLGSS — FHuter  LP®WS
Gsipbls HSsaLb:
(A) 1, 2 wpmis 3
(B) 3 wpmith 4 11" ®Guo
(C) 1,2 womib 4 " ®8io
(D)1, 2,3 wsmis4
(E) u®a Qsfwaledamev
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45. Which one among the following is the correct sequence of basins of major rivers of India
beginning from south to north?
1. Tapi
2. Godavari
3. Ganga
4. Kaveri
Choose the correct answer using the codes given below:
(A)2-1-4-3
B)4-1-2-3
©)2-4-1-3
D)4-2-1-3
(E) Answer not known
GpgaeLauppPled 615 CspHedBrEs oL sGs CsTLmE) QBFwraler LaEHw b saeier
LG esselar FAuimer ofens?
1. 519
2. Gsazsmeuf
3. BB
4. s7Geurf
&Gy  Qan@ssLiul@erer  GPu@smer LwSETL@SS — Futer  LD®WS
Gsip6ls HSsaLb!
(A)2-1-4-3
B)4-1-2-3
©)2-4-1-3
(D)4-2-1-3
(E) u®a Qsfwaledamev

46. The river that swings in great S-shaped curves, forming loops are called
(A) Meanders
(B) Oxbow lakes
(C) Levees
(D) None of these

(E) Answer not known
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QuAw S- augau aienerasafad saF@TRIL YD), FLHDSDaT o FaITEGEDS
(A) Qoawr_gai

(B) ydavBur arfsair

(C) sSeiran

(D) @avau argiayLd @adenev

(E) uSa Osfwaledaa

47. Which one among the following is the correct order of the states through which the river
Chambal flows?

(A) Madhya Pradesh — Uttar Pradesh — Rajasthan

(B) Madhya Pradesh — Gujarat — Rajasthan

(C) Rajasthan — Madhya Pradesh — Bihar

(D) Gujarat — Madhya Pradesh — Uttar Pradesh

(E) Answer not known

LareuBeuaTapBled 618 FLHLIG BS) LML TBlewsisanar Fflwmer eouflana?

(A) wsPuwii 998z - 2 S5 197CsFLH - TregawS MG

(B) wsPw 95GseLb - @e0ms - gregedsTe

(C) sngevsnat - wsPw 1978ssib - Lismi

(D) ®egons - wg@uii G - o $a01i 1NCseLd

(E) u®ad Qsiwaledenew

48. Regur soil is ideally suited for the growth of which one among the following crops?
(A) Groundnut
(B) Wheat
(C) Rice
(D) Cotton
(E) Answer not known
e Ludiseled 6156 aueTid@s @ C\u@d et sa b O\LITwbFSLDTesTdE?
(A) Blovgs_emev
(B) Gsragienio
(C) 2179
(D) uws®
(E) u®a Qsfwaledemev
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49. Which one of the following statements is incorrect?
(A) The materials that are deposited on the river bed is called river bed deposits.
(B) The materials that are deposited at the foot hills is known as foot hill deposits.
(C) The finest particles that are deposited on the plains, near the mouth of the river are
called as plain deposits.
(D) None of these.
(E) Answer not known
&L FmDmiFaied 615 SaupTes)?
(A) oppEsIuied LIy EH®BEGL QUL S6T SyBmILLG®SS6T eTeTLILIBILb.
(B) wenew Syigaungs@ed Gami@ujerer QLML ST 919 066V eoaILIL] 6TGSTLILIBILD.
(C) swlaafsaiicd, ypplar ps3s1UMISEHEG AGHD QBGEGL S5EDES Gisarsar
QaupmI eoeuLiLdseT eTaTLiLIBILb.
(D) @avau argiayid @adansv.
(E) uPa QzAwaleema

50. An oval-shaped hill that usually consists of rock debris is called
(A) Till
(B) Drumlins
(C) Eskers
(D) Creeks
(E) Answer not known
QuIgIaUTES LTEDS GLILSMaTS QST @RI QIIGaI LD CTRIDI S LPSELILIBS DS
(A) auewy
(B) gm1b6S)asrard
(C) eravaian
(D) 95Cnreni_ser
(E) ued Qsfualedenev

51. The acceleration due to gravity at the centre of the earth is
(A) Equal to zero
(B) Less than 9.8 m/s2
(C) Equal to 9.8 m/s2
(D) Greater than 9.8 m/s2

(E) Answer not known
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L 0ules eviowEPed miLiLy eflenawned U@L (1pBHSHLD
(A) y2edwsBnG FoLd

(B) 9.8 m/s2 g6 Gewmauneigy

(C) 9.8 m/Is2 g goLd

(D) 9.8 M/s2 o il P sLH

(E) u®ad QsAwaladama

52. With reference to natural vegetation of India, consider the following pairs:

Type of Forest Plant
1. Tropical semi evergreen forest Indian chestnut
2. Tropical moist deciduous Sandal wood
3. Tropical dry evergreen Tamarind

Which of the pairs given above is/ are correctly matched?
(A) L only

(B) 2 & 3 only

(C)1&3only

(D)1,2&3

(E) Answer not known

Q@ pHwraler Qupens sraugsigsearti LDD), LleTeu L Gamy FHenard %o et ) nisar.

QUGS UGN STQUTLD
1. QauLiLipest_ev 9jenT LIS LD WITesT &T(h) QB Fay6lsm enr_
2. QeI 6v FILDTET @)eevBi FBSGT LOJLD
3. GQeILILILDEsTL_6v 2 VT LIF6H LDUWITET Lyarf

GuBev Qasr®ssLiLL Barer Geomig sefed 618 sAwnsLi QUTBESSDSI?
(A) 1w @uw

(B)2 & 3 wi @b

(C)1 &3 wi @b

(D)1,2&3

(E) u®ed Qsfwaledenev
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53. Consider the following statements:
1. Jowar is cultivated as a kharif crop only.
2. Bajra is cultivated as a rabi crop only.
Which of the statements given above is/ are correct?
(A) 1only
(B) 2 only
(C)Both1 &2
(D) None of these
(E) Answer not known
LIGTQUBLD Y195 eSS %66 B e,
1. Geomaug srfo%Li Lulgns wi' GG LA LiLuGHDS.
2. ughgm gm9 Ligs wi G Gw LA LILGSDS.
BB QsTRESLILIL HaTar spnisaied 615 Ffwmarg)?
(A) 1w @uw
(B) 2 o @b
(C)1 &2 @uas®id
(D) @aver arsiy1i @abevay
(E) u@ad Qsiwaledamev

54. Which one of the following is not a tree of Himalayan Forests?
(A) Ebony
(B) Indian birch
(C) Spruce
(D) White willow
(E) Answer not known
196TeuHaIeTRIBM6) 6151 @)ouIbenews STHFENGT LoILh 9jedew?
(A) s@misTes
(B) @58w L9ié
(C) abLicpab
(D) Qausirenar alled Gevr
(E) u®a Qsfwaledamev
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55. Consider the following statements:
1. Black leopard can be found in Western Ghats.
2. Snow leopard found only in Arunachal Pradesh.
Which of the statements given above is/ are correct?
(A) 1only
(B) 2 only
(C)Both1 &2
(D) Neither 1 nor 2
(E) Answer not known
LIGTQUBLD Y195 eSS %66 B e,
1. Gup@ BT 38 weeued & E5PDISE®S® W STETTLD.
2. symemrése 197385588 L HCw sreLiL@GL LaNEPDISmS.
BB QsTRESLILIL HaTar spnisaied 615 Ffwmarg)?
(A) 1w @uw
(B) 2 o ®Guo
(C)1 &2 @uas®id
(D) 1 oyy@avgs 2 @evemev
(E) u@ad Qsiwaledamev

56. The settlements situated in the flood plains and alluvial plains.
(A) Compact
(B) Nucleated
(C) Grouped
(D) High land settlement
(E) Answer not known
Qeuarer Fo0leual LOHMILD auesTL_60 FLOGUaNHaTN6) 96HLDBSIGTET @ L9 ull(HLIL|SET.
(A) ¢85 o167
(B) w1emussm
(©) swpans
(D) 2wi pové @1y CuppLd
(E) u®a Qsfwaledamev
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57. In longitudinal waves, the particle vibrates in a --------------- direction of propagation.
(A) Parallel
(B) Perpendicular
(C) Curved
(D) Parallel as well as perpendicular
(E) Answer not known
T A T T T T E——— Lgayh Densuied Bi s
(A) @evewr
(B) Qsrigssrs
(C) umanps
(D) @avant woppith QsmiGsSsTs
(E) u§a GsAwalaame

58. Minor celestial body revolving around any one of the major celestial bodies is called as
(A) Meteors
(B) Binaries
(C) Satellite
(D) Stars
(E) Answer not known
Quilw euner o L eselled alsaid @eTenmd HHH @B FPlw eures oL 60 Qaiammny
D PSSLILIH S DS
(A) efesansar
(B) evuimflaid
(C) QswpenssGsmar
(D) pLleg@umisar
(E) u@ad Qsiwaledamev

59. The Skylab launched in the year
(A) 1971
(B) 1973
(C) 1979
(D) 1967

(E) Answer not known
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abensBevLl oyew() OBT_EsLiLL L g
(A) 1971

(B) 1973

(C) 1979

(D) 1967

(E) US> QsAwaledena

60. The escape velocity from the surface of the moon is
(A) Greater than the escape velocity from the surface of earth
(B) Less than the escape velocity from the surface of earth
(C) equal to the escape velocity from the surface of earth
(D) zero
(E) Answer not known
Blevadlesr Copugtitfed @wppa sLIL%EGw GausLd
(A) yuier Cupurtitfe @wrs sLILEGL Causgms ol B sLd
(B) yllufieir Gopuriilfed @bEs sL95GL Caussms all Gmpauters
(C) yiluiesr Gopumifed @bBs sLIL95EL CaissEnE FLoLb
(D) weswis
(E) u®ad Qsiwaledemev

61. Torrey Canon is famous for
(A) Gulf war
(B) Oil spillage
(C) Industries
(D) Electrical Potential
(E) Answer not known

GGy Gaarre 1AL TS
(A) awemengLm Guig

(B) sresrQemrus Py

(C) QOsmfcosair

(D) Wair sypmed

(E) uBed OsAweladene
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62. Hydrocarbon vision 2025 is associated with
(A) Storage of petroleum products
(B) Euro | & Euro 11
(C) Greenhouse effect
(D) none of these
(E) Answer not known
manL Gr smiueT aflapar 2025 QsmjyemLwsg)
(A) OuL Grredw QUL safler GaiLiy
(B) wyGor | & yGor 1l
(C) &faranayed afleneray
(D) @avar ergiayid @adene
(E) u§a GsAwalaame

63. Which of the following statements are correct?
I. The two important oxides of carbon are carbon monoxide (CO) and carbon dioxide (CO>).
I1. Carbon monoxide is a colourless and odourless gas.
I11. Carbon dioxide is colourless and odourless gas.
IV. Solid carbon dioxide also called dry ice.
A&V
B) 1l & I
(C) All of these
(D) None of these
(E) Answer not known
L9&TaUBLD FnpmBaNed 618 FHw mea?
l. srjueher @uew® psPunrer ysema®aer smiuea Gurammsams® (CO) wpmib
smiLer e gysama® (CO2) @y@ib.
I. smiLes Goreigeans® g DB oHmILh LDETLOHD e/,
. sriLeT eoi_ 9 Fams® Biopn PmIL LDETOBD Gy,
V. 9L smiue oL oyses® 2 ips Liah eTaimi e ipssiLGEns!.
(A) | & IV
B) 1l & I
(C) @emeu ymansgiLs
(D) @avau argiayid @adanev
(E) u®a Qsfwaledemev
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64. Identify the incorrect statements regarding Kepler — 186f
I. Satellite sent by NASA to explore Mars
I1. New planet that was discovered in our solar system
(A) lonly
(B) Il only
O 1&l
(D) None of the above
(E) Answer not known
QaLicod - 186 Qsr_jurer saipres ofsamasemen e wmerh sreayLb
| .Qeaiaimi Dossems oyamu prer oeLiu QswpenssGsmer
. Biogi @Aw GOLLSHO® seT@LIgssLILC L Bw Dysd
(A) prer @b
(B) Il i @Gub
C)1&11
(D) GuoBev ergyaywd @a@ema
(E) u®a QsfAwaledamaev

65. To provide relief to the flood victims of Kedarnath, the operation launched by the Indian
Army is known as

(A) Operation Teerthraj

(B) Operation Surya Hope

(C) Operation Bhageerathi

(D) Operation Sainya Sewa

(E) Answer not known

Ga5mipTs Qassrarssned LTHESLILL L aIise5s@ BoiTIent aipmis, @)FSw gremaid

QST EISW BL_0119 5605 6165 e pEFLILIEG DS

(A) o uGreapar §igsmme

(B) oyusGragair giwr Gammi

(C) @ Grayar LTETS)

(D) @yuGrauesr eoaatu Gaaum

(E) u®a Qsfwaledamev
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66. World’s largest solar telescope is constructed in which of the following place?
(A) Ladak
(B) Punjab
(C) Hyderabad
(D) Bangalore
(E) Answer not known
2 w@er 1AsLIOLAW @AW OsTereCETs8) aTaimd 56 @)L SSe L L LiLL Gererg?
(A) g
(B) w@hemL
(B) wansrming
(D) Qumisear
(E) u§a GsAwaladame

67. The first country to launch the primate into space
(A) US
(B) USSR
(C) UK
(D) Iran
(E) Answer not known
e 7B e alawGlaiens@ SepLitiu (s BT
(A) y.c1ad>
(B) USSR
(C) 4G5
(D) et
(E) u®a Qsfwaledamev

68. Which of the following is the name of the 1st complete bionic man?
(A) Paul
(B) Smith
(C) Rex
(D) None of these

(E) Answer not known
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esreumeuasauppled leug wppewowmer LGuwreds esflgesfier GlLiw i 615/?
(A) L

(B) ov93

(C) Qusad

(D) @wau argiai @adever

(E) uBed Qsfuwaiedema

69. What is the name of the asteroid which passed very near to the earth recently?
(A) 2012DA14
(B) 2013DA15
(C) 2013DA16
(D) 2012DA16
(E) Answer not known
FIBLSDD L4105 1% BH® Qaain PmiGarefar QLiwi eTeien?
(A) 2012DA14
(B) 2013DA15
(C) 2013DA16
(D) 2012DA16
(E) u®ed Osfuiededenaw

70. The world’s largest concentrated solar power plant is situated in
(A) Spain
(B) Abu dhabi
(C) Rajasthan
(D) Sahara
(E) Answer not known
o w@ar s LA Qedlay’ L Ll L @Rw 6T Blavevwith S LoESeTons)
(A) v Liufesr
(B) @iysma
(C) pnggavgmeir
(D) gammgmr
(E) u§a QsAwalaeme
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71. Which of the following is the 2nd woman from china to go into space?
(A) Liu Yang
(B) Wang Yaping
(C) Changchang
(D) Shaoging
(E) Answer not known
eresmpaieTaiphled Feralealmrg alaeaens s Qe 2eug Gt wr?
(A) Sy wrm
(B) aumm wrilfm
(C) gnmignm
(D) Gagns@mi
(E) u§a GsAwaladame

72. World Water Day is observed on
(A) March 23
(B) March 22
(C) March 24
(D) March
(E) Answer not known
2 & awen] HeiLh SjaiFREsLiLG RS
(A) womjs 23
(B) womig 22
(C) womig 24
(D) wris
(E) u®a Qsfwaledamev

73. World Ocean Day is observed on
(A) June 14
(B) June 8
(C) June 20
(D) June 21

(E) Answer not known
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2 WLl QUBEISL ) Daid yeFRSsLILIB DS
(A) gr0eir 14

(B) groair 8

(C) egoair 20

(D) g0 air 21

(E) u®ed Qzfwadedene

74. Which of the following is the consequence of climate change related warming rivers?
(A) Changes in water salinity
(B) Changes in fish migration patterns
(C) Changes in pathogen load
(D) Changes in contaminant levels
(E) Answer not known
srBlee wIHL Qsm_Lmer Qaliuwwiised ypiselar alemars) L9e@me (e eTabBle 615)?
(A) Bi 2 LiyggeienLo orppEisair
(B) 8eir @) 156G Liwifey wpewpseied LomppEiser
(C) Crruis® Ll Hevio Lompmmisar
(D) wrs ey orppEiser

(E) u®a Qsfuaaenev

75. The Chairperson of National Disaster Management Authority is
(A) Prime Minister
(B) Home Minister
(C) The President
(D) Defense Minister
(E) Answer not known
GasPw Gufi_j Goevresitenio 2SS FeavalT
(A) Sogiod
(B) 2 eigievm jewindai
(C) gar®ug
(D) ungysnLiLy sjewwdsd
(E) ufa Qsfwaladena
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76. The most important schedule tribes of Uttar Pradesh and Uttarakhand

77.
(A) Red soil

(A) Todas

(B) Nagas

(C) Santhals

(D) Tharus

(E) Answer not known

2 350191GsF1d WPDID ° SFIS@IL. WIH®SHET 106 (PSHWLOTET ST 3L L aIeaT
LipEi g il et

(A) Gzm_mad

(B) prsiser

(C) sngsmevad

(D) smgaw

(E) uPa QzAwaledema

soil is found in all the districts of Tamil Nadu except Nilgris

(B) Black soil

(C) Laterite soil

(D) Sandy soil

(E) Answer not known

Bv@Aews el s101FSB T Yyeoaissl reil L FHselayh e SreliL@ s
(A) Sauriny et

(B) s@LiLy st

(C) Gavi’ L_enpL” Loasr

(D) woawrad Hanps

(E) u@ed Qsiwaledamew

78. ldentify the option in which the rivers are given in North-south sequence

(A) Godavari — Mahanadi — Kaveri — Krishna
(B) Mahanadi — Godavari — Krishna — Kaveri
(C) Krishna — Kaveri — Godavari — Mahanadi
(D) Kaveri — Godavari — Mahanadi - Krishna

(E) Answer not known
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UL EG-0sp@ wuflamsuiled BHsaT GCerTRSsLILL Rarer NBLLS®S 6L WTGTLD
FHTGRTRLD

(A) Garzsmauf - 1B - 7GR - & akewTT

(B) w3159 - Ganzsmauf - S papentt - s1Gauf)

(C) @@awewm - 31Gauf - Gangmauf - FTHS)

(D) s1Gauf) — Gangnauf — 0&ABES) — &) (hauewTT

(E) uga Qsfwaledema

79. Which of the following rivers originate in Karnataka?
I. Bhavani
I1. Palar
I11. Pennaiyar
IV. Cauvery
Choose the correct one
(A) 1, 11, 11
B) IV, 1,1
© v, 1
(D) I, 111, IV
(E) Answer not known
areupLd BRSO 618 SIBTL_STaled o HLUSSWTHDS?
l. uaireh
. Lmevmg
1. @ uiessten esstusmi
V. grai)f
sflwnerens Gsip6ls B misar
(A) 1, 1,1
B) IV, 1,1
©) 1, 1v, 1
(D) I, 111, IV
(E) u®a Qsfwaledamev
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80. The National Tsunami Early Warning System has been set up by the Government of India at
(A) Andaman & Nicobar
(B) Gujarat
(C) Hyderabad
(D) Tamil Nadu
(E) Answer not known
GaPuw seid) 1pei s1dFAGems YevioLiL] QBHW HIFTed e SFLILIL BaTans)
(A) oypswrer & B&Gsmumg
(B) ©egons
(C) @anggmng
(D) s0551®
(E) u®a Qsfwaledamev

81. Which of the following sea has highest salinity in the world?
(A) Mediterranean Sea
(B) Black Sea
(C) Dead Sea
(D) Red Sea
(E) Answer not known
L&raupLd SLsaled 2 R B o LIL|SSETLID o GTaT HL_6D 6157
(A) wsBwgmrs s1_ad
(B) s@misL_ad
(C) saugsL_a
(D) @smizL_a»
(E) u®a Qsfwaledamev

82. Which of the following State has the Longest Sea Coast?
(A) Andhra Pradesh
(B) Kerala
(C) Maharashtra
(D) Orissa

(E) Answer not known
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erau@pLd 61b& LoABLH A& BTN SL_60 SL_HEH®Ie s 0% Tt (H aTarg)?
(A) 25801 95CseL)
(B) Gsgarm
(C) wargmag g
(D) @der
(E) uged Qsfwaedenev
83. Which is/are correct?
1. Red soil is the largest soil group of Tamil Nadu.
2. Black soil is the largest soil group of India.
(A) L only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
o135 FAwrens?
1. 301ppr 19T LASLIQLIAW et @ 1paITeng PaLiL] LoewT.
2. sioes @)pSwneder LAsLiIOLAw e @&1paITEL.
(A) 1w @uw
(B) 2 w1 @b
() 1 wppiih 2 @uainus
(D) 1 wyedavg 2 @adena
(E) ufa QzAwaleema

84. Which of the following are evidence for the Plate tectonic movements?
1. Folded mountains
2. Gravitation of Moon
3. Mid Atlantic ridge
4. Climate change
5. Fossils
(A)1,2and 3
(B)1,3,4and 5
(©)1,2,3,4and5
(D)1,3and5

(E) Answer not known
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OefraBaaaBe sU 0 QL EGL 1l ojmsasa56E asmib a5l
1. 101955 Loewevsar

2. sp@geen miLiy

3. WEPW oL ety LS.
4. srevBlevev oMOMLD

5. LiengLIg aImIGe.

(A) 1,2 wpmib 3

(B)1, 3,4 wpmid 5

©)1,2,3,4 wpmip 5

(D) 1, 3 wpmiH 5

(E) uBe> QsRwededena

85. The headquarters of the North Eastern Railway is at
(A) Jabalpur
(B) Allahabad
(C) Guwahati
(D) Lucknow
(E) Answer not known
QUL Dipdi@ 119 Banudet seeenLowisih @b o sireng
(A) guediyd
(B) @rvsmung
(C) suanmss)
(D) ov&Gasr
(E) u@ad Qsiwaledemev

86. Match the following:

List | List I
a) Algae 1) No special roots, stem or leaves
b) Bryophyta 2) No true roots
¢) Pteridophyta 3) Spore bearing leaves
d) Spermatophyta 4) Seed bearing plants
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a b C d
(A) 2 3 1 4
(B) 1 3 2 4
© 3 1 2 4
(D) 1 2 3 4
(E) Answer not known
Heres@pesaraipeapLs O)LTBSS!.
L gwe | U gwed 1
a) und 1) Ppiiy Gougserr, 1R ydag @)eeaar @)eamev
b) L9 rGumeseni L 2) o aswewiowires Gaugser @)edene
C) e QL ABLmoewiiLm 3) osa1 srEIGL @)mavsar
d) a5z ey 4) afevs FMEIGLD STaITEIGET
a b C d
(A) 2 3 1 4
(B) 1 3 2 4
© 3 1 2 4
(D) 1 2 3 4
(E) LD e QsRwaeleeme

87. Which one of the following statements is wrong?
(A) Charcoal is formed when wood is heated strongly in the absence of air.
(B) Coke is formed when coal is strongly heated in the absence of air.
(C) A typical fullerene, named as buckminsterfullerene has 60 carbon atoms.
(D) None of these
(E) Answer not known
HerapLd spniseiled 618 aiprarg?
(A) smpp @edewrs Blevaulled wrgms aigiains GLTsELGLTS S o BTSS!,
(B) simpmy Qeowns Bowulsd peossiow  aeians  @GLiéewGurg  Gsns
o BUTHDS).
(C) wsidaabi_gobjedevdfear eter QAL LU L g Quigames osd@afeaiad 60
SMILIGT  9|eIS5aiT 2 aTerTe.
(D) @eau a1gyayid @Gadeva
(E) u®a Qsfwaledamev
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88. Which one of the following statements is not true?
(A) Methanol is also called wood alcohol.
(B) Ethanol is used as solvent for organic compounds.
(C) Acetone is used as a solvent and also in nail polish removers.
(D) Formic acid is present in Rancid butter.
(E) Answer not known
L& (BLD FopMISANG 6TS 2 GETEN LOUIGGV?
(A) Qoggarmed Ly ®SADTE GTRTNILD Y LPSSLILIBBDS).
(B) 8flo Gaiomis@ps @ SILILITGTTS 1SaTT LWGTLBHSSLILIBS DS
(C) 9L GLrerr @ sewoLiLmenseb, G puiled LTelal DS LWGTLIGHSSLILIBS DS
(D) 51659 Qaus@amruliled o>LimiLfls ojflevid o airarg).
(E) u§a GsAwalaame

89. Of the following which are anaerobes?
(A) Bacteria, yeast
(B) Bacteria, green plants
(C) Yeast, Fungi
(D) Green Plants, yeast
(E) Answer not known
asreupaueTaupBled o GerGumLisen?
(A) urgie fwr, Fev”
(B) unsie flun, Luses sTaugsiser
(C) rabi’, y@ams
(D) usens sraugmiser, mabdL"

(E) u®a Qsfualaenev

90. Which one of the following Adulterant is used Grains, Spices & Pulses?
(A) Papaya seeds
(B) Rotten pepper
(C) Kesari dal
(D) Marble chips

(E) Answer not known
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e seluLEsefled g STalUBSeT, LFTOT LODILD LUGLL  UHESaT

LWSTLRSSLILGSDSI?

(A) uLiLref afensser

(B) @1p@uw e

(C) Gaaf LmLIy

(D) wriiar Hadesar

(E) u®a Qsfwaledamev
91. The Khapra Beetle infects:

1. Rice

2. Groundnut

3. Beans

4. Crude Rubber

(A)1,2&3

(B) 1 & 3only

(C)1&2only

(D)1,2,3&4

(E) Answer not known

SUIT auei(p) QsTHDID DS

1. 7@

2. HovEsL_eoev

3. Lfevraw

4. sggm gLiLg

(A)1,2&3

(B) 1 & 3 0" ®Grio

C)1&2 " ®Giw

(D)1,2,3&4

(E) u®a Qsfwaledamev

92. Goiter disease established due to lack of mineral.
(A) Sodium
(B) lodine
(C) Calcium
(D) Phosphorous

(E) Answer not known
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SngIL LupprsGepwred Camulill L g Grmul Blojeutivi 'L g.

(A) Germig wiih
(B) <y Guimger
(C) srev@wib

(D) LimebLizab

(E) uged Qsfwaledenev

93. Which one of the following is not a characteristic of Annelida?
(A) Segmented body
(B) Excrete by nephridia
(C) Hermaphrodite
(D) Muscular Foot
(E) Answer not known
eameaTaupBle 6151 2Qaredmafler ApLifweL) sjee?
(A) OAgaLiuc L o1 e
(B) @poLifigur epavtd Qaraf GuppLiL®@ng
(C) QamiomesLiGrranL "
(D) sevs smed
(E) u®a Qsfwaledamev

94. Match List | with List 1l and select appropriate answer from the codes given below:

List | List 1

a) Sponge 1) Porifera

b) Starfish 2) Echinodermata

c) Fish 3) Chordata

d) Humans 4) Chordata
a b C d

(A) 2 3 1 4

(B) 1 3 2 4

© 3 1 2 4

(D) 1 2 3 4

(E) Answer not known
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ulguwe leg ulywed Il o ar Qurms®, G OCsr@®ssLiLL Berar Gpluf®sale

Qs COuTBsSLIRT LUFs Cshk0)sHSSa LD:

L g uied | L g uied 1

a) LB 1) QU@L
b) B #5@i8ar 2) 188 Carn@ LGl L
C) Bair 3) GamfLm L
d) wehsisar 4) GamiGLL L

a b C d
(A) 2 3 1 4
(B) 1 3 2 4
©) 3 1 2 4
(D) 1 2 3 4
(E) LB QsAwaledamev

95. Which of the following statements about Blue Green Algae is/are true?
I. The cells of Blue Green Algae are Prokaryotic.
I1. The storage food product of Blue Green Algae is Laminarin.
[11. The membrane bound plastids are absent in the cells of Blue Green Algae.

IV. Flagella are absent in Blue Green Algae.

(A) Il & IV
(B) 1 &I
©ne&li
O) I, 111 & IV

(E) Answer not known

fov Lides ayest LBHL Hetauaih wmppiseai a1g 2 el s aienowimens?

l. Bov LFews gyevsTaler CFawsar LCrmeriGumy s @ Lb.

1. Liee & fair gy evsmallar GailliLy o ewrey swrilLiy Gevidlesfler oy@Lb.

. aiey Devemrgasin L Deammady L saT Fev LIFems YedsTalar CFwsaled @) eama.

V. Lican et gevsmalled Qsmyser . @aarseal.

(A& IV
(B)1&1I

(C) 1 & I
O) 1, 11 & IV

(E) uga Qsfuwaledensev
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96. If excess fertilizer is applied to a plant without water, the plant will
(A) Be stunted in growth
(B) Develop modifications
(C) Die due to plasmolysis
(D) Remain unaffected
(E) Answer not known
sewenti @evevns CFigs@ P sLiLiguret o gib Gum L red Qg
(A) auarié® sanL_LiG1Lb
(B) wippmisemen o haird@sed
(C) HerrabGoredPabd sreniions @)paésaLd
(D) un@ssLiL_mbed @) EISeT

(E) uged Qsfweiedenev

97. Which one of the following is used in large quantities in the manufacture of ammonium
sulphate fertilizer?

(A) Apatite

(B) Dolomite

(C) Gypsum

(D) Pyrite

(E) Answer not known

b Guralu FwGUL ogh swrflifed Leruguauphes a5 HHs yaraled

LWL RSSLLGEDSI?

(A) oy 1

(B) Gr_meveninL”

(C) ghuisus

(D) eoLicom”

(E) u®a Qsfwalaenev

98. Which of the following is/are the characteristics of Tundra biome?
1. Dominance of annual plants over the perennial plants.
2. Very common presence of lichens and mosses.
3. Presence of musk oxen, hares and lemmings.

Select the correct answer using the code given below:
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(A) 1only
(B) 2 & 3 only
(©)1&3only
(D)1,2&3
(E) Answer not known
areupausTaupBled 618 L et gm LGumer OpLifwedLsar?
1. uppis SreuEiseier g au@LTBEET STeuTsisener o EssLb.
2. wvsaiser wHnith LUTRSear sab QLngames @) HLiL.
3. sevgrf erpgiser, (pueser PmiL Qevibiflmied @) HLILIS.
GG Qsr®ssLiLL RaTter @GPl e Li tweiu®sS sflwrer uFamevs Cshmb0)sHSSa LD
(A) 1w @uw
(B) 2 & 3 0" ®Grio
(C)1&3 " ®Gw
(D)1,2&3
(E) u§a GsAwalaame
99. Consider the following statements:
1. Black leopard can be found in Western Ghats.
2. Snow leopard found only in Arunachal Pradesh.
Which of the statements given above is/ are correct?
(A) L only
(B) 2 only
(C)Both1 &2
(D) Neither 1 nor 2
(E) Answer not known
LAGSTQUBLD 9191560 HH T %66 B aiT.
1. Gup@ Qa1 58 wevewuled & EHPnISMSW HTTELD.
2. yympemmise 19C8s555F6 LGB sreLiL@L LalFnIsSms.
BuBe Q&TRSHLILIL B eTer g ppisaied 615 Fiuwimerg)?
(A) 1w @uw
(B) 2 o1 ®Cuo
(C) 1 &2 @uaw@uid
(D) 1 syedevg 2 @evenev
(E) u®a Qsfwaledamev
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100. Plants capable of performing photo-synthesis belong to which one among the
following types of organisms?

(A) Heterotrophs

(B) Saprotrophs

(C) Autotrophs

(D) Chemoheterotrophs

(E) Answer not known

pafdGaisems Qeuiy Spar QareL sreaugsiser e o Namseled e1bmersd

GiBsama?

(A) a5 GLnGurL GaLiser

(B) #i@grL GrrLiab

(C) @y G GunLiser

(D) 0s8wr@an. GLrGrrLGrrLiab

(E) u®a Qsfwaledamev
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Group IV — Geography 2 - Key
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TNPSC @gepei 1V
Geography

Time: 2 Hrs Marks: 100

Instructions

1. Immediately after the commencement of the examination, you should check that this test
booklet does not have any unprinted or torn or missing pages or items, etc. If so, get it
replaced by a complete test booklet.

2. Do not write anything else on the test booklet.

3. This Test Booklet contains 100 items questions. Each item is printed in English. Each item
comprises four responses (answers). You will select the response which you want to mark on
the Answer Sheet. In case you feel there is more than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

4. You have to mark all your responses ONLY on the separate. Answer Sheet provided. See
directions in the Answer Sheet.

5. All items carry equal marks.

6. ATTEND ALL THE QUESTIONS



1. Campaign Clean India was launched by
(A) Ministry of Environment & Forest
(B) Ministry of Health & Family Welfare
(C) Min of Tourism
(D) None of these
(E) Answer not known
gruienio @EBwi gsFmgd OsmL_ Ll L g
(A) SBmIF@1p60 BDILD QIGT S LDFFsHL)
(B) sansmii wpmith G@LOL Fev S0 LoIFaHL
(C) sppivraller GeappsLL s1b
(D) @evau ergiayifladene
(E) u®a Qsfwaledamev

2. Consider the following
1. As per IUCN’s Red list version 2013.2, 15 species of birds from India are critically endangered.
2. The Central Government has enacted the Wildlife (Protection) Act, 1972 for
protection of wildlife including birds.
Correct statement(s)
(A) 1only
(B) 2 only
©C)1&2
(D) None of these
(E) Answer not known
LG5 (1 U TRUD DS & 6ol g 515 T
1. IUCN @& Peuiy uquwed L@y 2013.2 @6 iy, @ESwreled @@ss 15
QUGHSWITET LIDEHQUFGT Y LI1G5Taw Bleneoufed o aTae.
2. Uupeauser o erefl L eueTelewsiGaselar LNgSTLIDSTS WEPw rsF alemelws s
(ungismiing) e ib, 1972g0 @uippujsirers).
FRlwiner oimgeanas(s5em)
(A) 1w @uw
(B) 2 w1 @b
©C)1&2
(D) @avas ersiayabanay
(E) u®a Qsfwaledamev



3. Which one of the following statements about the Chipko Movement is not correct?
(A) The Chipko movement or Chipko Andolan is a movement that practiced the
Gandhian methods of satyagraha and non-violent resistance, through the act of hugging
trees to protect them from being felled.
(B) In 1987 the Chipko Movement was awarded the Right Livelihood Award.
(C) One of Chipko's most salient features was the mass participation of female villagers.
(D) All are correct
(E) Answer not known
ALCsm QuEsd LpPlw LIeTauBLd FPnISeaied 618 FAWTTS 3eO6?
(A) 9UBsr Quésd syedwg PUGsT yEGsTevaT CIGILG FTESW  (LpewDEGTTET
FBPUIRIHD wHDId HPibews aTBiliewLs oL LSS @@ @UEHLD, LIEIGET
QeuL’ L LIl Moed LUNSISHTES UDeDS SL 19 L1119 5@ LD CFWeSeT eLpeuLd.
(B) 1987 @& Q1LiGs1 QusssSn@ 2 Mevio aunpeunsmy afbgl aupBISLILIL L ).
(C) &uGsmaller fls wWeKwwner oybsmsaied em), Guew &SoTweauTHsar
QupLoaraled LIBIGEDLIG.
(D) wrwarsgis sAwnatanar
(E) uged Qsfweledenev

4. The headquarters of National Biodiversity Authority (NBA)
(A) Chennai
(B) Hyderabad
(C) Delhi
(D) Bangalore
(E) Answer not known
GCsQw Lcvguid yememtwsGear (NBA) seoeeowsid
(A) Qsaranar
(B) wamgrriing
(C) OLeaed
(D) Qumiscerni
(E) u®a Qsfwaledamev



5. Montreal Protocol is related to
(A) Genetic diversity
(B) Genetically modified foods
(C) Ozone layer Protection
(D) Wetlands
(E) Answer not known
el fed L Gor GLasme QsaL_fLen L wgy
(A) wrugpr Gaupiin®
(B) e wippliv’L o enreyser
(C) @G o(B3@ LngisTLIL
(D) o Blevmisair

(E) uged Qsfweiedenev

6. The Cartegena Protocol on bio safety was signed in the year
(A) 2000
(B) 2012
(C) 2013
(D) 2001
(E) Answer not known
o u9f LngIFTLIL GBES ST1iCL Qgert QB Lpeom Spest® e&QwmiLd Ll L g
(A) 2000
(B) 2012
(C) 2013
(D) 2001
(E) u®a Qsfwaladena

7. Who was the head of the Western Ghats ecological panel?
(A) Madhav Gadgil
(B) Udayakumar
(C)MSaGill
(D) Narasimhan

(E) Answer not known



Gp@ QST & weoev HDMIFELH & LpalleT $evevaud wmj?
(A) wrzear sm Hed

(B) 2 sui@iomi

(C) e11d e10d B

(D) pofibioesr

(E) uged Qsfwaledenev

8. The first state to establish calamities relief fund
(A) West Bengal
(B) Karnataka
(C) Kerala
(D) UP
(E) Answer not known
Cuil_g ploungent pFew Blpieflu LpSe rplevLd
(A) Gup@ aumisTeLd
(B) sipm_sm
(C) Gsgaorm
(D) 2.9
(E) u@ed Qsiwaledemew

9. First genetically modified Food product in India
(A) Bt Cotton
(B) Bt. Egg plant
(C) Bt Tomato
(D) None of these
(E) Answer not known
@Bwred L L LAPPLILL L o araLi Qurmar
(A) Bt u@SS)
(B) Bt. 539 0gsmui
(C) Bt sgsmaf
(D) @eves criayBadaney
(E) u®a Qsfwaladena



10. What is the expansion of TAPI?
(A) Turkmenistan- Afghanistan- Pakistan- India
(B) Tibet- America- Poland- Ireland
(C) Turkey- Africa- Palestine- Italy
(D) Tibet- Afghanistan- Pakistan- India
(E) Answer not known
TAPI @ar ellfeurssis ereres?
(A) giigiflafoabse oy lisrelabsre- LT absTer @)BSwim
(B) 80ug- oG wigst Curmwps- suiowTss
(C) 31359~ LR sasm LTewebSais- @)ssTel
(D) 80ug- 9y LisTafebs e LTHevETE- @)BSwIT
(E) uPa QsAwaleea

11. Match the following:

Tribes Place

a) Brogpas 1) Assam

b) Tiwas 2) Kashmir

c) Helavas 3) Karnataka

d) Konyaknagas 4) Nagaland
a b C d

(A) 1 2 3 4

(B) 2 1 3 4

© 4 1 2 3

(D) 4 2 1 3

(E) Answer not known

LesreupeueaipenmLi OLITHSS o LD:

LiLpmi@ g uilestd @)1 b

a) LiGgrdLmen 1) oygmib

b) @aurad 2) snapLS

C) Qanwauisaer 3) sipTLsm
d) Qsrerwnsprsred 4) prsrevnEg)



a b C d
(A) 1 2 3 4
(B) 2 1 3 4
© 4 1 2 3
(D) 4 2 1 3
(E) LB Qsfualadama

12. World Wetlands Day is observed on
(A) Feb 2
(B) Feb 4
(C) Feb 24
(D) Dec 11
(E) Answer not known
2. & FT Flov GeiLd 9 a@isflesLiLb S ng
(A) Iigeud 2
(B) Wigeus 4
(C) Yigeun 24
(D) spug 11
(E) u®ed Qsiwaledemev

13. Consider the following statements:
1. Ramsar convention is an international treaty to protect the freshwater habitats across the world.
2. Ramsar is a place in Turkey.
Correct Statements:
(A) 1only
(B) 2 only
(C)Both1 &2
(D) Neither 1 nor 2
(E) Answer not known
LIGITOUHLD YW FHFSHE TS F 6L 6siIL| MBI 6T,
1. gmbsd wapr® eI&ILG 2 @WSLD PUPRUGILD 2 @TaT FeTel TP BIFHeETL]
LTS TULISDHETET (5 FieuGHF LILIBSLOTGHLD.

2. guLbETT HIHESH U 2 6iTar Gp(h @)L LD.



FRwner yBsamasar.
(A) 1 @G

(B) 2 @b

(C) 1 &2 @uaw@id

(D) 1 syevavg 2 @avava
(E) u®a Qsfwaledamev

14. Government of India has declared year 2013 as
(A) Heritage conservation
(B) Earth conservation
(C) Water conservation
(D) Sparrow conservation
(E) Answer not known
@BGw s 2013 b Yair_ns oypaiisgiaiers
(A) umgbfu Lingsmliy
(B) yd ungysmiy
(C) 5 ungsmivy
(D) e@af ungismiy
(E) u®a Qsfwaledamev

15. World Earth hour is organized by
(A) WHO
(B) WWF
(B) FAO
(D) IMF
(E) Answer not known
2 s 11 weslGpad apuT® Qeuiwiul G erers
(A) WHO
(B) WWF
(B) FAO
(D) IMF
(E) u®a Qsfwaledamew



16. Which of the following statements about respiration is correct?
I. Respiration results in loss of dry weight in plants.
Il. The intermediate chemical reactions in the breakdown of sugar in respiration and
synthesis of sugar in photosynthesis are much the same.
I11. The oxygen concentration not known to affect respiration.
IV. Respiration is a constructive process.
(A) I, Il and 1V (B) Il and 1V
(C)land 1l (D) land 111
(E) Answer not known
FeuneLh LB L9GTaIBL S ppisaied 618 FflwTarg?
l. #eunad greugmiseaie 2 i etenL @)pLiL) THLIBS DS
. #eunsg@ed sigsampuiear wphey wPmih galdGsigamsuiies Fisseguiar Ggm@LiL
AFweapPled @ewL_pleney @uFmwet e iallenessar G LorG FluiTerenal.
. oysadlsar QFnley Feaumesams LITHESTZ.
V. seuned @@ ysaLiaores GFwe L.
(A) I, I opms IV (B) Il wpmid IV
©) I opms N (D) | wopmyud I
(E) ufa QsAwaleama

17. Carbon mono oxide is a pollutant because
(A) It reacts with O2
(B) It inhibits glycolysis
(C) Make nervous system inactive
(D) Reacts with haemoglobin
(E) Answer not known
smiuet GurGart 9 same® wrsL®BSSHILD O LITHaTTEL)
(A) @s1 Oz 2. L_air aflew e A&
(B) @81 @warGsradfamavs 5HSESI
(C) putbLy wesr_wgews Qswedipssd Qauiumser
(D) asGron@garriigy)_air aflewary RS mg
(E) u®a Qsfwaledamev



18. Which of the following statements are correct?
I. The two important oxides of carbon are carbon monoxide (CO) and carbon dioxide
(CO2).
I1. Carbon monoxide is a colourless and odourless gas.
I11. Carbon dioxide is colourless and odourless gas.
IV. Solid carbon dioxide also called dry ice.
(A) 1 & IV
(B) Il &I
(C) All of these
(D) None of these
(E) Answer not known
&TaumLD Fmppisaied 618 FhwTarg)?
| smivuefer @uew(®) wpa@wires ysms@ser sriuear Gurammsems® (CO) wpmib
smiLer e gysema® (CO2) @y@ib.
. smiLe Goreinsama® e BDLPm HMIL LETLOBD ).
. sriLeT el 2 Fam&® Hiwpn wPILD DETOBD ).
V. 9L smiue oL yses® o wibs Liah eTenith SeipssLiLIHFDSI.
A&V
(B) 1 & 111
(C) @wou e eiggiLd
(D) @aar ergioydsdera
(E) u@ad Qsiwaledamev

19. Which of the following is not a biopolymer(s)
(1) Starch
(2) Cellulose
(3) Proteins
(4) Nucleic Acid
(A)1,2and 3 only
(B) 3and 4 only
(C)1and 2 only
(D)1,2,3and 4
(E) Answer not known
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eiraumeueTapled 618 LGuTLITEIF (F67) Sada
(1) abr_mié

(2) QesdayGavmad

(3) yssmiser

(4) Blysens oyfevih

(A) 1, 2 wpmis 3 " GG

(B) 3 wopmyis 4 101" ®Guo

(C) 1 wppiih 2 " G1ib

(D) 1,2, 3 wopmii 4

(E) uBad QsAwaladaa

20. Match the following

a) Ozone Day 1. December 1
b) AIDS day 2. September 16
c) Population day 3. July 11
d) Environment day 4. June 15

a b C d
(A) 3 1 4 2
(B) 2 1 3 4
©) 4 3 1 2
(D) 4 2 1 3
(E) Answer not known
Seres@eseraipapLl OGS S b
a) @Gerer Hetd 1. wgapugl
b) eruiL” ab Sewih 2. QeLiL g 16
C) waser Qsrens HreT 3. goaae 11
d) sBmF@wed prer 4. g0 e 15

a b C d
(A) 3 1 4 2
(B) 2 1 3 4
© 4 3 1 2
(D) 4 2 1 3
(E) LB Qsfwaledamev

11



21. Consider the following statements:
Assertion (A) : Bio-sensors detects production of any toxin in body due to infection.
Reason (R) : Bio-sensor converts biological signal into an electrical signal
(A) Both A and R are true and R is the correct explanation of A
(B) Both A and R are true and R is not the correct explanation of A
(C) Alis true; R is false
(D) Ais false; R is true
(E) Answer not known
LIGITOUHLD D) FHFSHE6TSH F 6168 MBI 6T,
wmpn (A): uGur-Qsaisniser GpruigQsmpher sryeions oo aGseib Bis
2 BLEBawE sT_HBDSI
smgewrih (R) © uGuwr Qaerans o ulfuwied #185em ehenw 06T FLOGE GHWITS LOAHDHIRDSI
(A) A wppib R @uesi@ib o esenio wpmith R eraiiig) A @)eit sflwmes efendsid
(B) A wpmib R @ues@id o asrenin wpmid R erarugy A @ar sflwnes aflarssid syedev
(C) A ara@iigy o eenio; 9y eTaTLIG O\Limui
(D) A erairig) seup e, o0 eTeTLIS) 2 awTen Lo
(E) uged Qsfweledenev

22. Which of the following statements is/are incorrect?
(A) China’s 4th Research Station at Antarctica is Taishan.
(B) China’s another research stations are Great wall, Zhongshan, Kunlun.
(C) India’s research station at Antartica are Bharati, Dakshin Gangotri Station, Maitri
Station.
(D). None of these
(E) Answer not known
aitauLd smppisafled e1g1 Seauprersilseapres?
(A) syer_nigsmalled o arar Fastnadle 4eugy L ITUIFH BlewWIL) 0% aHTeT 3, @Lb.
(B) gawmadar opQmris ouomuidd Blevevwmsar G Feul, SMmiayTe, & 6T
(C) wyaw_minsrale o erer @Eurelar yrmuiéd Bevewis LTS, safear smGsTsA
Peveowis, eiosf Heeuis.
(D) @auiies arsidsoama
(E) uB®ad QsAwaladama
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23. India-based Neutrino Observatory centre is going to be established at
(A) Theni
(B) Nilgiris
(C) Tuticorin
(D) Vellore
(E) Answer not known
@pwraled pluy” AGestT Quicy eHOWLD HELOSHSLILIL 2 GTaTS
(A) Gsa
(B) saw&)d
(C) srssiss1
(D) Gaugord
(E) uged Qsfweedenev

24. In which of the following states is lion — tailed macaque found in its natural habitat?
(1) Tamil Nadu
(2) Kerala
(3) Karnataka
(4) Andhra Pradesh
Select the correct answer using the codes given below
(A) (1), (2) and (3) only
(B) (2) only
(©) (2), (3) and (4) only
(D) All of these
(E) Answer not known
eteumd o158 widews@ed PEsD - et QETEWL  10ESTE ASHT @QUIPaS
aumpel_g@ed srenTLiLIHEDSI?
(1) 595516
(2) Gsgarm
(3) sipm_smT
(4) 28011 95GgsLd
&G Car®sELILIL (HaTar @D B senarLi LWL (HSS) Fiflwimest LFemavs
Csip0lsHEsa b
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(A) (1), (2) wopis (3) @b
(B) (2) o @b

(C) (1), 3) opmiid (4) oL B
(D) @eweu yewaiiggib

(E) uga Qsfwaledenev

25. Which of the following latitudes is northern most latitude of India?
(A) 6 degree 45 minutes S
(B) 37 degree 6 minutes N
(C) 8 degree 4 minutes S
(D) 37 degree 25 minutes N
(E) Answer not known
eraimd oL sBrenssale 615 @)ESwralar ai_s@ 16 oL FGrems?
(A) 6 99R 45 Bif_misar S
(B) 37 4.8 6 pld_misar N
(C) 8 u&f 4 Pud_miser S
(D) 37 w97 25 gud_miser N
(E) u®a Qsfwaledamev

26. Which of the following are tributaries of Kaveri River?
1. Amaravati
2. Kabani
3. Penner
4. Noyyal
(A) 1and 2 only
(B) 1, 2 and 4 only
(C) 2and 4 only
(D)1,2,3and 4

(E) Answer not known
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Bpssar_appled s1Gaf ypphlar giement pHsaT wrema?
1. oy

2. sLimest)

3. Quasend

4. Qpruiuieh

(A) 1 wpmiibd 2 i @b

(B) 1, 2 wmmyid 4 wor” HGuo

(C) 2 wpmith 4 or” @b

(D) 1, 2, 3 wppis 4

(E) uBed QzAwaedena

27. Which of the following statements are correct?
1. Tamil Nadu gets more rainfall during south west monsoon than in north east monsoon.
2. Coastal regions of Tamil Nadu get more rain during October and November.
(A) Lonly
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
L9&TaUBLD B DBl 618 FHwimes?
1. L 8pée uGauwapmwu il OsarGupe ugawmpuis Gurg sLOHETEH <55
e penuwiL) QUISnS.
2. slppr e s Gergll uG@seled SEGLTL wHpId FeubLl wIsHEsN KBS
wewip QLiuiub.
(A) 1w @uw
(B) 2 o1 @i
(C) 1 wpmis 2 @uesw®Lb
(D) 1 syedevgr 2 @avema
(E) u®a Qsfwaledamev
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28. Match the correct pair

1. Mango shower - Tamil Nadu
2. Loo - Kerala

3. Norwester - Punjab

(A) 1and 3 only

(B)1,2and 3

(C) Lonly

(D) 1 and 2 only

(E) Answer not known
Fflwmest Geomgeowr QUIThSSa LD

1. wmbLiyp wenip - SLOHBTH
2. a1 - Gagerm
3. priQeuebL g - LI@HFTL

(A) 1 wppuh 3 " @b
(B) 1, 2 o 3

(©) 1 @b

(D) 1 wpmuth 2 " @b
(E) u®ad QsAwaladama

29. Sathanoor dam is located in the river
(A) Kaveri
(B) Tamirabarani
(C) Pennai
(D) Vaigai
(E) Answer not known
FNSSEIT 9|60 DD 69 LDBSIGTOTS]
(A) s1Gaur
(B) smblyLiges
(C) Quicsren st
(D) swauens

(E) u®a Qsfuwalaenev
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30. Which of the following statements are correct?
1. Magnetite is red in colour and has 72 % of iron ore.
2. Hematite is black in colour and has 90 % of iron ore.
(A) 1only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
L9e5auBLD B misaled 618 FHwimeg?
1. Guserent 1" Pautiny BnsSed o eirengy opmith 12% @) @wLbLy Szl 2 cireng.
2. QanwreL L s@LILY HpgSe 2 erarg) wppis 90 % @@LiL 181 2 ararg).
(A) 1w @uw
(B) 2 w1 @b
(C) 1 wpmuib 2 @uew@1d
(D) 1 oyyaevg 2 @aemav
(E) u®a QsAwaledamev

31. Which one of the following countries is the largest producer of iron ore in the world?
(A) Australia
(B) Brazil
(C) India
(D) Russia
(E) Answer not known
eraumLd pr@seled 6155 @@ B1H) 2 WHd BF @) BLOLS 5151 2 HLISS CFuiSnG)?
(A) 2ebB GreSwim
(B) L9Gr9a
(C) @5Bun
(D) pepuwm
(E) u®a Qsfwaledamev
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32. Which of the following statements are correct?
1. Chile is the largest producer of copper in the world.
2. Australia is the largest producer of Bauxite in the world
3. South Africa is the largest producer of manganese in the world.
(A) 1only
(B) 1 and 2 only
(C) 1and 3 only
(D)1,2,and 3
(E) Answer not known
L9eSauBLD B msaled 618 FHwimegy?
1. 2 & BB 85 syaralled 1A 2 PLES Qsuinjd FTE Had).
2. 2 w®CBwCu LG el B sib o HLSH QFuind H1G pev® Gredwm
3. s @ wrEssE o PHLSHUID CFaETLIINSET LS SH o arars.
(A) 1w @uw
(B) 1 wppith 2 L G
(C) 1 wppih 3 " G
(D) 1, 2 wpmns 3
(E) u@ad Qsiwaledamev

33. In which one of the following places of Tamil Nadu, photo voltaic power station is
located?

(A) Nager koil, Kanya Kumari

(B) Kamuthi, Ramanathapuram

(C) Edappadi, Salem

(D) Koodankulam, Tirunelveli

(E) Answer not known

sUlppTigar a6y QL gFed, ymslur  laemipss e plaewd

2L BSIaTaNS?

(A) prss Gamuied, serewim@Lwod

(B) sw8), smopnsLmb

(C) er_riimyq, Gaevrd

(D) onr_migand, b6 pedBarad)

(E) u®a Qsfwaledamev
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34. Which of the following tribes of India used to migrate from plains to mountains and
mountains to plain during seasonal changes?

1. Gujjars

2. Bakarwals

3. Gond

4. Todas

(A) 2 only

(B) 1 and 2 only

(©)1,2,3and 4

(D) 2,3 and 4 only

(E) Answer not known

@BEPWTAINGT SLHSHETL LILPEISGLFafle) 6TBSLI LILpEIG L ulesTd LIhausTev LoD EIsanear GLimg

#10G)eu e uNed) (B B& LD WS @FSGLD Lo &6l S (hhgl FLo0)euais@hs@Ld @)L LbG)\LIwibsesH?

1. @edegisaer

2. LISFaImTeds 6T

3. GamewrL”

4. GarL_résair

(A) 2 @

(B) 1 wpmith 2 o @Gid

©)1,2,3 wpnsd

(D) 2, 3 wpmith 4 wi®Gro

(E) u@ad Qsiwaledenev

35. Match the correct pair.

a. Primary Economic Activity - 1. Gold collar

b. Tertiary Economic Activity - 2. Pink Collar

c. Quinary Economic Activity - 3. Red Collar
a b c

(A) 3 1 2

(B) 1 2 3

© 3 2 1

(D) 1 3 2

(E) Answer not known
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Fflwnest Geomgevw QUITBSSa LD,

a. wsaew QurmertsTy QFweLT® - 1. 3m15 1o

b. epepais Heve Qunmertsry QeuedLn® - 2. 1956 srevi

C. quinary Qummerngmg QFwedLim® - 3. Rauliy saevd
a b C

(A) 3 1 2

(B) 1 2 3

© 3 2 1

(D) 1 3 2

(E) LB Qsfwaledame

36. Eleven-degree channel separates
(A) Cannanore and Amindivi Islands
(B) Andaman and Nicobar Islands
(C) Kachchh and Kathiawar peninsula
(D) Sri Lanka and India

(E) Answer not known
LB Clerip 19 &) Caested L995H DG

(A) sairemaTs wpmiLb ey el Sayser
(B) wipsiwmer HEGsTLTT Saysar

(C) 5¢ wppid ssSueT GuspLLs

(D) @eriens woppid @BHun

(E) uBa QsAwaledaa

37. According to census 2011, tribal population in Tamil Nadu is about
(A) 2 million
(B) 7 Lakhs
(B) 10 million
(D) 1 Lakh
(E) Answer Not Known
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2011 a6 Qsrens sewdQs@Lifag, SWOHBEIL 1960 LPEGLulers 1sseT QFTend Fimi
(A) 2 WedeSwiesr
(B) 7 i s1d
(C) 10 hedeSurer
(D) 1 oo 51
(E) u®a Qsfwaledamev
38. Consider the following statements and which is/are correct?
1. Venus is hotter than Mercury.
2. Venus atmosphere made almost entirely of carbon dioxide.
(A) Lonly
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
LIGTQUBLD Y15 e HE®ENTd %66 EISaiT, 6181 FHwTeTg)?
1. ysaar el aferad QauLiLiorars).
2. afewed eualoesii_eib S L S ApBPeILd FMFLIGT L QYF@FL_Ted Y.
(A) 1w @uw
(B) 2 w1 @b
(C) 1 wopmuid 2 @rawn(is
(D) 1 syedavg 2 @)evenev
(E) u®a Qsfwaledamev

39. Match the correct pair
Planets - Other name
a. Venus - 1. Giant Gas planet
b. Jupiter - 2. Blue Planet
c. Earth - 3. Morning star

a C
(A) 3 2
(B) 3 1
(C) 1 2
(D) 1 3

(E) Answer not known

N W N P, T
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Fflwrest Geomgeow QLIThSSa LD

%) JFmI%H T - Geoumy G Lwg

a. afesten - 1. g &8 aunuy Sosid
b. efwmper - 2. Bev SusLd

C. yif - 3. srewev BLEFSH LD

(A)
(B)
©)
(D) 2 3

(E) L& QsAweeiane

b C
1 2
2 1
3 2

P P, W w D

40. Which of the following is/are correct pair?
1. GPS = US.A
2. GLONASS - Russia
3. Galileo - Europe
(A) Lonly
(B) 1 and 3 only
(C) 3only
(D)1,2and 3
(E) Answer not known

LesreumeuasTaupPled 618 iflwimer Ggomg?

1. gfiara - w. 1o, 67
2. GLONASS - JeWWIT

3. 36968Guim - e @umiiLim
(A) 1w @uw

(B) 1 wopmiid 3 wor” Biid
(C) 3 wL @b

(D) 1, 2 wpmyib 3

(E) u®ed Qsfwaledena
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41. Which of the following statements are correct?
1. Earth is in aphelion during July 4th.
2. Earth is in perihelion during January 3rd.
(A) 1only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
L9e5auBLD B misaled 618 FHwimeg?
1. sp9ewa 4 oy1d Ca@uilesr GLings Lih) oy9edwer Hevevuded o cirerg.
2. sgawraurd) 3 oy GasBuier Guing Lyl QuAGanadwaled o cireng.
(A) 1w @uw
(B) 2 w1 @b
(C) 1 wpmuib 2 @uew@1d
(D) 1 oyyaevg 2 @aemav
(E) u®a QsAwaledamev

42. Which of the following statements are correct?
1. Earth has equal day and night throughout the parts in June 21st
2. Northern hemisphere has shortest day on March 21st.
3. South pole experiences 24 hours day on Dec 22nd.
(A) 1only (B) 1 and 3 only
(C) 3only (D) 2 and 3 only
(E) Answer not known
L9esrauHLD T pmiseled 618 Fwimeg?
1. egoair 21 ouib Go® yewanss LGSsalaid LhsE@ LS WP @)Iey FIDIDTS 2 eTeTs)
2. wmig 21 e aul_5@ 9yewisGsTaTESed GmnIBW BHI6T 2 GaTF).
3. Qe gimpeuLh 195G 22 Syeimy 24 wewh GBr 9je9ILIGIBISaT.
(A) 1 @b (B) 1 wpmith 3 i’ @b
(C) 3 wL @b (D) 2 wopmitd 3 o ®ud
(E) u®a Qsfwaledamev
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43. Lunar eclipse occur when
(A) Moon is between Sun and Earth
(B) Earth is between Sun and Moon
(C) Sun is between Earth and Moon
(D) None of these
(E) Answer not known
FBEST Ruseniid eTLIGLITG eI LIBLD
(A) sp@r6r @ Auais@Lb Lds@L @i uile) o eiranrg
(B) yd G AugmidELd spBaisGL Qe ulled o ararg
(C) @fwar yAdEL spBamIsEL Qe ule o ararg
(D) @avar ergiayid @adane
(E) u®a Qsfwaledamev

44. Time taken to earth for one complete rotation in its axis is
(A) 23 hours 56 min 4 sec
(B) 23 hours 50 min
(C) 24 hours 4 sec
(D) 24 hours
(E) Answer not known
OIS G ST HFFD (I (Lp(Lpew LDWITGST HIPHFF @ 61(H)B5I% 6% mararLii B d GpuLd
(A) 23 wenfiGrpid 56 B _1b 4 G pmig
(B) 23 wewfl 50 Bhudli_1h
(C) 24 wes1Bmyid 4 Gpmg
(D) 24 el GpoLd
(E) u@ad Qsiwaledemev

45. The plate movements are caused by
(A) Gravitation of moon
(B) Gravitation of Sun
(C) Convection in the interior
(D) Ocean pressure

(E) Answer not known
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SL (b w&aysar eIpL (& eTpes
(A) s@refar miLiLy

(B) @ Awalar miviny

(C) o' ypsHa» QauLiLidsaans
(D) Qu@misLod owpssLd

(E) LB QsAwaleama

46. Rayleigh waves are associated with
(A) Cyclonic storm
(B) Local winds
(C) Earthquake
(D) Ocean Tides
(E) Answer not known
gruiGlevud) eV EHaT O\FTL_FLI6HL_WeHal
(A) @prauef Luwed
(B) o-sircaps sy
(C) wIuBsis®
(D) 36 gyedavsar

(E) u®ed Qsfueiedenev

47. The longest rift valley in the world is
(A) The Narmada Rift
(B) The Rhine Rift
(C) The African Rift
(D) Meghalayan Rift
(E) Answer Not Known
2 WEGT LOF HaToreT LI6T6Y LIGTOTSS TS S,
(A) piwsT Harey
(B) engeir L9eray
(C) oL 9As5 Heray
(D) Guareowr 19eray
(E) u®a Qsfwaledamev



48. A country’s territorial water extends upto
(A) 200 nautical miles
(B) 12 nautical miles
(C) 24 nautical miles
(D) High seas
(E) Answer not known
@@ BT ITpSw B ey pew®arerg)
(A) 200 51 ewavsar
(B) 12 5. ewoadsar
(C) 24 5_a» ewipavsair
(D) 2 wii sL_cosar

(E) uged Qsfweiedenev

49. Which of the following is/are correct?
1. Continental rise under ocean constitutes 50 % of the total area under sea
2. Abyssal plain constitutes 5 % of total area under the ocean bottom.
(A) Lonly
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
LTauBauaTaIbBe) 615 FAlwTeTs?
1. 3L a15@ <y uled o oo ST 2 wife) HL_aIs@ 2guled o erer Qorgs LTLiLIeTaNe
50% y5Ld
2. s1_ad@ g uied 2 arer Quorgs LgLitierelled 9j19Fe FoGared 5% oy @b,
(A) 1w @uw
(B) 2 o1 @b
(C) 1 wopmud 2 @ran(id
(D) 1 yedovg 2 @evenev
(E) u®a Qsfwaledamev
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50. Which one of the following is part of Himalayas?
(A) Arakan Yoma
(B) Chota-Nagpur Plateau
(C) Eastern Ghats
(D) Andes
(E) Answer not known
Heraimaarappled 615 @)owwemeuilea UGS wTEL?
(A) @yrgser Gumnm
(B) G L_mprsLy 19146
(C) Dups@ Os1_jd® wevevser
(D) gyesirgad
(E) uPa QsAwaleea

51. Average salinity of the ocean is
(A) 30 parts per thousand
(B) 35 parts per thousand
(C) 250 parts per thousand
(D) 200 parts per thousand
(E) Answer not known
&L_cS\air Fanaf) o LiL 8% e@en Lo
(A) 2uis8515@ 30 LTsEseT
(B) <yufus515@ 35 Lnsmiser
(C) @urgs15@ 250 Lnsmisar
(D) @puing8n@ 200 Lnsmisar
(E) u®a Qsfwaledamev

52. Factors affecting salinity of the ocean water is/are
1. The rate of evaporation
2. Rainfall
3. Upwelling of cold water

4. Ocean currents
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(A) 1,3and 4 only
(B)1,2,3and 4

(C) 2, 3,and 4 only

(D) 1, 2 and 4 only

(E) Answer not known

sL_e0 Shei o LiLGgeenoeow LTHE@GL Hmressiiser
1. gyelwnse aSsLd

2. wepLiGumpey

3. afips bavy 2 wissIsed
4, Qu@psis_ed ECITL L Eiser
(A) 1, 3 wppib 4 o GG
(B) 1,2, 3 womis 4

(C) 2, 3, womih 4 " @b
(D) 1, 2 wpmid 4 " ®Gio
(E) u®a Qsfwaledamev

53. Which is/are correct pair?
1. The Pedro bank - Pacific Ocean
2. The Reed bank - Indian Ocean
3. The Grand bank - Atlantic Ocean
(A)1,2,and 3
(B) 2 and 3 only
(C) 1and 3 only
(D) 3 only
(E) Answer not known
o151 Ffwmer Gaomg?
1. uBSDEHIwD ser - UDLIF QUEHESL 6D
2. BIewIcd Seng - @BSwL QuEBEIFEL_6b
3. S gnewr” Cuimig - YL ety & OLIpmISL
(A) 1, 2 wpms 3
(B) 2 wpmih 3 o HGuo
(C) 1 wpmith 3 " @b
(D) 3 wi @b
(E) u®a Qsfwaledemev
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54. Which of the following is/are cold currents?
(A) Canary Current
(B) Labrador Current
(C) Brazil Current
(D) Both (A) and (B)
(E) Answer not known
eresmaieTaupsled @af $Gom L misar 615?
(A) Gserf) BeTGammL’ L ib
(B) owrigGLnmi thesrGase” L ub
(C) L9Gr®a BL_Liy
(D) @uaw®id (A) wppis (B)
(E) uPa QsAwaleea

55. Which of the following is/are impact of EI Nino?
1. West coast of South America receives heavy rainfall.
2. Southeast Asia and Australia experience dry weather conditions.
(A) 1only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
areupausTaupsled e16d BBerralar S1sHL) 6157
1. Qs 2QwAssrelar Guwp s sLpamiL LGDseied KD wep QLMD
2. Qs&ERps@ QP wm P edS Gredlwm apest_ airafaaeamu 2jeLIeNsR @D e,
(A) 1w @uw
(B) 2 o1 @i
(C) 1 wpmis 2 @uesw®Lb
(D) 1 syedevgs 2 @avema
(E) u®a Qsfwaledamev
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56. Tides are caused by
(A) Rotation of Earth
(B) Gravitation of Moon
(C) Planetary winds
(D) Revolution of Earth
(E) Answer not known
VST GID LI (B B GorD 687
(A) gl sipp8)
(B) #5@refeir mriLiey
(C) &8 smpm
(D) wyfludar Ly &
(E) u®a Qsfwaledamev

57. The only sea surrounded by water in all sides
(A) The Dead Sea
(B) Saragossa Sea
(C) Aral Sea
(D) Black Sea
(E) Answer not known
sTedeUTLI LiGsmisaiayid Bomed @it L oGy si_e
(A) sauss_ed
(B) s5Gsmsm s1_a
(C) @pad s1_a0
(D) s@misLed
(E) u@ad Qsiwaledemev

58. The coldest layer of the atmosphere is
(A) Troposphere
(B) Stratosphere
(C) Mesosphere
(D) Thermosphere

(E) Answer not known
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el oair_wEBar @algrer HH5E
(A) U GraGumrevifw

(B) e grGLmabidw

(C) 5@emaidiw

(D) Q55Gwmavifuid

(E) LB QsAwaledaa

59. The Dobson unit is the unit of measurement for
(A) Salinity of ocean
(B) Ozone
(C) Pressure in the atmosphere
(D) Temperature of a place
(E) Answer not known
L TLIFGT 96V & 6TGITLIGI TaIL (h 6V & Y GLD
(A) s o Liygsaenin
(B) gGamer
(C) avafioain_ws@a Swssis
(D) 9@ @Ls8ar QauLiifove
(E) u®a Qsfwaledamev

60. Which of the following statements are correct?
1. Albedo is the amount of solar radiation released by the Sun
2. Venus has higher albedo value than Mercury.
(A) Lonly
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
L9esrauBLD Fnpmisealed 618 FHwimeng?
1. oy 9@ eresLIg) @Awenned Qeuelud_ LG @Ru sDiefifer era)

2. ysears s 1yaid afered oG L T LI DSLb.
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(A) 1w @G

(B) 2 @b

(C) 1 wppyid 2 @uest@®Ld
(D) 1 yedevas 2 @evewev

(E) u®a Qsfwaledamev

61. The rocket launching centres are located in the eastern coast because
(A) Eastern coasts have large area of sea surface
(B) Coriolis force
(C) Trade winds
(D) Westerlies wind
(E) Answer not known
gM180)85L" 61aFe) HLOWBISET H &G SLDHTUIG) eOLDBS]GTETGHT
(A) 856 sL_psmuser sL_6 LgLiiear Quilw ugLiLeTeeus 6% TesT(HaraTeT
(B) GarfiGunalen Liewr_
(C) awisss s
(D) Gupes st
(E) u@ad Qsiwaledamev

62. Furious Fifties are
(A) 50 degree North
(B) 50 degree South
(C) 50 degree East
(D) 50 degree West
(E) Answer not known
Sy fwed 1991960 eTaTLIZ
(A) 50 4 &R auL_se
(B) 50 4 &4 Gsp s
(C) 50 w @ Sps&e
(D) 50 4 &A Gop@
(E) u®a Qsfwaledamev
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63. The region where both trade wind system meet is known as
(A) Hadley Cell
(B) Ferrel Cell
(C) ITCZ
(D) Roaring 40s
(E) Answer not known
AUIFSE FTDH] SeLoLiL] @)TTHILD FEHSGHLD LGS 6165 60 psHHLILIBF DG
(A) anr el GFe
(B) o%@Liged Qlad
©1Tcz
(D) 2_miapid 40567
(E) u®a Qsfwaledamev

64. Which of the following pairs are correct?
1. Chinook - Rocky Mountains
2. Pampero - Argentina
3. Fohn - Himalayas
(A) 1 and 3 only
(B) 1 only
(C) 1and 2 only
(D)1,2,and 3
(E) Answer not known
araupLd Geomig sefed 618 Fflwimang?
1. Peyis - LTeOD DGO WFHGIT
2. LmbQUGHT - FC)egesTg cwn
3. o»GuLieir - @buinenev
(A) 1 wpmid 3 i @b
(B) 1 @b
(C) 1 wpmiihd 2 i @b
(D) 1, 2 wpmp 3
(E) u®a Qsfwaledamev
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65. Rossby waves are associated with
(A) Low tides
(B) Coriolis force
(C) Jet Stream
(D) Deep sea waves
(E) Answer not known
grabLd Syemsar QST L wea
(A) eopEs sy@sar
(B) GsrfGumeSlad LicnL_
(C) QeL avL fib
(D) apipsiad Sz
(E) u®a Qsfwaledamev

66. Atmospheric pressure as increase in altitude
(A) Constant
(B) Increases
(C) Decreases
(D) Fluctuates
(E) Answer not known
2 WIEH® NBSALILST® eualioesiL_cv Sy1pSSLD
(A) Aavawrarg
(B) «18sis8ms
(C) s s
(D) aBp @nésmisar
(E) u®ed Osfualadenaw

67. The most suitable layer for flying Jet aircraft is
(A) Troposphere
(B) Stratosphere
(C) Exosphere
(D) Thermosphere

(E) Answer not known
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QeL” afliorers Lp&Es Wsad QUIGESLTET HHEE
(A) U GraGumrevifw

(B) e grGLmabidw

(C) er&Gavmav i

(D) Q55Gwmavifuid

(E) uBed OsAwaladane

68. The largest terrestrial biome is
(A) Rain forest
(B) Taiga
(C) Desert
(D) Fresh water lakes
(E) Answer not known
&L ufw Bevliugiy e udflwewtd oy @Ld
(A) wapsan®
(B) ewr_am
(C) unewevauasLd
(D) pesrests erflasair
(E) u®a Qsfwaledamev

69. Which of the following is/are critically endangered species?
(A) Pygmy hog
(B) Indian Vulture
(C) Forest Owlet
(D) All the above
(E) Answer not known
L&TaueiaTealpniaT 618 1A% LSS TaT 2 ullfemiseil sTenau?
(A) 19818 Lic)
(B) @B9w swps
(C) avar gypews
(D) GuoGev _airer oye»eggLd
(E) uga Gsfuwaledenev
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70. Which of the following are in-situ conservation areas?
1. National park
2. Zoological park
3. Sanctuary
4. Biosphere Reserve
(A) 1and 2 only
(B)1,2,3and 4
(©)1,3and 4
(D) 4 only
(E) Answer not known
L9eireu @b aIeTaIBSled eTenay 2 aiBlanell LINgISTLILL LGS %ar?
1. GsQw ymism
2. NERuic) LymIHT
3. FgesTTOVWILD
4. o u955Csrens STLILISLD
(A) 1 wpmih 2 wi HGw
(B) 1, 2, 3 opmy 4
(©) 1, 3 wpmib 4
(D) 4 " ®Gwo
(E) u®ad Qsiwaledenew

71. Which of the following species became extinct in India?
(A) Asiatic Lion
(B) Asiatic Cheetah
(C) Indian Vulture
(D) Asiatic wild Ass
(E) Answer not known
esraimid @ermisened 151 @pHuwreled oyfEs Gimens?
(A) 29w PmisLd
(B) 249w Spigens
(C) @rsw swps
(D) 28w sm’® swpes
(E) u®a Qsfwaledamev
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72. What is the position of a rabbit in a food chain?
(A) Primary consumer
(B) Secondary consumer
(C) Tertiary Consumer
(D) Quaternary Consumer
(E) Answer not known
o awrays FEIHue (pwadar Hlanew eTeien?
(A) Wi pisiGoums
(B) @uesi_mib Hlevev misiGaums
(C) apaimid Hevev misiGaung
(D) @eun’ L_jews) misiGeumd
(E) uPa QsAwaleea

73. Temperate grasslands of Australia is
(A) Praire
(B) Steppe
(C) Pampas
(D) Downs
(E) Answer not known
9ov D Bredlwneler AswreT LjedQaiehser
(A) L9Grws
(B) ev @111
(C) umbLima
(D) smpayssair
(E) u®a Qsfwaledamev

74. During lightning, the air temperature is (in degree Celsius)
(A) Above 9000
(B) Between 100 to 200
(C) Between 1000 to 2000
(D) Between 50 to 100

(E) Answer not known
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Heirenadiein GLmg smppPlar QeauiLglae (497 Qe Puwedle)
(A) 90005 @ Guoed

(B) 100 psed 200 auany

(C) 1000 psed 2000 auany

(D) 50 apsed 100 aueny

(E) US> QzsAualsdea

75. Match the following

a) Keibul Lamjao National Park 1. Manipur

b) Mukurthi National Park 2. Meghalaya

c) Nokrek National Park 3. Uttarakhand

d) Rajaji National Park 4. Tamil Nadu
a b C d

(A) 1 4 2 3

(B) 1 2 3 4

© 2 1 3 4

(D) 4 3 2 1

(E) Answer not known

ereumelesaipenpLi QUITHSS e Lb

a) Qsuied wrbggrGeut GsPw ymist 1. wenliiyyd
b) wpais® CsPu ymism 2. Guarewr
C) GrrsQrs GsPuw ymism 3. 2 SausmmenIL.
d) srggned) GaPw yymism 4. 5180pBM0)
a b c d
(A) 1 4 2 3
(B) 1 2 3 4
© 2 1 3 4
(D) 4 3 2 1
(E) LB Qsfwaledamev
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76. Number of Municipal Corporations in Tamil Nadu/

77.

(A)9

(B) 15

(C) 12

(D) 2

(E) Answer not known
SIOPBIL 196D o eirar LoApEITL Peeet cTasrenisen s
(A9

(B) 15

(C) 12

(D) 2

(E) u®a Qsfwaledamev

. Which of the following statements about the Tropical Rain Forest is /are correct?

1. Rainfall is about 200 cm per year.

2. Frequent fires occur during dry season.

3. These forests are also called as Boreal forest.

4. In India they are found in Andaman.

(A) 1only

B)1,2&3

(C) 4 only

(D)1&4

(E) Answer not known

QauLiLieT_ev e psHT® LipPlul 196TerbL s poisened 6151 sfuimengl s uimeng)?
1. werpLiQumfley e &S swmi 200 Gs.L5.

2. DRI BTvEIGeNe 9 s%g & aPLUBSnS.

3. @Bs 1@ s GUTAWE) STHSET TETILD YeLPSHLILIE DT 6.
4. @EDureled Syewar Sy EsLTeNe) &TewLiL@®R e

(A) 1w @G

B)1,2&3

(C) 4 w @b

(D)1&4

(E) u®a Qsfwaledamev
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78. Which one of the following is wrongly matched

(A) Animal - 1. Nilgiri Tahr

(B) Bird - 2. Jerdon’s Courser
(C) Flower - 3. Pangolin

(D) Tree - 4. Red Sander

(E) Answer not known

L9 68161 (156 TR D M OT S61D TESIHI 6157

(A) afevmis - 1. fu® R saibi

(B) Lipeva - 2. Qsgiit_eflair Gamiad
(C) iavs - 3. L Gs nader

(D) b P Beii boke

(E) u®a Qsfualaamev

79. Which one of the following is called as wave less coast?
(A) Rameswaram Coast
(B) Malabar Coast
(C) Chennai Coast
(D) Konkan Coast
(E) Answer not known
LAGir6u (56U @TOUDPIED 6181 D G®DBS SL DS TN H®PSSLILIBHSDSI?
(A) g1Guabeaugid sL_HEeT
(B) weouimi s1_psenn
(C) Qociranen sL_paavy
(D) Qanmise sL_paHes

(E) u®a Qsfualaenev

80. . Through which one of the following waterfalls Kavery River enters into Tamil Nadu?
(A) Athirappalli
(B) Kutralam
(C) Hogenakkal
(D) Monkey falls

(E) Answer not known
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s1Gauf) gpmi QB a1Bs <y Belluiar wped LA BTL 19D Ea e p&ng?
(A) @ giiueref

(B) ®ppravid

(C) #Gsamgsa

(D) ©rmi@ fraipss

(E) uged Qsfwaledenev

81. Which one among the following soil groups is largest in Tamil Nadu?

82..

(A) Red and Yellow soil

(B) Lateritic soil

(C) Black soil

(D) Saline soil

(E) Answer not known

L96iTeUBLD LoGST @ (LpFHeMed 615 SLOPBIL 196D HYBHLOTS o 6iTeng)?
(A) Pouiy wpmith 1p@heer Loes

(B) Gavi" L Mg Lo

(C) LIy wesr

(D) 2.-qugf woasir

(E) u®ed Qsfuweledenev

Lion-tailed macaque is endemic to the region.
1. Kerala

2. Andhra Pradesh

3. Tamil Nadu

(A) 1 only

(B) 1and 2

(C)2and 3

(D)1and 3

(E) Answer not known

PEIGTED 105515 @)LILIGHuID 11" HBLo 2_cireng).
1. Gsgerm

2. o p@uii 199Gsaib

3. sLHBT®R
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(A) 1w @G

(B) 1 wopmiih 2

(C) 2 wpmd 3

(D) 1 wpmis 3

(E) uBa QsHwaledamae

83. Rainfall during Southwest Monsoon
1. Decreases from west to east in South India.
2. Decreases from east to west in North India.
(A) Lonly (B) 2 only
(C) both 1 and 2 (D) neither 1 nor 2
(E) Answer not known
OsarGn @ L@euenpuiler GLing LoenLp
1. Qsarelp@urale CupfaBEg Hps@ Crrss GmnDBHDI.
2. o @pBPwireied NpsReBrs Gopsts GonI DS
(A) 1w @uw (B) 2 o pud
(C) 1 wpms 2 @uesw®Ld (D) 1 syedevg 2 @evenev
(E) u@ad Qsiwaledamev

84. Which of the following is period of Northeast Monsoon?
(A) June to September
(B) January to March
(C) October to December
(D) April to May
(E) Answer not known
19TeUBOIGTAIBIIE) aIl_SpF@ LIGILDEL FTavLh 6157
(A) g9 1psed QFLiL_tbLif eueny
(B) gawausd wpsad omié auany
(C) &BL_nid wpsed 19.FLbLIT QuewT
(D) arized (ipsed Gio auang
(E) u®a Qsfwaledamev
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85. Hud- Hud Cyclone affected which one of the following regions in India?
(A) Chennai
(B) Kanyakumari
(C) Visakhapatnam
(D) Gopalpur, Odisha
(E) Answer not known
avL-ap~L @praef @QpSwralled e TpsL LGSamw LTHSSS?
(A) Qsesren e
(B) sarafwn@of
(C) afensLiLiL g aid
(D) Garumadyyd, ryam
(E) u§a GsAwalaame

86. Ockhi cyclone crossed and affected which one of the following districts in Tamil Nadu?
(A) Chennai
(B) Kanyakumari
(C) Kadalur
(D) Nagapatnam
(E) Answer not known
28 e SLLpESB6 G1BS ML L oS SLbSI LTSSSS?
(A) Qsarenar
(B) saresflwim@of
(C) sL_gumi
(D) prsLiuL g

(E) u®a Qsfualaenev

87. Which one of the following species is found in moist deciduous forest in India?
(A) Sandalwood
(B) Red Sanders
(C) Mahogany
(D) Acacia

(E) Answer not known
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araumsLs @armisaiad org @ EHwraled mrorar @amaySd s1@sala &reLiL@ans?
(A) spserd

(B) QuL” snar_ge

(C) 1Gaprsesh

(D) wysm@un

(E) US> QsAwaledana

88. Which one of the following districts in Tamil Nadu has mangrove forest?
(A) Kanchipuram
(B) Tirunelveli
(C) Kadalur
(D) Madurai
(E) Answer not known
SIOPBHIL 1960 BLpFHeL DML L BiGefed F5ILILBwE FTBSET 6157
(A) 8165 yo1d
(B) 83:0)500Gaual)
(C) sL_gumi
(D) wgieng
(E) u®a Qsfwaledamev

89. Which of the following type of forests has more geographical area in India?
(A) Evergreen
(B) Tropical thorn
(C) Deciduous
(D) Mountain forests
(E) Answer not known
Hereumd  e1ps  auens  srhser  @QpHurailed HFs yalwlwed UgLiLeTedeISs
O\&mewT (R aiTaTEsT?
(A) 61659 Fair
(B) QauLiinedr_av (wper
(C) @@aysi
(D) wenevs sr®ser

(E) u®a Qsfualaenev
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90. Which of the following is/are correct regarding “Jet Stream™?
1. It blows at an altitude of 10 to 13 KM from the surface.
2. It blows from west to east.
3. It blows in tropical regions only
(A)land3
(B) 1and 2
(©1,2,and 3
(D)2and 3
(E) Answer not known
"QeoL” ev b Qsmi_fLine ereupalaTeainBled 615 Fiwnengl Fflwineng?
1. @ai GupLgiitded @ @ss 10 wpse 13 S8 o wisPe® ofFR D).
2. @91 CupRBEs Pipss Cs1s% of5HDgl.
3. @& QauLiLs wes_o LGPsened L GG afsFLd
(A) 1 wpmpid 3
(B) 1 wpmib 2
©) 1,2, wpmns 3
(D) 2 wpmid 3
(E) u@ad Qsiwaledamev

91. Surface area of the earth is
(A) 510 million sg.km
(B) 110 million sg. km
(C) 1000 million sg. k.m
(D) 210 million sg. km
(E) Answer not known
yilullest LgLivieney
(A) 510 evewer 5517 &).18
(B) 110 1AeveSuwicst 5317 .18
(C) 1000 1hedveSwiasr &8i7 &.15
(D) 210 feveSlwiast #5517 %).15.
(E) u®a Qsfwaledamev
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92. Which of the following statements are correct?
1. The thickness of the crust is greater below the continents than the ocean floor.
2. The major elements of crust are Silica and Aluminium.
(A) 1only
(B) 2 only
(C) both 1 and 2
(D) neither 1 nor 2
(E) Answer not known
L9e5auBLD B misaled 618 FHwimeg?
1. GGl I SB6 19 106 HL_cd Fongens AL ST Ei%e5s @ EGL HBSLOTS o eTeTs).
2. GGl L g@ e 1psPw Fmiser HsHT wHmith SjeydaiiuLh oy @Lb.
(A) 1w @uw
(B) 2 w1 @b
(C) 1 wpmuib 2 @uew@1d
(D) 1 oyyaevg 2 @aemav
(E) u®a QsAwaledamev

93. Density of earth’s core is
(A) 2.9 gm/cu cm
(B) 5gm/cu.cm
(C)12gm/cu.cm
(D) 1.04 gm/cucm
(E) Answer not known
LLilufler eoowSHaT L_iF)
(A) 2.9 gm/cu cm
(B) 5gm/cu.cm
(C) 12 gm/ cu.cm
(D) 1.04 gm/cucm
(E) u®a Qsfwaledamev
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94. Which one of the following is igneous rock?
(A) Diamond
(B) Basalt
(C) Limestone
(D) Marble
(E) Answer not known
e arapsled eTamal Lmep 615?
(A) ewaugth
(B) ungmedr”
(C) satrewtmidry
(D) uefmis
(E) u§a GsAwalaame

95. Which of the following pair/s is/are correct?

Rock - Metamorphic form
1. Basalt - Schist

2. Limestone - Marble

3. Granite - Gneiss

(A) 1and 3 only

(B) 2 and 3 only

(©)1,2,and 3

(D) 1 only

(E) Answer not known

areumd Ceomg safled 618 Filwimergy)?

LITeDm - 2 (HLOADD QLY GULD
1. usnedl” - aflavr”
2. HEHTGRTTLOLY - Liafmlg
3. S grenestL - esflerd

(A) 1 wppyh 3 " @b
(B) 2 wopmitd 3 ot HGro
(C) 1,2, wpmib 3

(D) 1 " ®Guwo

(E) uBa QsHwaledama
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96. Which of the following is/are correct regarding seismic waves?
1. Primary waves pass through solids, liquids and gases.
2. Secondary waves travel only through solids.
(A) 1only
(B) 2 only
(C) both 1 and 2
(D) neither 1 nor 2
(E) Answer not known
ol oBia) Syaasamar upBlu Ffunet spmi e15/?
1. wsaew ymesar S, Hre, amy sefeQFadayLb.
2. @ uewt_mib Blevev yewavser S GLnmL sefed L HGo QFedayLb.
(A) 1w @uw
(B) 2 w1 @b
(C) 1 wpmid 2 @oew(iub
(D) 1 syedvavg 2 @avana
(E) uBa QsHwaledama

97. In which one of the following positions of the moon around the earth, low high tide and
high low tide occur?

(A) Conjunction when moon lies between Sun and Earth

(B) Conjunction when earth lies between Sun and Moon

(C) Quadrature

(D) Such tides never occur

(E) Answer not known

ylleows sppluyerer spGoaller el 61ps plowsaled, GoDbs IYme LLDDILD

AP % sMHaITeT e apLBRDGI?

(A) sp@r6 @ Augis@Ld Lls@Ld @ uiled @GSEL Guing @) amen iy

(B) e fuays@id sp@ramissh @i L Q@@L Gurg Gamemiiy

(C) pradeuens

(D) @ssmsw syamasar @@ apLL g

(E) u®a Qsfwaledamev
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98. Match the following

a. Endogenetic process - 1. Seismograph
b. Mantle - 2. Subduction Zone
c. Convergent boundaries - 3. Volcanic Eruption
d. Earthquake - 4. Pacific Ocean
e. Composite volcano - 5. SIMA
a b C d e
(A) 2 5 3 1 4
(B) 3 5 4 2 1
© 2 5 4 3 1
(D) 2 5 4 1 3
(E) Answer not known

ereupeuaaipenpLi OLImhSa

a. aTamGLTGlganiy & QFwedLpemm -1. Do ey euenTLIL LD
b. Guoasrig ad - 2. SjemenT LoGHL LD
C. @alBs aTeveawsalr - 3. afwee QaugLiy
d. Avp@ssLd -4, LS9 QUEBESL D
€. ol (® e1floemev -5. Qo

a b C d e
(A) 2 5 3 1 4
(B) 3 5 4 2 1
©) 2 5 4 3 1
(D) 2 5 4 1 3
(E) LB QsAwaleama

99. Which one of the following is Asia’s largest fresh water oxbow lake?
(A) Wular Lake
(B) Kolleru Lake
(C) Kanwar Lake
(D) Chilika Lake

(E) Answer not known
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Weirasmoerapier sy@umefler OsLIOUAL peredi apEabGUT g e1g?
(A) ayevd erf

(B) Osms0Gevny a1

(C) saroums erf

(D) Pedlsr o)

(E) LB QsAuaisdema

100.  Active volcano in India is located in
(A) Himalayas
(B) Bhima fault
(C) Andaman
(D) Meghalaya
(E) Answer not known
@ BFwraled COFWGOLIBILD 6THLOEHG 360 LDbSATCTS
(A) @uowima
(B) Liom soumy
(C) ipsioma
(D) Gusreowr

(E) u®a Qsfuaiaenev
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Group IV — Geography 3 - Key
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TNPSC @gepei 1V
Geography

Time: 2 Hrs Marks: 100

Instructions

1. Immediately after the commencement of the examination, you should check that this test
booklet does not have any unprinted or torn or missing pages or items, etc. If so, get it
replaced by a complete test booklet.

2. Do not write anything else on the test booklet.

3. This Test Booklet contains 100 items questions. Each item is printed in English. Each item
comprises four responses (answers). You will select the response which you want to mark on
the Answer Sheet. In case you feel there is more than one correct response, mark the response
which you consider the best. In any case, choose ONLY ONE response for each item.

4. You have to mark all your responses ONLY on the separate. Answer Sheet provided. See
directions in the Answer Sheet.

5. All items carry equal marks.

6. ATTEND ALL THE QUESTIONS



1. Which of the following geographic features has more geographical area in India?
(A) Plateau
(B) Plains
(C) Mountains
(D) Hills
(E) Answer not known
Aereupd yalulwed ybsmisaiied 615 @pHwraled FHs Lailulwed LGHaws
Q& resT(H aTeTS)?
(A) LFyh
(B) #0@euaf
(C) wevasar
(D) wenevsar

(E) uged Qsfweledenev

2. The distance between the longitudes in poles is
(A) 111 km
(B) 0 km
(C) 10 km only
(D) None of these
(E) Answer not known
sIGaumsaied 8i5sGrmaesarsE @ Gu o arer ToLd
(A) 111 @.18
(B) 0 @.18
(C) 10 8.8
(D) @avau argiayid @adane
(E) ued Osfualedenev

3. In December 22nd sun’s vertical rays falls in which of the following latitude?
(A) Tropic of Cancer
(B) Tropic of Capricorn
(C) Equator
(D) Horse Latitude

(E) Answer not known



by 2260 GAweder Oami@sa s iser e 6ibs YL sGransulled afLpHesimes?
(A) Lom9s op0%Li Csergd

(B) wag grd

(C) ywssw Gravs

(D) @5 o 5Grewns

(E) uged Qsfwaedenev

4. Which one of the following is correctly matched?
(A) Cauvery-Lower Anicut
(B) Pennaiyar-Sathanur Dam
(C) Amaravathi-Mayanoor Dam
(D) Noyil-Mullai Dam
(E) Answer not known
eameiaaupBled e1g FRwnsL QuUTmBEPnS?
(A) s169-81) ojenaidsL’ 5
(B) Qussirenewrwimp-#nssemid e et
(C) @iograu@-omuenrs ojenent
(D) @pruiuer-upedenav ojemamt
(E) u®a Qsfwaledamev

5. Which of the following festival is celebrated in Madurai city?
(A) Karthigai Theepam
(B) Chithirai Festival
(C) Mahamgam Festival
(D) Velankanni Festival
(E) Answer not known
1gienT pEfled araimid e1ps afipm QsmesT_m_LiL@Sns?
(A) s1ig@es Suiib
(B) 8385 Sailpm
(C) wsmosd Gwalpm
(D) Gavarmmisesiant] Sapaflpm
(E) u®a Qsfwaledamev



6. Which of the following fort is located in Chidhambaram?
(A) Rock fort
(B) Genji
(C) Vattakottai
(D) Udhayagiri fort
(E) Answer not known
araumLs aTES GHIL L NSLHLITSHe e Lo ES) aTars)?
(A) urenp Garewr_
(B) Oz
(C) e’ L &8s e
(D) 2 5w&A Gar e
(E) u§a GsAwaladame

7. The Peak not located in Tamil Nadu is
(A) Thottabetta
(B) Kodaikanal
(C) Anaimudi
(D) Mahabaleswarar
(E) Answer not known
SOIPHBHIL 1960 @edevns FHLd
(A) Osr L Qui L
(B) Qsrewn_ssrasad
(C) smarapiy
(D) wsruGevebvairi

(E) uged Qsfweledenev

8. A fisherman sails in the sea and hears the 10.00 a.m. BBC news when it was local noon
where he sails. In which longitude he is

(A)15°E

(B) 30’ W

(C) 30°’E

(D) 15°W

(E) Answer not known



@@ erarj sL_aded Lwewh QFUiSprd, Seui Lwewh QFuwinh QLS o i
pausad 10.00 el 1999 QeuBeows GsL @pri. Saui s BissGresuie
Qws& i

(A) 15° @

(B) 30" L_1fairy

(C) 30E

(D) 15'W

(E) uBa Osfualadaa

9. The geographical area of Tamil Nadu is
(A) 64,542 sq.km area
(B) 70,245 sq.km area
(C) 74,254 sq.km area
(D) 80,425 sg.km area
(E) Answer not known
SO BIL 19 &1 Lafullwed LGS
(A) 64,542 s317 915 LgLiLierey
(B) 70,245 #.9).18 Ligptiuerey
(C) 74,254 #5157 S8 LigpLiLienay
(D) 80,425 5317 18 LigLivierey
(E) u@ed Qsiwaledenev

10. Which of the following statements is/are true?
1. Tropic of cancer does not pass through the state Rajasthan
2. Bhopal is situated north of the Tropic of Cancer
(A) 1 only
(B) 2 only
(C)Both1 &2
(D) Neither 1 nor 2
(E) Answer not known
LeTaUmLD S ppiseRed 6151 2 esien Lol o awTen LoWITesTE?
1. 515 Guens e prggevs e anfluns Qasewafedemne

2. Cumuned 515 Guens &8s e LoBSTaTg)



(A) 1w @G

(B) 2 " ®Guo

(C)1 &2 @uaw@id

(D) 1 wyedevas 2 @evewev
(E) u®a Qsfwaledamev

11. Which of the following pass is NOT located in Western Ghats of India?
(A) Sengottai Pass
(B) Palghat Pass
(C) Thalghat Pass
(D) Dhipu Pass
(E) Answer not known
@BSwreler Gupes Qs _Fif weeulesd Eipssea_appled eg @)eeme?
(A) QFmEGsrL e sewraTui
(B) unedsnL sewsaumdi
(C) svarL semmaumu
(D) Sy umab
(E) u®a Qsfwaledamev

12. An active volcano in India has erupted in which of the following region?
(A) Narora - Himalaya
(B) Barren Island - Andaman
(C) Minicoy - Lakshadweep
(D) Ranchi - Chota Nagpur Plateau
(E) Answer not known
@BSwreled QFuedLi@Ld eTiieve aaImL) aTBsL! LGHuID Qailg S erars?
(A) B8gmgm - @wibemev
(B) umyair 8oy - s Lomeir
(C) Beshasmui - w5580y
(D) 516h® - Gani' i prgd 1fi_yih
(E) u®a Qsfwaledamev



13. Arrange the Hills/ Range in North-South order
1. Nallamala Hills
2. Palkonda Range
3. Javadi Hills
4. Shevaroy Hills
(A)1,2,4,3
(B)1,2,3,4
©)2,1,3,4
(D)2,1,4,3
(E) Answer not known
wevewseil QsT_jsmer aL_s@-0spH@ aflasuled omwssa)b
1. pe@@ieme ewevsaT
2. U Qs TeL T aWEOSTL
3. @TaIg LEWSET
4. GQayeugmul LoenS6T
(A)1,2,4,3
B)1,2,3,4
©)2,1,3,4
(D)2,1,4,3
(E) u®ed Osfwafadensv

14. Which of the following statement/s is/are true?
1. Plain region is narrower in Coramandel Coast and broader in Malabar Coast
2. Continental Shelf is broader in Coramandel Coast and narrower in Malabar Coast
(A) 1 only
(B) 2 only
(C)Both1 &2
(D) Neither 1 nor 2

(E) Answer not known



Y&reupLd spmiseied 618l 2 esstenLow megy)?

1. swQeafl LES Csrywesicd sLPaIe@IUlcd GDIFWSTSALD LTI FLDHHenTulled
SYFVLOTHAYLD 2 GTETS

2. snang e Gapaodll Gasmuwesi_ o &L_pPpsegulled DF@LOIS@LD, LOGLIT]T
SLPpE®IUD GnIFWSTELD 2 GTaTS)

(A) 1w @uw

(B) 2 o ®Guo

(C) 1 &2 guew®s

(D) 1 oyavavgs 2 @evemaev

(E) uged Qsfweiedenev

15. Consider the following Statements:
Assertion (A) : Many rivers of Tamil Nadu have delta in eastern coastal plain
Reason (R) : Tamil Nadu Coastal Plain has alluvial soil
Now select your answer as per coding scheme given below:
(A) (A) and (R) are correct and (R) explains (A)
(B) (A) and (R) are correct but (R) does not explain (A)
(C) (A) is correct but (R) is wrong
(D) (A) is wrong but (R) is correct
(E) Answer not known
LIGTQUBLD D15 BB %6 e L BISaT.
wpD SOPETLE Lo QnseT Dps@E sLpsor Fwbaeluls Ol el memes
G)& mesT(h) aiTaTeT
smgesii SLOHHEIE SL_psar F00ael e cd 1oeT G\FTawT_g)
@uiGung &G Qsr@ssiiul Gerer GO DL Py o BT LD®WS
€7 OFICEEZ DI,
(A) (A) wppis (R) sfwnaramar wppis (R) eflearég&ng (A)
(B) (A) wpmis (R) sRwrerewen gyermed (R) aflarssaladenav (A)
(C) (A) sdwnang) gyammad (R) soums
(D) (A) soums gyamrad (R) sfuimans;
(E) u®a Qsfwaledamev



16. Consider the following Statements:
Assertion (A) : Deccan Plateau slopes towards from west to east
Reason (R) : All rivers in Deccan Plateau flow towards Bay of Bengal from west to east
Now select your answer as per coding scheme given below:
(A) (A) and (R) are correct and (R) explains (A)
(B) (A) and (R) are correct but (R) does not explain (A)
(C) (A) is correct but (R) is wrong
(D) (A) is wrong but (R) is correct
(E) Answer not known
LIGTQUBLD Y195 eSS %66 B e,
Fpmi: OL_sasner 1918 Cup@dGEs Dips@ Crrse) sia
sngesiih: sssres 1 ulled o oo YeweTss YnIFEHLD GLPRSBHS DipsHTs
aumisTer i@ Teves GBTES) LimuiF e e
Q@uGurg &Gy Osr@ssLiul Rerer GPUFL G S L GHILIG 2 EmFH6T LH®VS
Csi505HFSa L.
(A) (A) wppib (R) sflwraramar wppis (R) eflearég&ng (A)
(B) (A) wpmis (R) sAlwnerewen gerred (R) aflergsailadanev (A)
(C) (A) sfwrmarg gyammsd (R) seum
(D) (A) soupy gyemmsd (R) siuimns)
(E) u®a Qsfwaladamev

17. The South Andaman & Little Andaman is separated by which of the following passage/ channel?
(A) Duncan passage
(B) Ten-degree channel
(C) Nine-degree channel
(D) None of these
(E) Answer not known
Os5@ ApsTET & GL 19 JyESIET a0 a1is LSS Gretevred LINGHLILIL B eTang?
(A) Lmser uTews
(B) ugg 1997 Goarad
(C) garg 148 Goarad
(D) @eau a1giayid @adevav
(E) uBa QsRwaladema



18. SAARC was formed in the year
(A) 1984
(B) 1990
(C) 1988
(D) 1985
(E) Answer not known
#1385 SyeoLoLiL] o BUTESLILIL L g
(A) 1984
(B) 1990
(C) 1988
(D) 1985
(E) u®a Qsfwaledamev

19. Sri Harikota is situated in which of the following States?
(A) Tamil Nadu
(B) Kerala
(C) Karnataka
(D) Andhra Pradesh
(E) Answer not known
uf anAGsrLm eiou@Ld e1ps LoTEWSE6) BB eTens)?
(A) 51951H
(B) Gsgarm
(C) sipm_sm
(D) p@sLi 195Gz
(E) u®a Qsfwaledamev

20. The Rameswaram island is separated from the main land of India by the......... Channel
(A) Palk
(B) Pamban
(C) Gibralter
(D) Mannar

(E) Answer not known
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grGuweveugy Hey @pHwraller ogmest pleoliugilfed @BBS ......... Gaesrevmed
YRGS LILL (D eTerg

(A) umreds

(B) wmbriesr

(C) Pigredr_g

(D) weresmy

(E) u®a Qsfuaiaeev

21. The highest mountain peak in South India is
(A) Everest
(B) Anaimudi
(C) Godwin Austen
(D) Nanda Devi
(E) Answer not known
Qs el EHwraler 10s o Wi TaT a6 HaILd
(A) ereuQgavr”
(B) apwarpy
(C) s afleir yabL_eir
(D) ppsm Gzal
(E) uged Qsfwaladenev

22. .o B is called the Asiatic Italy?
(A) Burma
(B) India
(C) Sri Lanka
(D) Pakistan
(E) Answer not known
.................................... QAW @)S5160 1D Y IpESLILIEGDDZI?
(A) ugom
(B) @58un
(C) @wiens
(D) ur® e s mesr
(E) u®a Qsfwaledamev

11



23. Which river is called Bengal’s Sorrow?
(A) Yamuna
(B) Damodar
(C) Narmada
(D) Tapti
(E) Answer not known
uBIFTNSS 6T GosLh e1an] HeipasLiLIPL bB) eT5?
(A) wapar
(B) 37Gonsi
(C) pigm
(D) 518
(E) u§a GsAwaladame

24. The weather map telecast in TV is photographed by the satellite orbiting at a height of
(A) 36,000 km
(B) 3,600 km
(C) 3,600 miles
(D) 360 km
(E) Answer not known
Qsremewar Puied elurliLiL@L ameheae e b, QFupessGster o wisGe
FOMIISTEV L{eELILIL LD T(HSFHLILIBHF DS
(A) 36,000 8.8
(B) 3,600 %18
(C) 3,600 enipadsair
(D) 360 &.15
(E) uged Qsfweledenev

25. Which place receives maximum solar energy in December?
(A) Calcutta
(B) Delhi
(C) Amritsar
(D) Chennai

(E) Answer not known
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EbLRe) eTEs @)L L HBSLL S GAw FEBewLi QLpLb?
(A) ssign

(B) Or_cves)

(C) @figsgad

(D) Qssirenas

(E) uBe OsAwaladama

26. Which state possesses three major ports in India?
(A) Orissa
(B) Maharashtra
(C) Tamil Nadu
(D) Gujarat
(E) Answer not known
@BPwraled epern QL FewDLpsEIGm®ars C\HIesTL LOABILD 6157
(A) @fiem
(B) wsromaiggr
(C) s9p57®
(D) oe2oms
(E) ufa QsAwaladama

27. Which State is known as the Detroit of India?
(A) Maharashtra
(B) West Bengal
(C) Tamil Nadu
(D) Gujarat
(E) Answer not known
@ESwreler QL1 gmuil” eTan HYewpEsLiL®L THlevth 615?
(A) wamgrayig g
(B) Guop@ aumismens
(C) 5950
(D) ©egons
(E) uga Gsfuwaledensev
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28. Asia’s biggest astronomical telescope is at
(A) Kavanur
(B) Kodaikanal
(C) Bangalore
(D) New Delhi

(E) Answer not known
S Fwrailer WsLiCufw eunailwed CsTavCETss 61mIGs 2 aTergy)

(A) srauggri

(B) Qs r1evi_samamed

(C) Qumiscans

(D) us Bevad)

(E) uBe OsAwaladama

29. The most important means of irrigation in Deccan India is
(A) Well
(B) Canal
(C) Tank
(D) Tubewell
(E) Answer not known
OL_ssmer @)bHwTaieT L% (LpSFWILOTGT [BILILITFGTLD
(A) Gammy
(B) sradaumui
(C) @smig
(D) @rpmur Sawimy
(E) u®ed Qsfwaedensv

30. The expansion of abbreviation IADP is
(A) Internal Agricultural Development Programme
(B) Intensive Agricultural District Programme
(C) Indian Agricultural Development Programme
(D) Agricultural Development Programme based on Industrial atmosphere

(E) Answer not known
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611919 6TV & (555 P eT @il feuTHS LD

(A) 2 amprL B Geuerrestenio auaTid§s L1 Lb

(B) 8ol Gauermest omaur L i1 b

(C) @pBw Geuarrantenio auaTiFRS HL L LD

(D) Qsmplaogemp @Bl gLt wiss Qsmer afeusmu Gubur’ g S L b

(E) u®a Qsfuaiaemev

31. The main proposal of Dunkel Draft with reference to agriculture is
(A) Reduction in agricultural subsidy
(B) Introduction of modern methods of cultivation
(C) Promotion of agricultural marketing
(D) None of these
(E) Answer not known
oflousmuis Qsm_jLnet L mise aemeller ipa@w wparQmey
<1) aflousnu wreflugsed GaompLiL
(B) pafer sngLIg wpempsamar 2P LpsLiLIBSSIS60
(C) adausmw sESLILGSSISD 201850055
(D) @ave arsiayi @avevay
(E) u®a Qsfwaledamev

32. Which one of the following is used in perfumery for the smell of Jasmine?
(A) Benzyl acetate
(B) Acetyl acetate
(C) Propyl acetate
(D) Butyl acetate
(E) Answer not known
LesroupauasaupPled  SMSUNGT  UTFOTESTS  eurFene SGuaflwmisalled 615
LWL HESLILGSDSI?
(A) QuaRed PBLL
(B) @@L e AGLL"
(C) LiGrmied HPBLL"
(D) 9y 1960 PG
(E) u®a Qsfwaledamev

15



33. The oil of winter green contains
(A) Formalin
(B) Methyl salicylate
(C) Butanoic acid
(D) Butyric acid
(E) Answer not known
@oNisne Ldeme eraGlanTul G\amewr (B aireng
(A) o»Limiees
(B) QugBed #1adRGavr”
(C) " 1_nehs oyiflevii
(D) Ny A& oyt
(E) u®a Qsfwaledamev

34. Which of the following is not rubber?
(A)Buna-S
(B) Buna— N
(C) Neoprene
(D) HDPE
(E) Answer not known
aireu s esaTaIBBIeh 615 TLILIT Sjada?
(A) e - e
(B) o - arair
(C) AGwmIFeir
(D) HDPE
(E) u®a Qsfwaledamev

35. Which among the following sties was included in UNESCO’s World Heritage sites
recently?

(A) Taj Mahal, Agra

(B) Humayun’s Tomb, Delhi

(C) Ellora Caves

(D) Red Fort, New Delhi

(E) Answer not known
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Y QarevGasrallar 2 ws umgbufiu setBseied FBLSHD CFissLiu’ Beter Lie@rapLd
AV L_Hafe) 6TgI?

(A) srgaanmed, gy émm

(B) awwomyeiar s@wamp, 0L aal)

(C) araGavmam Gewssar

(D) QemiGsr e, 15 Haed

(E) u®a Qsfuaiaeev

36. Charminar Express runs between
(A) Chennai & Delhi
(B) Chennai & Ahmedabad
(C) Chennai & Hyderabad
(D) Chennai and Jaipur
(E) Answer not known
grfLlland eréabLigab Qe Gu @BRDg
(A) Qsarener & 6)i_adad
(B) Qearanar & 9ysiosmins
(C) Qsarever & ewamsamLinsg
(D) Qserenes opmid Qgguirisyi
(E) u@ad Qsiwaledemew

37. The first TV station was installed in India in
(A) Hyderabad
(B) Delhi
(C) Jaipur
(D) Bhubaneswar
(E) Answer not known
@BPwraled Lpse CsTenevssTL F plenevwtd 61w Gs Blmeurion’ L g
(A) @ansgmLng
(B) @_cvad
(C) Oepuiciyd
(D) youGarabaui
(E) uga Gsfuwaledensev
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38. Match the following using codes given below:

a) Narimanam 1. Atomic Power Station
b) Koodankulam 2. Hyundai Car
c) Irunkattukkottai 3. Oil fields
d) Sivakasi 4. Match factory
a b C d
(A) 3 1 4 2
(B) 3 1 2 4
© 1 3 2 4
(D) 4 1 2 3
(E) Answer not known

GG CarhssLiul Garer GBluf@Fmert: LweaTLRSS) LeTeu@EbeupenpL O\LITBESSa LD

a) BrfLoewTLd 1. oyewyiflesr Hlevevwid

b) goL_migenihd 2. QU esL_mui s

C) @wEisi §&Gsm anL_ 3. erawQlenIL uwIedSaT

d) Pousrd 4. UiQLLC 1y QsmABsTere
a b c d

(A) 3 1 4 2

(B) 3 1 2 4

© 1 3 2 4

(D) 4 1 2 3

(E) LB CsHualedamev

39. Which one of the following is correctly matched?

(A) Vanamamalai - Folklore
(B) Agasthialingam - Literature
(C) Kailasapathy - Linguistics
(D) Cenavaraiyar - Folk dance

(E) Answer not known
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areumeuaaupPled 618 FHlwnsL ClummppsIHng)?
(A) suresiomioemev - B G LUIYDewed

(B) wsav@uadms - @eows@wid

(C) wsewrs® - QmPHudwed

(D) Goewrauengui - BT QLD BLaLh

(E) uged Qsfwaedenev

40. Tree ecosystem is
(A) Upright Pyramid
(B) Inverted Pyramid
(C)Bothaandb
(D) None of these
(E) Answer not known
LOILD HHMIFGHLPGD Y eDLDLIL]
(A) PiiBs 97H B
(B) sy rid®
(C) a wpmpid b @oes@rd
(E) u@ad Qsiwaledamev

41. Herbivores are
(A) Producers
(B) Primary Consumers
(C) Secondary Consumers
(D) Tertiary Consumers
(E) Answer not known

BT TCUCH S G

(A) swrPiiumeriser

(B) wsaieowo misiGaun

() @resn_ms Powev pymiGeuns
(D) epaipmid plevev msiGaumi
(E) uga Gsfuwaledenev
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42. Unit of temperature is
(A) Celcius
(B) Farenheit
(C) Kelvin
(D) Joule
(E) Answer not known
QeuLiLiplenvullesr 2ev &
(A) QeavPwaeid
(B) o>uimpastansL”
(C) Qsaaier
(D) spoab
(E) u®a Qsfwaledamev

43. Sorosis and Jackfruit is example of
(A) Simple Fruit
(B) Aggregate
(C) Composite fruit
(D) None of these
(E) Answer not known
QenGrnPed PmiLh LTLILIPL 2 GTIewTLD
(A) eraflw Liprd
(B) Quongsiwons
(C) " @1 Lipid
(D) @avau argiayid @adane
(E) u@ad Qsiwaledamew

44. Light reaction Double reaction is series of chemical reaction in
(A) Photosynthesis
(B) Respiration
(C) Bothaand b
(D) None of these

(E) Answer not known
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pof a@ialoer @ oL afielmar aerig @remuar a@ialeeanuiar Osm_i oL
(A) gafsGsisma

(B) sreunatd

(C) a wpmib b @uawr@ud

(D) @wau argiai @adever

(E) uBa QsAwaledaa

45. Liquid gold is
(A) Molten gold
(B) Platinum
(C) Mercury
(D) Petrol
(E) Answer not known
SIau SEIFLD
(A) 268w smIsLb
(B) ermi 19 ewrid
(C) unggsis
(D) @ur Ggrad
(E) u®a Qsfwaledamev

46. Portland cement is the mixture of
(A) Calcium Silicates and Calcium aluminates
(B) Calcium Sulphate and Calcium Silicate
(C) Sodium Silicate Calcium Silicate
(D) Calcium Phosphate Calcium Silicate
(E) Answer not known

GumgL GeoveswrL” FG)oessrL” FEVEH QU ILITGHLD

(A) sre0@wid Ha988sL Bsar wPpmId ST yaifGeatL” e
(B) sme0@uwid 0@’ wopmid sred@uih HadEGsL”

(C) Gsmguid Ha93GsL" sra0Ruwd HadlsGsL”

(D) sre0@uid uredGur sred@uwid HallsGsL

(E) uga Gsfuwaledensev
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47. Match the following

a) Gaseous hydrocarbons

b) Petrol
c¢) Diesel
d) Kerosene

e) Lubricating oils

a b C
(A) 2 1 4
(B) 1 2 3
©) 1 2 4
(D) 1 2 3
(E) Answer not known

ereupeuaaipenmLl OLIThSSa Ld

a) ety ean L GursTiLIcHS i
b) Ou Grmed
C) e g
d) LoewrQ emrestt G awru
€) &® cTaGlewTuis 6T

a b C
(A) 2 1 4
(B) 1 2 3
©) 1 2 4
(D) 1 2 3
(E) LB QsAwaleama

48. Match the following
a) Carbon dioxide
b) Chlorine
¢) Hydrogen
d) Nitrous Oxide

1.

CltoC4

2.C5 to C12
3.C15t0 C18

4.
S.

d

3
4
3
)

o w A~ W OO b~ W DN B

A W N

Cl2to C16
C16 to C50

A~ o1 o1 o1 @

. C1 wpsed C4 cuenyy

. C5 wpsed C12 aueny
.C15t0 C18

.C12t0 C16

. C16 wpsed C50 aueny

e

5
5
B
4

. Reducing agent
. Anaesthetic in dentistry
. Bleaching Powder

. Refrigerant
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a b C d
(A) 4 3 2 1
(B) 4 3 1 2
© 3 4 1 2
(D) 3 4 2 1
(E) Answer not known

HaraimmatataipenpLi OLImhSSaLb

) STILIGT L 2 Es® 1. oDs@L (Wwesei
b) &GarmAair 2. La @GSIIUSHD WSS LGB
C) ewami” gegesr 3. Liefd@m LeyL_g
d) s rebd ysams® 4. geflfusearii Qummer
a b C d
(A) 4 3 2 1
(B) 4 3 1 2
(C) 3 4 1 2
(D) 3 4 2 1
(E) LB OsAwaleame

49. The gas used for artificial ripening of green fruits is
(A) Carbon dioxide
(B) Acetylene
(C) Methane
(D) Oxygen
(E) Answer not known
LIFedF LIpBISar OFWDeSWTS LI(LPSES Meud@GLD amy)
(A) smiuar e ydas®
(B) =91 1965
(C) 183 Gsair
(D) 8adlggair
(E) u@a Qsfwaledamev
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50. The best fertilizer for plant is
(A) Compost
(B) Ammonium Sulphate
(C) Super Phosphate of Lime
(D) Urea
(E) Answer not known
0519 &@ ADEHS 2 gLb
(A) 291
(B) 15 Bonasiluid #adGuiL”
(C) sesawrmibrLy @ L Limed G’
(D) whunm
(E) u®a Qsfwaledamev

51. Red tides are caused by
(A) Diatoms
(B) Dinoflagellates
(C) Red algae
(D) Brown algae
(E) Answer not known
FouLiL] HMVFHOT THGTTD 6T LI (B GG 6ot
(A) Lwi i ibser
(B) ev_GameLionm@eadevL” (Hsair
(©C) Peuriny L
(D) wapriy und
(E) u@ad Qsiwaledamew

52. 4th BRICS summit recently held at?
(A) Sanya, China
(B) New Delhi, India
(C) Russia
(D) Rio de Janeiro, Brazil

(E) Answer not known
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4ougy L9 2 @ apr® 61m1Gs oL G LPD?

(A) gratwm, Fesm

(B) ugi Hevas), @pGuwim

(C) rapwrm
(D) AGwm 19 Gggash B, 9B ad

(E) uged Qsfwaedenev

53. Match the Following:

List |

a) The God of small things
b) Midnight Children

c) The inheritance loss

d) The White Tiger

(A)
(B)
(©)
(D)
(E)

a
1
1
1
1

Answer not known

b

2
3
2
3

c
3
2
4

4

List Il
1. Arundhathi Rai
2. Kiran Desai
3. Salman Rushdi
4. Arvind Adika
d

4
4
3
2

LereumelealpenmLi OLIThS %

v gued |

v gued

a) §Pw fepwmsaiar sL_aer 1. @BEsS g

b) perafizey GrBmsser

C) UL LIeDT @)LpLiL]

d) Qeueremarti Lyad

(A)
(B)
(©)
(D)
(E)

a
1
1
1
1

LB GsHwaevenev

b
2
3
2

3

A D W o

2. @gewr Gpamu
3. FLOTET (HauLy
4. opalps 29T
d

4
4
3
2
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54. What is the name of the India’s third research station in Antarctica Region?
(A) Gangothri
(B) Agnihotri
(C) Bharti
(D) Himandri
(E) Answer not known
eIy sT ITESHwusFHed o arer QBTG eLpSIDIRIS YTTUIFE Bleweviis S e
Quwg eTesTew?
(A) sEGs15H
(B) =5 Gan g
(C) ums®
(D) edomp@s
(E) uged Qsfweledenev

55. Indian Science Congress was established in the year
(A) 1913
(B) 1911
(C) 1914
(D) 1912
(E) Answer not known
QEw SyPeflued srmIGTed TR Hnyeuliuil g
(A) 1913
(B) 1911
(C) 1914
(D) 1912
(E) u®ed Osfualadenaw

56. India’s first research station in the Arctic
(A) Bharathi
(B) Dakshin Gangotri
(C) Maitri
(D) Himadri

(E) Answer not known
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D FE19ERD @ES WG (1pSad SIS Hlevewih
(A)umss

(B) saflar smiGsmsM

(C)awgsd

(D) @nfong

(E) LB OsAwaiadema

57. The gas used by Syria in the civil war is
(A) NO
(B) Nuclear gas
(C) Tear Gas
(D) Sarin
(E) Answer not known
o arprl L Cumiled PRwr LwGTLRSP W Ty
(A) eramir
(B) <remy qumyy
(C) seswanfiLiLjens
(D) sfair
(E) u®a Qsfwaledamev

58. National Institute of Sports is located at
(A) Pune
(B) Ahmadabad
C Delhi
(D) Patiala
(E) Answer not known
GasPw efeweruin’ B sipsid 61IGs HewiDES TS
(A) 1Gar
(B) @iswgming
C QLavad
(D) wmigwmeor

(E) u®a Qsfuwalaenev
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59. Ministry of Environment & Forest was created in the year
(A) 1985
(B) 2005
(C) 1995
(D) 1973
(E) Answer not known
FDDIF@LPeO LOPDILD CIGT IO LDIFHLD 6THS YeWT(H) 2 BAITGHLILIL L 5]
(A) 1985
(B) 2005
(C) 1995
(D) 1973
(E) u§a GsAwalaeme

60. National Biodiversity Authority was established in the year
(A) 2013
(B) 2002
(C) 2003
(D) 1992
(E) Answer not known
GCsfw Leayuild HYeenTLh 6TES 4B BlpieILiLL L g
(A) 2013
(B) 2002
(C) 2003
(D) 1992
(E) ued Osfualedenev

61. In 2012 the National Biodiversity Congress was held at
(A) Madhya Pradesh
(B) Kottayam
(C) Thiruvananthapuram
(D) Chennai

(E) Answer not known

28



2012 @ad Gsfw Ladayuii OuwEs wiEr® aEGs paL CLBDI)
(A) wgsw LrGssLd

(B) G 1_urid

(C)oBauarssLmb

(D) Qssirenas

(E) uBa QsAwaladaa

62. The headquarters of National Biodiversity Authority(NBA)
(A) Chennai
(B) Hyderabad
(C) Delhi
(D) Bangalore
(E) Answer not known
Csfw uaauii yawusGear (NBA) s wowsLd
(A) Qsarena
(B) @anssruing
(C) GLeved
(D) Qumisceni
(E) u®a Qsfwaledamev

63. Wild Life Institute of India is based in
(A) Imphal
(B) Dehradun
(C) Bhopal
(D) Hyderabad
(E) Answer not known
a1 B WewobLl @aiTavig gL Ll GBS T @)EIE Lo b GTNS]
(A) @roLimed
(B) G_gr@esr
(C) Gumumed
(D) wangrming
(E) u®a Qsfwaledamew
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64. The National Tiger Conservation Authority was established in the year
(A) 2005
(B) 2008
(C) 2007
(D) 2010
(E) Answer not known
GaPw LeSseT LITFIBILIL| eoeTLD 6THS 24T () BlmiaLiLL L g
(A) 2005
(B) 2008
(C) 2007
(D) 2010
(E) u§a GsAwalaeme

65. The Headquarters of Forest Survey of India is situated at
(A) Dehradun
(B) Bangalore
(C) Jammu
(D) Odisha
(E) Answer not known
QBIW UeT Y UIe] HLOWSFT FeeLOWSHLD 615G 96 LD bS] ATES
(A) GLgn@esr
(B) Qumiseansi
(C) g2upep
(D) gugon
(E) ufa QsAwaladena

66. National Ganga River Basin Authority was created under the provisions of
(A) Forest Act 1980
(B) Wildlife Protection Act 1972
(C) Environmental Protection Act 1986
(D) Biodiversity Act 2002

(E) Answer not known
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Casw smIe9s BSHLI LIRS Yewentuild 6155 NG salles SLp o (HeunssLiL’ L g
(A) euess s 1_1H

(B) euswaflevmi@ LngsmLiy &L L b

(C) spmig@HLped LngSTLL FL L 1D

(D) wedeuuds 1”1 1H

(E) u®a Qsfuaiaemev

67. The Botanical Survey of India was instituted at
(A) 1880
(B) 1980
(C) 1800
(D) 1890
(E) Answer not known
@pPw sreugaiwed yuia) ewwwid 61x1Gs BlnjeuLiil’ L g
(A) 1880
(B) 1980
(C) 1800
(D) 1890
(E) u®ed Qsfwaedensv

68. Central Pollution control Board was established in the yaer
(A) 1974
(B) 1970
(C) 1972
(D) 1971
(E) Answer not known
WSS rFESL GLUUTL B eumfwid o BaIrESLILIL L 651
(A) 1974
(B) 1970
(C) 1972
(D) 1971
(E) ufa Qsfwaladena
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69. Which of the following latitudes is northern most latitude of India?
(A) 6 degree 45 minutes S
(B) 37 degree 6 minutes N
(C) 8 degree 4 minutes S
(D) 37 degree 25 minutes N
(E) Answer not known
esraimd o sGremasaled e1g) @)EBwrele ai_s@ 105 oL #Grems?
(A) 6 9®7 45 BdL_miser eTew
(B) 37 4% 6 gud_miser N
(C) 8 w4 AL misair arad
(D) 37 48 25 ©18L_misar N
(E) ufa QsAwaleema

70. Which of the following are tributaries of Kaveri River?
1. Amaravati
2. Kabani
3. Penner
4. Noyyal
(A) L and 2 only (B) 1, 2 and 4 only
(C) 2and 4 only (D)1,2,3and 4
(E) Answer not known
Bipssem_aipphed s1Gaif oyppar Hever pHsaT wimenar?
1. oogreus)
2. sLimesf)
3. Quarestd
4, Qpmuiwed
(A) 1 wpmh 2 " @b (B) 1, 2 wpmiibd 4 i Guib
(C) 2 wpmih 4 " @b (D) 1, 2, 3 wpmiid 4
(E) u®a Qsfwaledamev

71. Which of the following statements are correct?
1. Tamil Nadu gets more rainfall during south west monsoon than in north east monsoon.

2. Coastal regions of Tamil Nadu get more rain during October and November.
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(A) 1only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

(E) Answer not known

L9eSauBLD Fnpmisaled 618 FHwimeg?

1 o 8pse ueauwepow i OsaGwpE Lraepular Gurg sBIBEIE XS
evipeouii QUISDS.

2. s10pprc ge sL_Geomgli LGDseled SGLTL WP BeubLT WwIFEF D%
toewip QLiuiuyib.

(A) 1 @

(B) 2 o @b

(C) 1 wpmuib 2 @rew@d

(D) 1 yyaes 2 Qe

(E) ufa GsAwalaamen

72. Match the correct pair
1. Mango shower - Tamil Nadu
2. Loo - Kerala
3. Norwester - Punjab
(A) 1and 3 only
(B)1,2and 3
(C) Lonly
(D) 1 and 2 only
(E) Answer not known
Fflwmer Gegmgemw QLTwBSSaLd
1. wmbiip weip - SOHBTE)
2. a1 - Cagerm
3. BIiQeuebL_g - Li@heTLI
(A) 1 wpmiid 3 " ®Gro
(B) 1, 2 wpmiid 3
(©) 1 @b
(D) 1 wpmih 2 " H G
(E) u®a Qsfwaledamev
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73. Sathanoor dam is located in the river
(A) Kaveri
(B) Tamirabarani
(C) Pennai
(D) Vaigai
(E) Answer not known
FISSGIT {0 GuoT DB eV LD BFIGTOTS)
(A) s1Geur
(B) smlgrigesd
(C) QuaTenes

(D) ewouens

(E) u®a Qsfualaamev

74. Which of the following statements are correct?
1. Magnetite is red in colour and has 72 % of iron ore.
2. Hematite is black in colour and has 90 % of iron ore.
(A) 1only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
L9&TeuBLD o DB 618 FHlwimeTa)?
1. Guserent 1" PauliL] BngSe0 o eireng opmith 12% @ @bLbLy S5 2 cireng.
2. QanwrenL L s@LILY HpsHed 2 erars) oppid 90 % @ wLiL 151 2 ararg).
(A) 1 @
(B) 2 o1 @b
(C) 1 wpms 2 @ueasw@Lb
(D) 1 wyedevgs 2 @avema
(E) u®a Qsfwaledamev
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75. Which one of the following countries is the largest producer of iron ore in the world?
(A) Australia
(B) Brazil
(C) India
(D) Russia
(E) Answer not known
et presafed aTps 16 2 wEle @ GLOLS STHma HYP5LD 2 LSS ClFuiGng?
(A) @pab®CraSwim
(B) L9GrHad
(C) @5Bun
(D) sapwm
(E) u§a GsAwaladame

76. Which of the following statements are correct?
1. Chile is the largest producer of copper in the world.
2. Australia is the largest producer of Bauxite in the world
3. South Africa is the largest producer of manganese in the world.
(A) 1 only
(B) 1 and 2 only
(C) Land 3 only
(D)1,2,and 3
(E) Answer not known
L9esrauHLD B miseled 618 Fwi mesg?
1. 2 & BB 85 syaralled STl 2 PLES Qsuins FTE Had).
2. o w®CBCu L el BHLb o HLISH QFuinjid H1G 2pevS Gredw
3. s e wEIstE o HLSHUND QsaEreTTLIINGHT 1pSeSL_GHe o eirengy.
(A) 1w @G
(B) 1 wpmih 2 o HGuo
(C) 1 wpmith 3 " ® G
(D)1, 2 wpms 3
(E) u®a Qsfwaledamev
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77. In which one of the following places of Tamil Nadu, photo voltaic power station is located?
(A) Nager koil, Kanya Kumari
(B) Kamuthi, Ramanathapuram
(C) Edappadi, Salem
(D) Koodankulam, Tirunelveli
(E) Answer not known
slppr e Oaigh aps @LEBD, LosUuL  laerpss e Howub
DAL BSIGTeTS?
(A) prsi Gsnafled, sarafur@Lod
(B) 3w®, smoprsLoib
(C) er_riumyq, Gaevrd
(D) o _migoris, Bap@padGaual)
(E) usa GsAwalaeme

78. Which of the following tribes of India used to migrate from plains to mountains and
mountains to plain during seasonal changes?

1. Gujjars

2. Bakarwals

3. Gond

4. Todas

(A) 2 only

(B) 1 and 2 only

(©)1,2,3and 4

(D) 2, 3and 4 only

(E) Answer not known

@B wrela SpssaT LIpEIGY sl eTESLI LIpEGY ueT] LBISTE IHHES N6

Cung  FwleualuldBrEs  LOWS@FSGL  weowsalcdBrs  FLobleualsEps@Ld

QL LbCLIWTES GBS eTH?

1. @eiepizon

2. LS Falmedser

3. GamewrL”

4. Gz
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(A) 2 0" ® G

(B) 1 wopmiih 2 o ®Gro
(C) 1,2, 3 wpmus 4

(D) 2, 3 wpmid 4 1" ®Guo
(E) uBa QsHwaledama

79. Match the correct pair.
a. Primary Economic Activity
b. Tertiary Economic Activity

c. Quinary Economic Activity

a b C
(A) 3 1 2
(B) 1 2 3
© 3 2 1
(D) 1 3 2
(E) Answer not known

Fflwmes Geomgeww QLTS Sa LD,
a. wpsarento Qurmpertsay ClFwedLIT(®
b. epaird Blevev Qurgerngmr QFweLIT®)

c. Quinary Qunmernsrr QFwedLim®

a b C
(A) 3 1 2
(B) 1 2 3
(€) 3 2 1
(D) 1 3 2
(E) LB QsRwaleame

80. Eleven degree channel separates
(A) Cannanore and Amindivi Islands
(B) Andaman and Nicobar Islands
(C) Kachchh and Kathiawar peninsula
(D) Sri Lanka and India

(E) Answer not known
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LBQans 198 A Csared LINEE DS

(A) sairemeTs wpmiL ey el Sayser
(B) wypsiomes REGsTLTT Saysar

(C) 8¢ wrpiLb EHweurs SLSHLILD

(D) @eianss wipis @EBun

(E) LS QsAwaledea

81. According to census 2011, tribal population in Tamil Nadu is about
(A) 2 million
(B) 7 Lakhs
(C) 10 Million
(D) 1 Lakh
(E) Answer not known
2011 weser QOsrens seiaQs@Lilarig, BB 196 LpE@Gy e waiser QFTens Fiomi
(A) 2 WedeSuiesr
(B) 7 " 51h
(C) 10 heveSwiesr
(D) 1 e" 51
(E) u@ad Qsiwaledemev

82. Consider the following statements and which is/are correct?
1. Venus is hotter than Mercury.
2. Venus atmosphere made almost entirely of carbon dioxide.
(A) 1 only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
LIGTQUBLD D15 HE® T & 66 BISaT, 6181 FHw TesTa)?
1. ysear el afarad QauLiLibrasg.

2. aferad euafloen b S L SSL L LpOPIILD STTLIGH GHL YHOFL_ T oIS
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(A) 1w @G
(B) 2 @b

(©C) 1 wpmis 2 @uessBLd

(D) 1 wyedevgr 2 @avema
(E) uged Qsfwaledenev

83. Match the correct pair

Planets - Other name

a. Venus - 1. Giant Gas planet

b. Jupiter - 2. Blue Planet

c. Earth - 3. Morning star
a b C

(A) 3 1 2

(B) 3 2 1

© 1 3 2

(D) 1 2 3

(E) Answer not known

FHlwmes Geomgenw OLThSSa LD

D s mIsaT - Goumy Quiwi

a. afewad - 1. gmi’ o8 eumuy gL

b. eQwimpas - 2. oo Qs

C. - 3. sreve BLFSBILD
a b c

(A) 3 1 2

(B) 3 2 1

© 1 3 2

(D) 1 2 3

(E) LB Qsfwaledamev

84. Which of the following is/are correct pair?
-US.A

- Russia

1. GPS

2. GLONASS

3. Galileo

- Europe
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(A) 1only

(B) 1 and 3 only

(C) 3 only

(D)1,2and 3

(E) Answer not known
eiramasaTaspsled e Fflwmar Gegmig?
1. gfiferai - u.cTah. 67
2. GLONASS - gejwnr

3. 5a8aGur - gGumLiLim
(A) 1 @

(B) 1 wpmiib 3 " @Go

(C) 3 " BB

(D) 1, 2 wopmyib 3

(E) u®a> QsAwaladama

85. Which of the following statements are correct?
1. Earth is in aphelion during July 4th.
2. Earth is in perihelion during January 3rd.
(A) 1 only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
L9&TauBLD FnpmBaled 618 Flwimas)?
1. groewe 4 oy1b Ga@uier Gungs L o1 9eSwe Hevevuled o eireng.
2. sgawouf) 3 gy Gas@ules Gungs Lyf QuAGanadweie o ererg).
(A) 1w @G
(B) 2 @b
(C) 1 wpmb 2 @uesw®Lb
(D) 1 wyedevgr 2 @avema
(E) u®a Qsfwaledamev
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86. Which of the following statements are correct?
1. Earth has equal day and night throughout the parts in June 21st
2. Northern hemisphere has shortest day on March 21st.
3. South pole experiences 24 hours day on Dec 22nd.
(A) 1only
(B) 1 and 3 only
(C) 3 only
(D) 2 and 3 only
(E) Answer not known
L9eSauBLD B msaled 618 FHwimegy?
1. ggoar 21 ob Gs9 ywaiss LUGHselaib L06@ Ls® wHmb @Ie) FDDIS
o airengy
2. wig 21 e aIl&@ oeisGsTeaESed GBI BIeT 2 6TaTg).
3. Osar gImeuLh 19.F1bLIT 22 ety 24 wewh GBI je9ILIaIBISaT.
(A) 1w @uw
(B) 1 wpmith 3 " ® G
(C) 3 L ®Cuw
(D) 2 wpmiib 3 L HGuo
(E) u®a Qsfwaledamev

87. Lunar eclipse occur when
(A) Moon is between Sun and Earth
(B) Earth is between Sun and Moon
(C) Sun is between Earth and Moon
(D) None of these
(E) Answer not known
FHS T Fusesnid 6TLICLITg erpLI(BHLD
(A) spBrar GAugsEL LiflgEw) e uie o ararg
(B) yd G AwaidgLd spBaisEL Qe uled o ararg
(C) s Awar 4G sEBI@ISEGL QL uied o eirerg)
(D) @avau argiayid @adenev
(E) u®a Qsfwaledamew
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88. Time taken to earth for one complete rotation in its axis is
(A) 23 hours 56 min 4 sec
(B) 23 hours 50 min
(C) 24 hours 4 sec
(D) 24 hours
(E) Answer not known
O3 G SIS 9FFD (B (Lp(LPEOLOWITET FLPMHPSHTeT GBILd 4@Ld
(A) 23 wefiGpad 56 Bldl_1d 4 Gpmg
(B) 23 woewfl 50 Bid_1h
(C) 24 wamfiGprid 4 Ommy
(D) 24 woenfiGpoLd
(E) u®a Qsfwaledamev

89. The plate movements are caused by
(A) Gravitation of moon
(B) Gravitation of Sun
(C) Convection in the interior
(D) Ocean pressure
(E) Answer not known
SL B I®FQ ST D LI BHF D T
(A) sp@uafian miLivy
(B) @ Awasliai miniy
(C) o' ypsDe» QauLiLidsaeid
(D) Qu@risLed ojwpgsid
(E) u@ad Qsiwaledamew

90. Rayleigh waves are associated with
(A) Cyclonic storm
(B) Local winds
(C) Earth quake
(D) Ocean Tides

(E) Answer not known

42



griQeul) dyemevsar QOFTL_JLjenL_we»eu
(A) eprasef Luwad

(B) e-aircensf smpy

(C) yws s

(D) 36 gyedavsar

(E) u®a Qsfuaiaemev

91. The longest rift valley in the world is
(A) The Narmada rift
(B) The Rhine rift
(C) The African Rift
(D) Meghalayan rift
(E) Answer not known
2 WEGT LOF HaToreT LaTey LIGTTSS 1SS,
(A) piwgm Haray
(B) engeir 19eray
(C) 19085 LNeray
(D) Gusmewr Neray
(E) u®a Qsfwaledamev

92. A country’s territorial water extends upto
(A) 200 nautical miles
(B) 12 nautical miles
(C) 24 nautical miles
(D) High seas

(E) Answer not known

@b BIL 196 LITTBESW BT euenT Hewst(haTeng)

(A) 200 51_6b epipedser
(B) 12 s> awioedsair
(C) 24 51> ewiedsair
(D) 2 ws s5L_cosar

(E) u®a Qsfuwalaenev
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93. Which of the following is/are correct?
1. Continental rise under ocean constitutes 50 % of the total area under sea
2. Abyssal plain constitutes 5 % of total area under the ocean bottom.
(A) 1only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
L@TauBauaTabBe) 615 FAwTeTs?
1. sL_a5@ 2ipuled o rer ST 2 wiie) HLas@ 2guled 2 e Qorgs LTLILITaNe
50% <y,@b
2. 5L_a15@ <yiguied o eirer Qorgs LTLiLeTeled 9jLiFed FiQasen 5% @ Lb.
(A) 1w @uw
(B) 2 o @b
(C) 1 wpmuib 2 @uew@id
(D) 1 oy@evg 2 @avemaev
(E) u®a QsAwaledamev

94. Which one of the following is part of Himalayas?
(A) Arakan Yoma
(B) Chota-Nagpur Plateau
(C) Eastern Ghats
(D) Andes
(E) Answer not known
eireumeaTaiBPa a1g) @)wbame@uis LGS uTEL?
(A) @yrsser Guimnm
(B) Gani” L_m-prsiyd 1fi_yih
(C) Dips© Osm_js wenewsar
(D) yairigab
(E) u®a Qsfwaledamev
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95. Average salinity of the ocean is
(A) 30 parts per thousand
(B) 35 parts per thousand
(C) 250 parts per thousand
(D) 200 parts per thousand
(E) Answer not known
FL_c0lesT FIFf 2 LIL|SS 60169 LD
(A) 29585156 30 unsEseT
(B) <yuns 515 @ 35 Lunsmisar
(C) wuir8518© 250 Lrsmisar
(D) @uirs8n@ 200 Lirsmiser
(E) u®a Qsfwaledamev

96. Factors affecting salinity of the ocean water is/are
1. The rate of evaporation
2. Rainfall
3. Upwelling of cold water
4. Ocean currents
(A) 1, 3and 4 only
(B)1,2,3and 4
(C) 2, 3,and 4 only
(D) 1, 2 and 4 only
(E) Answer not known
FL60 BAlel o LI Sg e Denw LITHE@LD Hryewhlsen
1. gyelwnse ePsLd
2. wepLiGumpey
3. Gallips pevr 2 wigsiHe®
4, Qu@pBs_e EBITL L Eiser
(A) 1, 3 wppib 4 o GG
(B) 1, 2, 3 wopmip 4
(C) 2,3 womiid 4 " HGio
(D) 1, 2 wpmiis 4 " GG
(E) u@a Qsfwaledamev

45



97. Which is/are correct pair?
1. The Pedro bank - Indian Ocean
2. The Reed bank - Indian Ocean
3. The Grand bank - Atlantic Ocean
(A)1,2,and3
(B) 2 and 3 only
(C) 1and 3 only
(D) 3 only
(E) Answer not known
a1551 Fflwmas Gagmig?
1l upsBsgiomp swr - QBHWL ClL@EGEFSL o
2. Brewied S - @BAWLT QLBESL b
3. e Gums - oI ey s QLmmISL o
(A) 1, 2 wpms 3
(B) 2 wpmid 3 o HGuo
(©) 1 wpmid 3 " GG
(D) 3 " ®Guo
(E) u@ed Qsiwaledemev

98. Which of the following is/are cold currents?
(A) Canary Current
(B) Labrador Current
(C) Brazil Current
(D) Both (A) and (B)
(E) Answer not known
eraimpesaTaupsled Gafld BEGmL L miser 615?
(A) Gsenf LAeTGanrL L b
(B) wntig@L_nj sgaw”
(C) 9GP spCLmemsw
(D) (A) wppis (B) @rat®is
(E) u@a Qsfwaledamev

46



99. Which of the following is/are impact of EI Nino?
1. West coast of South America receives heavy rainfall.
2. Southeast Asia and Australia experience dry weather conditions.
(A) 1only
(B) 2 only
(C) Both 1 and 2
(D) Neither 1 nor 2
(E) Answer not known
arespausTaupsled e1ad B Betralar S1ssL) 615?
1. Qzer o Qwhssralar Gup@s sL_pamiLl LGHsaid Bs wep QLTHDDF.
2. QsarPips@ oPwr wpHpi 2edSBrewT aIDETL auTele L /e LIelESR & 6.
(A) 1w @uw
(B) 2 w1 @b
(C) 1 wpmuib 2 @uew@1d
(D) 1 oy@evgs 2 @ademav
(E) u®a QsAwaledamev

100. Tides are caused by
(A) Rotation of Earth
(B) Gravitation of Moon
(C) Planetary winds
(D) Revolution of Earth
(E) Answer not known
VST GID LI (DD D e
(A) widudssr aupps
(B) ep@asfiair ey
(C) &8 srpmI
(D) yihudeir Lo &

(E) u@a Qsfwaledamev
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Group IV — Geography 4 - Key
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TNPSC Group 1V - Prelims Test Series

Geography
Time: 2 Hrs Marks: 200

Instructions

1. Immediately after the commencement of the
examination, you should check that this test booklet does
not have any unprinted or torn or missing pages or items,
etc. If so, get it replaced by a complete test booklet.

2. Do not write anything else on the test booklet.

3. This Test Booklet contains 100 items questions. Each
item

Is printed in English. Each item comprises four
responses

(answers). You will select the response which you want
to

mark on the Answer Sheet. In case you feel there is more
than one correct response, mark the response which you
consider the best. In any case, choose ONLY ONE
response

for each item.

4. You have to mark all your responses ONLY on the
separate

Answer Sheet provided. See directions in the Answer Sheet.
5. All items carry equal marks.

6. ATTEND ALL THE QUESTIONS




1. Tropic of cancer passes through
(1) Madhya Pradesh
(i) Jharkhand

(iii) Bihar

(iv) Tripura

[A] (i) only [B] All of these
[C] (i), (ii) and (iv) only [D] (i) and (ii) only

[E] Answer not known

2. Amaravati is the new capital of Andhra Pradesh but according to Reorganization act,
Hyderabad will be the capital for both the states of Andhra Pradesh and Telangana till

[A] 2022 [B] 2023
[C] 2024 [D] 2025

[E] Answer not known

3.Which of the following statement(s) is/are correct?

(1) The Kashmir Punjab Himachal Himalayas- Located between Indus and Sutlej.
(ii) The Kumaun Himalayas- Located between Sutlej and Kali.

(iii) The Central-Nepal Himalayas- Located between Kali and Tista.

(iv) The Assam Eastern Himalayas- Located between Tista and Dihang.

[A] (i) and (ii) only [B] (i), (ii) and (iii) only

[C] (iv) only [D] All the above

[E] Answer not known

4. The Southernmost point of the country is
[A] Pygmalion Point [B] Sir Creek
[C] Point Calimere [D] None of the above

[E] Answer not known

5. Assertion(A): The Pamir Knot is popularly known as “Roof of the World”.

Reason (R) : It is the connecting link between the Himalayas and the high ranges of Central
Asia.




[A] (A) is true, (R) is false.

[B] Both (A) and (R) are true and (R) is the correct explanation of (A).

[C] (A) is false (R) is true.

[D] Both (A) and (R) are true, but (R) is not the correct explanation of (A).

[E] Answer not known

6. The Southernmost point of main land of India is
[A] Pygmalion Point

[B] Point Calimere

[C] Cape Comorin

[D] Indira Col

[E] Answer not known

7. How many states and union territories are in India in 20227
[A] 29 States and 9 Union territories
[B] 29 States and 7 Union territories
[C] 28 States and 9 Union territories
[D] 28 States and 8 Union territories

[E] Answer not known

8. Himalayas blocks monsoon winds and causes heavy rainfall to north India.
[A] Northwest [B] Southwest
[C] Northeast [D] Southeast

[E] Answer not known

9. The _ Separates Andaman from Nicobar group.
[A] Eight Degree Channel

[B] Nine Degree Channel

[C] Ten Degree Channel

[D] Eleven Degree Channel

[E] Answer not known




10. As per the State Reorganization Act state boundaries were reorganised on some
linguistic basis.

[A] 1955 [B] 1956
[C] 1952 [D] 1958

[E] Answer not known

11. Which is the oldest fold mountain range in India?
[A] Aravalli range [B] Vindhya range
[C] Satpura range [D] Himalayas

[E] Answer not known

12. Match the following

a) Isohel 1. Equal pressure tendency showing similar changes
b) Isohyet 2. Equal lowest mean temperature

c) Isocryme 3. Equal sunshine

d) Isollobar 4. Equal amount of rainfall

5. Equal temperature

a b C d
(A 4 3 5 2
(B) 5 1 3 4
() 1 2 4 3
(D) 3 4 2 1

(E) Answer not known

13. Which of the following statement(s) is/are true?

(i) Torrid Zone is a region between the tropic of cancer and tropic of Capricorn.

(i) This region receives the direct rays of the sun and gets the maximum heat from the sun.
(iii) This zone is also known as tropical zone

[A] (i) only

[B] (i) and (ii) only

[C] (ii) and (iii) only

[D] All the above




[E] Answer not known

14. The standard air pressure at sea level is
[A] 1013.25mb

[B] 987.5mb

[C] 1083.8mb

[D] 870 mb

[E] Answer not known

15.  isthe mass or weight of water vapour present per unit volume of air.
[A] Specific humidity

[B] Absolute humidity

[C] Relative humidity

[D] All of these

[E] Answer not known

16. Find out the temperature of Ooty (2240m) if it is 35°C in Chennai (6.7m)?
[A] 24.5°C
[B] 22.5°C
[C] 20.5°C
[D] 25.5°C

[E] Answer not known

17. What are called “Mango Showers”?
[A] Southwest monsoon

[B] Northeast monsoon

[C] Pre monsoon

[D] Post monsoon

[E] Answer not known

18. Mt. Everest is located in
[A] Himadri
[B] Himachal




[C] Siwaliks
[D] Trans-Himalayas

[E] Answer not known

19. Which of the following statement(s) is/are correct?
1. India’s central meridian is 82°30’ E longitude.
2. It passes through Allahabad.

[A] 1 only

[B] 2 only

[C] Both1and 2

[D] None of these

[E] Answer not known

20. The fast-flowing river mouths have this landform:

[A] Delta

[B] Estuary

[C] Alluvial Fan

[D] Meander

[E] Answer not known

21. Which of the following characteristics are related to monsoon wind system which
differentiates it from other wind systems?

(i) Minimum 160° reversal of wind direction between seasons.

(ii) They affect a large part of the continents and oceans.

(iii) The formation of low- and high-pressure systems over land and water and their
interchange between the seasons.

[A] (i) only [B] (i) and (ii) only
[C] (ii) and (iii) only [D] All the above.

[E] Answer not known

22. The average annual rainfall of India is
[A] 125 cm [B] 200 cm
[C] 118 cm [D] 75 cm




[E] Answer not known

23. The mixed population of Native Indians and Europeans is known as
[A] Mestizo [B] Zambo
[C] American Indian [D] None of these

[E] Answer not known

24, 1s an apparent force acts as a result of the earth’s rotation deflects moving objects
such as projectiles or air currents to the right in the northern hemisphere and to the left in the
southern hemisphere.

[A] Gravitational force [B] Centrifugal force
[C] Coriolis force [D] Centripetal force

[E] Answer not known

25. _isthe 3™ wettest place in India and wettest place in Tamil Nadu.
[A] Kotagiri

[B] Yelagiri

[C] Yercaud

[D] Chinnakallar

[E] Answer not known

26. Which is also called as Vridha Ganga?
[A] Mahanadi [B] Krishna
[C] Godavari [D] Narmada

[E] Answer not known

27. How many major river basins are there in Tamil Nadu?
[A] 15 [B] 16
[C] 17 [D] 18

[E] Answer not known

28. Which one of the following is the largest consumer of water in the state using about 75%
of the Tamil Nadu’s water resources?

[A] Domestic sector [B] Industries

[C] Agriculture [D] Leather industry




[E] Answer not known

29. _ rocks are also called as the ‘Primary Rocks’ or ‘Parents Rocks’
[A] Igneous rocks

[B] Sedimentary

[C] Metamorphic

[D] Plutonic

[E] Answer not known

30. Which of the following rocks are the important source of natural resources like coal, oil,
and natural gas?

[A] Igneous rocks
[B] Sedimentary

[C] Metamorphic
[D] Plutonic

[E] Answer not known

31. What are the ‘3R’s, which can help us to conserve resources?
[A] Recycle, Regenerate, Reuse

[B] Reduce, Reuse, Redistribute

[C] Reduce, Recycle, Reuse

[D] Recycle, Regenerate, Reuse

[E] Answer not known

32. Which of the following is known as ‘Selvas’?
[A] Amazon rainforest

[B] Mangrove forest

[C] Deciduous forest

[D] Thorn forest

[E] Answer not known

33. World Soil Day is observed on




[A] July 17

[B] December 5

[C] March 18

[D] February 28

[E] Answer not known

34.  are called the “World’s largest Pharmacy’ as 25% of the natural vegetation are
medicinal plants.

[A] Tropical evergreen forest
[B] Tropical Rainforest

[C] Mangrove forest

[D] Monsoon forest

[E] Answer not known

35. 1) Gypsum is a hydrated sulphate of calcium which occurs in beds of sedimentary rocks.

i) Gypsum is used in the manufacture of cement, fertilizers, wall board, plaster of paris and
in soil conditioning.

iii) Rajasthan produces about 82% of the country’s Gypsum production.
Which of the above statement/s is / are true?

[A] (i) and (ii) only

[B] (ii) only

[C] (ii) and (iii) only

[D] All the above

[E] Answer not known

36. i) Compressed natural gas (CNG) is a fuel which can be used in place of gasoline, diesel
and LPG.

ii) But it poses high threat in case of spill than other fuels.

Which of the above statement/s is / are true?

[A] (i) only.

[B] (ii) only.

[C] Both (i) and (ii).

[D] None of the above.




[E] Answer not known.

37. soils are found in the regions which experienced alternate wet and dry condition.
[A] Alluvial soil [B] Black soil
[C] Laterites Soil [D] Red soil

[E] Answer not known

38. Match the list | with list Il and select the correct answer

List | List 11
(1) Anthracite (a) contains 40 to 60% carbon
(i) Bituminous (b) contains 80 to 90% carbon
(iii) Lignite (c) contains less than 40% carbon
(iv) Peat (d) contains 60 to 80% carbon

[A] (i)-b, (ii)-d, (iii)-a, (iv)-C
[B] (i)-a, (ii)-c, (iii)-d, (iv)-b
[C] (i)-c, (ii)-d, Giii)-b, (iv)-a
[D] (i)-d, (ii)-b, (iii)-a, (iv)-c

[E] Answer not known

39. Which of the following statement/s is / are true ?

(i) Paper industry is a agro-based industry.

(ii) West Bengal is the largest producer of paper in the country.

(i) The first paper mill of India was started in 1812 at Serampore in West Bengal.
[A] (i) only [B] (ii) and (iii) only

[C] (i) and (ii) only [D] (i) and (iii) only

[E] Answer not known.

40.The first nuclear power station was setup at in 1969 with the capacity of 320 mw.
[A] Tarapur [B] Kudankulam
[C] Neyveli [D] Narora

[E] Answer not known

41. is the second largest agro based industry of India after cotton textiles.
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[A] Jute industry [B] Silk industry
[C] Sugar industry [D] Paper industry

[E] Answer not known

42. According to Von Thunen’s agriculture model, the order of the rings from the urban
centre is

[A] Ranching, Market, Forests, Grains and field crops, Dairy farming
[B] Market, Dairy farming, Forests, Grains and field crops and Ranching
[C] Forests, Grains and field crops, Market, Ranching and Dairy farms
[D] Grains and field crops, Market, Forests, Dairy farms and Ranching

[E] Answer not known

43. Which of the following pair is/are incorrect ?

(1) Primary - Red collar

(2) Secondary - Pink collar

(3) Tertiary - Blue collar

(4) Quaternary - White collar

[A] (1) and (2) only. [B] (2) and (3)only.

[C] (1) and (4) only. [D] (2), (2), (3) and (4).

[E] Answer not known

44. Which is known as science of vegetable growing?
[A] Horticulture

[B] Olericulture

[C] Sericulture

[D] Agriculture

[E] Answer not known.

45. According to 2011 census, which of the following state is least densely populated ?
[A] Goa

[B] Sikkim

[C] Manipur
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[D] Arunachal Pradesh

[E] Answer not known

46. BEIDOU is a Navigation Satellite Systemof .
[A] China

[B] Japan

[C] European Union

[D] India

[E] Answer not known

47. Which monsoon area does India comes under ?
[A] Area of monsoonal tendencies [B] Area of monsoon effects
[C] Area of modified monsoon [D] Area of true monsoon

[E] Answer not known

48. is the seasonal movement of people with their livestock between fixed summer
and winter pastures.

[A] Transhumance [B] Nomadic Herding

[C] Pastoralism [D] Pastoral Nomadism

[E] Answer not known

49.  iscalled as the “Electronic Capital of India”.
[A] Bangalore

[B] Hyderabad

[C] Mumbai

[D] Coimbatore

[E] Answer not known

50. Match the list | with list 11 and select the correct answer

List | List 11
(a) Tata Iron and Steel Company (TISCO) (1) Jamshedpur
(b) Vijayanagar Steel Plant (2) Bhadravati
(c) Indian Iron and Steel Company (11SCO) (3) Tornagal
(d) Visveswaraya Iron Steel Ltd (VISL) (4) Burnpur
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[A]2413

[B]1342

[C13421

[D]4213

[E] Answer not known

51. Assertion (A): Gatiman Express is the fastest operational train in India which connects
New Delhi and Agra.

Reason (R): This train touches 160 km/hr and takes a travel time of 105 min to cover 200 km
Journey

[A] [A] is true, but [R] is false.

[B] Both [A] & [R] are true; and [R] is the correct explanation of [A].
[C] (A) and (R) are fasle.

[D] [A] is false, but [R] is true.

[E] Answer not known

52. Viticulture or Grape cultivation is a speciality of
[A] The Mediterranean region [B] The Sahara region
[C] The Pampas region [D] The Savannah region

[E] Answer not known

53. Match the following

a) Project Tiger 1.1988
b) Project Elephant 2. 1975
c) Project Sea Turtle 3. 1987
d) Project Rhinoceros 4. 1999
5. 1973
a b C d
[A] 4 3 5 2
[B] 5 1 4 3
[C] 1 2 4 3
[D] 3 4 2 1

[E] Answer not known
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54. is the second largest Mangrove Forest in the world.
[A] Vedaranyam [B] Kollimalai
[C] Pachamalai [D] Pichavaram

[E] Answer not known

55. Which is the largest river island in the world?
[A] Nongkhnum [B] Umananda
[C] Majuli [D] Munroe

[E] Answer not known

56. Which of the following is/are Biosphere Reserve(s) in India ?
(i) Dihang-Dibang
(if) Pachmarhi

(iiii) Dibru Saikhowa

(iv) Nokrek
[A] (ii) only [B] (ii) and (iv) only
[C] (i), (iii) and (iv) only [D] All of these

[E] Answer not known

57. Match the following

Theories Propounded by
a) Geographical cycle 1. Walter Penk
b) Geomorphic cycle 2. W.M.Davis
c) Peneplaination cycle 3. Crimkey
d) Pedeplaination 4. L.C.King
a b C d
[A] 4 3 1 2
[B] 2 1 3 4
[C] 1 2 4 3
[D] 3 4 2 1
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[E] Answer not known

58. Arrange the following states in the increasing order of their areal size
1. Uttar Pradesh

2. Madhya Pradesh

3. Rajasthan

4. Maharashtra

[A] 3,2,4,1 [B] 3,2,1,4

[C] 1,2,3,4 [D] 1,3,2,4

[E] Answer not known

59. The Headquarters of the central water transport corporation is located at

[A] Mumbai [B] Kochi

[C] Noida [D] Kolkata

[E] Answer not known

60. Which is the shortest National Highway, which runs from Ernakulam to Kochi port
covering a distance of 6 km?

[A] NH-7 [B] NH-47A

[C] NH-1 [D] NH-43

[E] Answer not known

61. District roads are constructed and maintained by
[A] State Public Works Department

[B] District Public Works Department

[C] Ministry of Road Transport and Highways of India
[D] Village Panchayats

[E] Answer not known

62. The Golden Quadrilateral connects which of the following cities?
[A] Delhi- Kolkata- Chennai- Mumbai- Delhi

[B] Mumbai- Pune- Kolkata- Chennai- Delhi

[C] Amristar- Kolkata- Delhi- Chandigarh- Mumbai

[D] Silchar- Porbandar- Mumbai- Kolkata

15




[E] Answer not known

63. Which is India’s first national waterway?
[A] National Waterway 1

[B] National Waterway 2

[C] National Waterway 3

[D] None of these

[E] Answer not known

64. The Indian Railways is organized into zones.
[A] 15 [B] 16
[C] 17 [D] 18

[E] Answer not known

65. Which of the following is a incorrect statement about Konkan Railway ?
[A] Konkan Railway was constructed in 1993

[B] It connects Roha in Maharashtra to Mangaluru in Karnataka

[C] This Rail line passes under the Pir Panjal Range

[D] It is considered as an engineering marvel

[E] Answer not known

66. Find the incorrect pair

() NACIL (A) - Domestic Air Services

(i) NACIL (1) - International Air Services

[A] (i) only [B] (ii) only

[C] All of these [D] None of these

[E] Answer not known

67. India’s central meridian passes through
[A] Greenwich [B] Mathura
[C] Mirzapur [D] Ahmedabad

[E] Answer not known

68. TNDRF stands for )
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[A] Tamil Nadu Drought Relief Fund
[B] Tamil Nadu Disaster Relief Fund
[C] Tamil Nadu Disaster Relief Force
[D] Tamil Nadu Disaster Response Force

[E] Answer not known

69. Taj Mahal was built by white marble in a
[A] Metamorphic rocks [B] Igneous rocks
[C] Sedimentary rocks [D] Stratified rocks

[E] Answer not known

70. Arunavati is the tributary of :
[A] Tapti [B] Narmada
[C] Krishna [D] Mahanadi

[E] Answer not known

71. The Headquarters of the North central railway is at
[A] Delhi [B] Jaipur
[C] Allahabad [D] Gorakhpur

[E] Answer not known

72.In which layer of atmosphere weather occurs?
[A] Troposphere [B] Stratosphere
[C] Stratopause [D] Mesosphere

[E] Answer not known

73. Regur soil is ideal for growing :
[A] Millets [B] Paddy
[C] Cotton [D] Jute

[E] Answer not known

74. Which country has longest border line with India?
[A] Bangladesh [B] Pakistan
[C] China [D] Myanmar
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[E] Answer not known

75. A is a shallow stretch of water partially or completely separated from the sea.
[A] Ox-bow lake [B] Lagoon
[C] Sea stacks [D] Sea Arches

[E] Answer not known

76. Which district has the lowest child sex ratio ?
[A] Dharmapuri [B] Cuddalore
[C] Ariyalur [D] Kanyakumari

[E] Answer not known

7. is known as “white people”.
[A] The Mongoloid [B] The Caucasoid
[C] Australoid [D] American

[E] Answer not known

78. Who are popularly known as the bow men of Rajasthan?

[A] Bhils [B] Gonds

[C] Badaga [D] Angami

[E] Answer not known

79. __ tribes inhibit the intermediate valleys and forests in villages and were known for
their black magics and witchcrafts in the past.

[A] Kota [B] Kurumbas

[C] Irula [D] Paliyan

[E] Answer not known

80. In India the first census was carried out in the year
[A] 1956 [B] 1972
[C] 1856 [D] 1872

[E] Answer not known

81. is called the year of Great Demographic Divide.
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[A] 1921 [B] 1951
[C] 1981 [D] 1956

[E] Answer not known

82. The period of Stagnant populationis

[A] 1901 - 1921 [B] 1921 - 1951

[C] 1951 — 1981 [D] 1981 - 1991

[E] Answer not known

83. The ratio between the economically active and economically inactive of population is
termedas

[A] Growth ratio [B] Economic ratio

[C] Dependency ratio [D] Development ratio

[E] Answer not known

84. Koonthankulam bird sanctuary is located at
[A] Kanyakumari [B] Madurai
[C] Trichy [D] Tirunelveli

[E] Answer not known

85. Which one of the following is known as Lake forest?
[A] Yelagiri [B] Kotagiri
[C] Yercaud [D] Javadi

86. World Population Day is observed on .
[A] March 11 [B] April 11
[C] July 11 [D] February 11

[E] Answer not known

87. Which of the following is/are push factors of migration?
(i) Desertification

(i) Primitive conditions

(iii) Living Stability

(iv) Security
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[A] (i) only [B] All of these

[C] (i), (ii) and (iv) only [D] (i) and (ii) only

[E] Answer not known

88. If the protected areas are uninhabited and completely owned by government of India but
used for subsistence by communities, then they are calledas

[A] Community Reserves [B] Biosphere Reserves

[C] Conservation Reserves [D] Biodiversity

[E] Answer not known

89. Round Revolution is related to
[A] Onion [B] Egg
[C] Cocoa [D] Potato

[E] Answer not known

90. Which is also called as “Slash and burn” cultivation?
[A] Humid cultivation [B] Subsistence farming
[C] Intensive cultivation [D] Shifting cultivation

[E] Answer not known

91. Which one of the following is known as the “land of rice revolution”?
[A] China [B] India
[C] Philippines [D] Sri Lanka

[E] Answer not known

92. Vansda National Park is located in
[A] Andhra Pradesh [B] Uttar Pradesh
[C] Bihar [D] Gujarat

[E] Answer not known

93. The delta of which river is known as Sundarban delta?

[A] Brahmaputra [B] Indus
[E] Answer not known

94. Which of the following is the best quality mica?
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[A] Abrali [B] Anshoese
[C] Sodi [D] Abhrak

[E] Answer not known

95. Consider the following statements and choose the incorrect statement/s.

(1) The Irula tribes of Tamil Nadu occupy the lower slopes and forests at the base of the
nilgiri hills.

(i) They are the food gathering communities of Tamil Nadu.
[A] (i) only [B] (ii) only
[C] Both (i) and (i) [D] None of these

[E] Answer not known

96. Identify the incorrect pair

(i) Zaid season - Winter

(if) Kharif season - Wet summer

(iii) Rabi season - Dry summer

[A] (ii) only [B] (i) and (iii) only
[C] (iii) only [D] None of these

[E] Answer not known

97. Who is the head of National Disaster Management Authority?
[A] Chief minister [B] President
[C] Prime minister [D] Governor

[E] Answer not known

98. Which one of the following is known as “Sugar bowl of the world”?
[A] India [B] China
[C] Cuba [D] Brazil

[E] Answer not known

99. The Seismic zone 111 refers that the level of risk is
[A] Very high [B] High
[C] Moderate [D] Low
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[E] Answer not known

100. In the E-waste generated by the Mobile Phones, which among the following metal
is most abundant?

[A] Copper [B] Silver

[C] Mercury [D] Palladium

[E] Answer not known
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